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B(x(t), z(t), u(t), p, t) · ẋ(t) = f(x(t), z(t), u(t), p, t)

0 = g(x(t), z(t), u(t), p, t).
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L(x(t), z(t), u(t), p, t) dt + E(x(tf ), z(tf ), p, tf),
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� �������� �
�	 �
� 
���
���� �
�=����
� �� 	����
�� �� �
� �����
�� �� �
�'��
�� ��#�
���� �
�� 	�� �� $���
��� �� � ������!� ��1���� 	��
�� Q �� �
�� �
�
�����
�� ∫ tf

t0

‖Q 1
2 · (l(x(t), z(t), u(t), p, t)− lr(t, p))‖22 dt

�
��� �� 	���	�"����

,� 
���1���� l(x(t), z(t), u(t), p, t) $� ��� ����	� �
�� Q = I ��� lr(p, t) = 0, ∀ t ∈
[t0, tf ]� ,� ���� ���
������� � ����� �'��
�� ����
 ��
	 $��
 � !����
 !����� 
�������
�������� e(x(tf ), z(tf ), p, tf) ∈ R

ne �
� ����
�� ��
	 �� �� ��=����!� ���������� �� �����
�'��
�� ��
	 �� ��!�� ��∫ tf

t0

‖l(x(t), z(t), u(t), p, t)‖22 dt + ‖e(x(tf ), z(tf ), p, tf)‖22.

�
�� ��
	 ��� �� ��������� ��
 �
� ������� �������� �� �
� ����	�"����� �
����	� �� �
'�����1�(��� ���
���
 �
�� �� �
������� �� .������ L�4�

&��! �������
��� ��� 2������� ����
�
���

�
� ����� ��� ����
�� �
�=����
��� �
� 
�'��
�� �� ������� �� ������ 
��� ����������� �� �
�

�
�"�� �� ����
���

h(x(t), z(t), u(t), p, t) ≥ 0, t ∈ [t0, tf ].

�
� 	��� ��		�� ��
	 �� �
�� �����
���� ���� �
� 	���	�	 ��� 	���	�	 !����� ��
 �
�
����
��� ��� ���� ���� ������ 
���
������� �� �
� �����	 ����� 	�� ����
 
�
�� (� �������� 
��
	���� �'������ �
 ���'������ �����
�����

re(x(tf ), z(tf ), p, tf) = 0

ri(x(tf ), z(tf ), p, tf) ≥ 0

	�� �� �	����� ���� �� ������� �
�� � ��	������
 �
����� �
���� ���� $
�� �
� ���) ��
����� (� ��	� ��������
 	���� �
������!� ����
�� ��
	�������� �
� ��
	���� �����
����� 
���
�� ���
����� ��	���� ��������� ���� .��� F�4�F��

7�� �����
���� �
�� ����� �� �	��
���� 
��� �� �
� �
������� ����
��
	� �� �
� �������
!���� �����
����

x(t0) = x0.

��� 	�� ��� ��������� ‖l‖22 :=
∑nl

i=1 l
2
i �



�3� ���
��� ������� &������� 
� ��* ��

<� $��� ���� �
��� �
� 1��� ��
�	���
� p ��� �
� ������� ��	� t0 �� �� �
�� $�
� �����
�����
!�
������>

p = p̄

t0 = t̄0

�
� ���
�������� �� t0 ��� p �� �
�!����� �����
����� ����	�"����� !�
������ ���	� �� �� ��
���������
� ���$��� �� �
� �
����	� +�$�!�
 �
�� ��
	������� $��� ��
� ��� �� �� �
�����
��
 �
� �
������ 
������	� ����
��
	��

*�
�
���
�� �
 &�������� ��� �
�� ����������

3�
 ���������� ��	������� $� $��� �� �
� 
�	�����
 �� �
�� �
���� �
�� �
� ���������� �� �
�
�
����	 ��������� �� �
� �����	 ��
�	���
� p ��� �
� ��	� t� �
�� �� �� ���� �� ����
�����>
�� ���
������� �� ���	����� ����� !����


x̃ :=

⎛
⎝x
p
t̃

⎞
⎠ ��� ������� ��������� x̃0 :=

⎛
⎝x0

p̄
t̄0

⎞
⎠ ,

��� ���
������� �
� ���	����� ��#�
������ �'������ B̃(·) ˙̃x = f̃(·) $��


B̃(·) :=
⎛
⎝B(·) 0 0

0 Inp 0
0 0 1

⎞
⎠ , ��� f̃(·) :=

⎛
⎝f(·)

0
1

⎞
⎠ ,

�
� �
������ ��
	������� �� �
� ������� !���� �
����	 ��
	������� ��� �� 
������
�� �� �
�
D����)E !�
����� t̃(t) �� ����
��� $
�
�!�
 � ��
��� ���������� �� �
� ��	� t $�� �
������

���� 
�$�!�
 �
�� �
� �
�!��� ���������� ��#�
������ �'������� �
� �
����� ��������
������ �
�	 �
� ��
�
� �� �
� ��	�
���� �������� �
�����
�� ��
 
������ �� ��������� 3�
�
�
�
	�
� ���� �
��� ��
�	���
� p �
�� 	�� 
�!� ��#�
��� !����� �� �
��������� 
���!���
�
����� ���������� �
���� �� )��� �� �
�� $�� $
�
��� ��� ��1������ )��$� ��
�	���
� ���
�� ��)�� �� ��������� �
�� �
� D
�����E �� �
� �
����	 ����������

&� �
� ����	�"����� �
����	 
�� ����	� ��	� ����������� �
� ��	� 
�
�"�� �� ����
���
	�� ���
� �� t0 = 0� 8�� �� ��1�� T �� �� �
� 
�
�"�� �����
�

(� �
� 1��� ��	� tf �
���� �� 1��� �
�� ��� ��$ �� ��
��!�� �� ��
	������� � ��
	����
�'������ �����
����

re(x̃(T )) := t̃(T )− tf = 0.

���� �
�� �� �
�� ���� �
� ��
����� T ������� �	�������� �� �
� ������� !���� x̃0 �������
�� � �������� �������� tf = t̃(T ) = t̃(0) + T = t̄0 + T  �� �
�� T = tf − t̄0�



�� ������
�� ���
��� �������

����� �����	� �����������

<� ��� ��$ ��
	����� �� ����	�� ����
�� �
����	

Poc(x0) : min
u(·), x(·),
z(·), (T )

∫ T

0

L(x(t), z(t), u(t)) dt + E(x(T ), z(T )) �F�F��

���=��� ��

B(x(t), z(t), u(t)) · ẋ(t)− f(x(t), z(t), u(t)) = 0, t ∈ [0, T ], �F�F��

g(x(t), z(t), u(t)) = 0, t ∈ [0, T ], �F�F��

x(0)− x0 = 0, �F�F��

re(x(T ), z(T )) = 0, �F�F��

ri(x(T ), z(T )) ≥ 0, �F�F��

h(x(t), z(t), u(t)) ≥ 0, t ∈ [0, T ]. �F�F��

�
� �����
 T 	�� ���
�
 �� 1��� �
 �����
 �� � ���
�� �� �
����	 �� �
� ����	�"�����
�
����	�

.��!��� �
� ����	�� ����
�� �
����	 �F�F� ��
 �� ������� !���� x0 $� ������ ����	�� �
��
=����
��� x∗(t; x0) ��� z∗(t; x0) ��� �� ��������� ����	�� ����
�� u∗(t; x0) ��
 t ∈ [0, T (x0)]�
(� �
��
 �� )��� �
� ���������� �� �
� ����	�� �
�=����
��� �� �
� ������� !���� x0 �� 	��� 
$� 
�!� ��)�� �
�	 �� ���������� �
��	���� �� �
� �������� ����������

<� �
��� ��$ ���
����� �� � ������� ���	��� �� ����	�� ����
�� �
����	 �
�	 �
�	����
�������
��� $
��
 $��� �� ����� ��!�
�� ��	�� �� �
�� �
���� ��
 ������
���!� ��
������

!"% � &'���
� �������( ��

�
'�'� �
����� ��
) ���

�	
��

8�� �� �������
 � ���������� ���

�� ���) 
�����
 ��.�9� 	���� �
�� $�� ���
������ ��
�
�� �� ��� O�2&GHP �� � ����
	�
) ���	��� ��
 ��������
 ����� �
������!� ����
��� �
�

�����
 �� �������� �� �
����� ������������� �
�	 ��������������� �� �� �����������"��
�����
��
���� 
��
����� �� �'����� �������� �� ����
�
	�� 
������� �
�� 	�)�� � �������
=��)�� �������
�� �
� �������
�� 7%� 	���� $�� �
�������� ���
������ �� 2���� ���
������ O2�GIP�

����� �
����� ��
	� �� ��	 �� !

& ��
�	���� ����
�	 �� �
� 
�����
 ���)�� �
�	 O�2&GHP� �� �
�$� �� 3��� F�F� �
� 
����
���� ��� 
��� �
�����
 ��
�	� ��!������ �� 2���� ��� ������ O2�GIP �� ����� �� �
������
	��������Q �� ����� �� �� 7%� 	���� $��
 ���
 ������ ��� �$� ����
����



�3� � 9�
�
�" *	�����8 ����
����� ��
���� ���- ������� �$

3���
� F�F> .�
�	���� ����
�	 �� �
� �.�9 ��� �
�$� �� O�2&GHP�

�
� ���� ��5�$ 
�� ��	��
���
� ϑ0 ��� �������� ���� ��������������� ���������� &�
$��
 �������
����� cA0� (�� 5�$ 
��� V̇ ��� �� ����
������ (� �
��
 �� )��� �
� ��'��� ���)
!���	� �������� �
� ���5�$ �� )��� �� �
� ��	� 
��� �� �
� ��5�$� �
� ���5�$ �������� �

�	�����
 �� ��������������� �
� �
����� ������������� ���������� ,� ��� �$� ��$�����
����
������ ���������������� ���������� �� ��� ����������������� ���������� %� $��

�������
������ cA cB cC  ��� cD� �
� ��
�	� ��
 �
�� ��������� 
�� 	�� -���� �������� ��
��!�� ��

A
k1−→ B

k2−→ C

2A
k3−→ D.

�
� 
������� 
���� ki ������ �� �
� 
�����
 ��	��
���
� ϑ !�� �� &


����� ��$

ki(ϑ) = ki0 · exp
(

Ei

ϑ/oC + 273.15

)
, i = 1, 2, 3.

�
� ��	��
���
� ϑK �� �
� ������� =��)�� �� 
��� ��$� �� �� ����
��� 
��� ���
����

$
��� 
��� 
�	�!�� 
��� Q̇K ��� �� ����
������ &� �
� ���������� C ��� D �
� ��$�����
��� �� ��� 
���� ��
�
�
 �� �� ��� �������
� �� )��� �
��) �� �
��
 �������
�������

V, A, B, C, Di 



�+ ������
�� ���
��� �������

�
� ��������
 7%� 	���� ��� �� ��
�!�� �
�	 ��	������ �������� ��
 �
� ����������
& ��� , �� �
� �'����� �������� ��� �
�	 ���
���� �������� ��
 �
� 
�����
 ��� �������
=��)��>

˙cA =
V̇

VR
(cA0 − cA) −k1(ϑ)cA −k3(ϑ)c

2
A

˙cB = − V̇

VR
cB +k1(ϑ)cA −k2(ϑ)cB

ϑ̇ =
V̇

VR
(ϑ0 − ϑ) +

kwAR

ρCpVR
(ϑK − ϑ)

− 1

ρCp

(
k1(ϑ)cAH1 + k2(ϑ)cBH2 + k3(ϑ)c

2
AH3

)

˙ϑK =
1

mKCPK

(
Q̇K + kwAR(ϑ− ϑK)

)
.

�F�/�

+�
� CPK ��� Cp ������ �
� 
��� ���������� �� ������� ��� �'����� �������� ρ �
� �����
����B� ������� H1 H2 ��� H3 �
� 
������� ���
������� 6����� �� �
��� ��
�	���
� �� $���
�� ��
 �
� &


����� ���������� ki0 ��� Ei ��
 i = 1, 2, 3 ��� �
� �	������ 
�����
 �����1�
'��������� �!���	� VR ��
���� AR ��� 
��� �
�����
 ��������� kW ��
 ������� =��)�� ���
������� 	��� mK� �
� ������ �� ����� F�F� ,� ���
������� �
� �����	 ����� x ��� �
�
����
�� !����
 u ��

x =

⎛
⎜⎜⎝

cA
cB
ϑ
ϑK

⎞
⎟⎟⎠ ��� u =

(
V̇
VR

Q̇K

)

$� ��� ��		�
�"� �'�� �F�/� ��

ẋ = f(x, u).

�
� 
����� �� � ������ ����� ����	�"����� �� �
� ����� =
cB |S
cA0

$��
 
������ �� �
� ������
��
�	���
 ϑ0 ����� ��	��
���
�� ��� �
� �$� ����
��� ������ �
� ������ ����� ��� ����
���

xS =

⎛
⎜⎜⎝

2.1402 mol
l

1.0903 mol
l

114.19 ◦C
112.91 ◦C

⎞
⎟⎟⎠ ��� uS =

(
14.19 h−1

−1113.5 kJ
h

)
.

<� $��� ��)� �
�� ������ ����� �� � ����
�� 
���
���� !���� �� �
� ����	�� ����
�� �
����	
�
�� �����$� R ������ ���� �
�� �� �� �� �� �	��
����� �� �
� �����$��� �
�� xS, uS $�� ������
�
� 
����� �� �� ����	�"�����Q �
� ���� �
���
�� �
�� �� �	��
���� ��
 �
� ����	�� ����
��
�
����	 �� �
�� f(xS, uS) = 0�

���� �
�� $� �� ��� ���
����� �
� �������� �����	 ��
�	���
� �� ���������� !�
������ 
������� $� ����	� �
�� �
�� $��� ��!�
 �� ���=��� �� �
������



�3� � 9�
�
�" *	�����8 ����
����� ��
���� ���- ������� �'

.�	��� 6���� .�	��� 6����

k10 F�/KJ ·1012h−1 ρ 0�GI4/ kg
l

k20 F�/KJ ·1012h−1 Cp I�0F kJ
kg·K

k30 G�04I ·109h−1 kw 40I/ kJ
h·m2·K

E1 �GJHK�I AR 0�/FH m2

E2 �GJHK�I VR F0 l
E3 �KHL0 mK H kg
H1 4�/ kJ

mol
CPK /�0 kJ

kg·K
H2 �FF�0 kJ

mol
cA0 H�F mol

l

H3 �4F�KH kJ
mol

θ0 F04�G ◦C

����� F�F> �������� �����	 ��
�	���
��

�����  �	 "#����� ������� �����	�

*�!�� �� ������� ����� x0 �
� ����	�� ����
�� �
����	 Poc(x0) �� �� ����
 �
� �����	 ������
��� '���)�� ���� �
� ������ ����� xS� <� ��)� �
� ��
	������� �
���� �� �
�� �� O�
�GJP 
�
�� ��	� �� 	���	�"��� �
� �����
���� $���
��� '���
���� ��!����� �� �
� �
�=����
� �
�	
�
� ����	�� ������ ����� !������ <� ��1�� � 8��
���� ��
	

L(x, u) := (x− xS)
TQ(x− xS) + (u− uS)

TR(u− uS)

$��
 �������� 	��
����

Q :=

⎛
⎜⎜⎝

0.2 mol−2 l2 0 0 0
0 1.0 mol−2 l2 0 0
0 0 0.5 ◦C−2 0
0 0 0 0.2 ◦C−2

⎞
⎟⎟⎠

���

R :=

(
0.5h2 0
0 5.0 · 10−7 kJ−2 h2

)
.

����
�� ������ uLB ≤ u(t) ≤ uUB �
� ��!�� ��

uLB :=

(
3.0 h−1

−9000 kJ
h

)
��� uUB :=

(
35.0 h−1

0 kJ
h

)
,

�� �
�� $� ��1�� �
� ���
 ���'������ �����
���� �������� �� ��>

h(x(t), u(t)) :=

(
u(t)− uLB

uUB − u(t)

)
≥ 0.

<� ��
	����� �
� �����$��� ����	�� ����
�� �
����	 Poc(x0)>
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3���
� F�/> ���	��� �������� �� �
� ����	�"����� �
����	 �F�I�� �
� 1
�� ���
 �
��
� �
�$
�
� ����	�� ����� �
�=����
��� x∗(t; x0) ��� �
� ���� �$� �
� ����	�� ����
�� �
�=����
���
u∗(t; x0)�



�3$ ���
��� 0������- ������� �#

min
u(·),x(·)

∫ T

0

L (x(t), u(t)) dt �F�I�

���=��� ��

ẋ(t) = f (x(t), u(t)) , ∀ t ∈ [0, T ],

x(t0) = x0,

h(x(t), u(t)) ≥ 0, ∀ t ∈ [0, T ].

(� ����
��� �� �
� ��
	������� �
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 �� ���������� ��
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	������� �� � ���� ���
���	����� ��
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�
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8�� �� ��
 � 	�	��� ����	� �
�� $� ��� �
���	���� ��
 ��� x0 ∈ R
nx ��
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��
 �
�

����	�"����� �
����	 Poc(x0) 
�� � �������� �
� ����	�� ����
�� �
�=����
��� u∗(t; x0) ��
$��� �� �
� ��

��������� ����	�� ����� �
�=����
��� x∗(t; x0) ��� z∗(t; x0) �� �
� ��	�

�
�"�� t ∈ [0, T (x0)]� <� $��� ����	� �
�� T �� ��� 1��� ��� ���� �� ����	�"������ �
�
�����
 T 	�� 
�$�!�
 �� ����
	���� �� �
� 1��� ����� �����
���� �F�F�� ���� �� �
� ����
�� � 1��� ��� ��	� tf � ���� �
�� �� �
�� ���� �
� D����)E !�
����� t̃ �� ��
� �� �
� �����	
����� x�

8�� �� ���) � 1��� !���� �� x0 ��� �������
 �
� ����	�� �������� �
�=����
��� x∗(·; x0) 
z∗(·; x0) ��� u∗(·; x0) �� Poc(x0)� 8�� �� ���� ���) � ��	� t1 ∈ [0, T (x0)] ��� �
� ��

�������
��� ����� x1 := x∗(t1; x0) �� �
� ����	�� ��#�
������ ����� �
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� x∗(·; x0)� �������
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����	 Poc(x1)� +�$ �
� ��� ����	�� �������� �
�=����
���
x∗(·; x1) z

∗(·; x1) ��� u∗(·; x1) �� [0, T (x1)] 
������ �� �
��� �� Poc(x0)T 3
�	 �
� 
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��������  ���� )��$� �� �
� �
�������� �� ��+���� �� �����$� �
�� T (x1) = T (x0)− t1
��� �
�� �
� �������� �
�=����
��� �� Poc(x1) �������� $��
 �
� 
�	������ ��
� �� �
� ��������
�
�=����
��� �� Poc(x0) ����
 t1 ���� 

x∗(t; x1) = x∗(t1 + t; x0)
z∗(t; x1) = z∗(t1 + t; x0)
u∗(t; x1) = u∗(t1 + t; x0)

⎫⎬
⎭∀ t ∈ [0, T (x1)].
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,� �
����� t = 0 ��� ��
	������� �
� ���� �������� ��
 ��� t1 ∈ [0, T (x0)] $� ��� ���!�
����
����� �
� ����	�� ����
�� �
�=����
� u(·; x0) ��

u(t1; x0) = u∗(0; x∗(t1; x0)), ∀ t1 ∈ [0, T (x0)].
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����� �� �
� �
���	�������� ��� �� �����
�� �� �� �
����� ���	+��� �������
���� O,+LGP� �������� uf �
�� �� ��1��� ��

uf(x0) := u∗(0; x0). �F�H�

�
�� �������� 	�� �� ���� �� � �������) ����
�� �
�� ����� �� �
� �����	����
 %&� �����	

B(·) · ẋcl(t) = f(xcl(t), zcl(t), u
f(xcl(t)))

0 = g(xcl(t), zcl(t), u
f(xcl(t))).
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 ������� $��� �� ��������� �
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�� uf(x0) �� ��������� $
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��� �
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7�� ����������� �� ���
���	��� �
� ����	�� �������) ����
�� ��$ uf(xcl(t)) �� �
� !�������
�� � 
���
���� �
�=����
� �� �
�!���� �� ���������	 �����+����� ���	+��� ������� ����� ������

�����+����� ���	+��� ������� O,+LGP�� (� 
�'��
�� � ������� �
 ��������� �������� x∗(·; x0) 
z∗(·; x0) ��� u∗(·; x0) �� � ��	���� �
����	 Poc(x0) ��� �� � ���� ���
���	����� �� �
�
�������� ‖x(t) − x∗(t; x0)‖ �� �
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��� �
�=����
� x(t) �� �
� 
���
���� �
�=����
� 
�	����
�	���� �
� ���� �� �� ���
���	���

uf(xcl(t)) = u∗(0; xcl(t)), ∀t ∈ [0, T (x0)],

�� �
� �����
�"�����

ulnfc(xcl(t)) := u∗(t; x0) +K(t)(xcl(t)− x∗(t; x0)),

$
�
�

K(t) :=
∂uf

∂x
(x∗(t; x0))

�
�� �� ��1��� ��
 ��� t ∈ [0, T (x0)]� ���� �
�� �
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	 u∗(t; x0) �� �'��� ��
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�!� �
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������� �������� �� $
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����
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"!���
�" 0������-<
%� �� �!��
�� ��� � ��+������� �� ��� �
����� ���	+��� �������� uf(x)$ ��	 ��� ��� ���������	
�����+����� ���	+��� �

��!������� ulnfc(x) (� ���( �� &����� 345 � ��� 	���������� ���
������� ��� ���� 	���������� ����� �
��� �� ��� 6��� �� ������� 347$ ��� ������� 
�����

xε := xS + ε(x0 − xS),

���� �����
����� +��(��� ��� ����	� ����� xS ��	 ��� 	�����+�	 ������� 
���� x0 ���� �F�4�4
��� ���
�� ��� uf(xε) := u∗(0; xε) ��
� +��� �+�����	 +� � ��������� �������� �� ���

�
����� ������� 
��+��� �F�I� 8(���� (� ���� �� �� �

��!������� ��� T = ∞9 ��� 3:3
������� 
����� xε$ ε ∈ {−0.20,−0.19, . . . , 1.19, 1.20}$ (������ ulnfc(xε) := uS+K(0)(xε−xS)
�� +���	 �� � ������������� �� uf(·) �� ��� ����	� ����� xS4 &�� � �����	����
 ���;������ 	��
�� � ���������	 �����+����� ���	+��� ������2��$ ��4 �!��
�� :4:4
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�� $� 
�!� ����	�� �
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 T �� �
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����	 �F�F� �� � !�
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����	 �
��
�� ���
�
 ����
	���� �� ��	� �����
����� �
 � 
��� ���
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�� ���� $� ����)
�� D�

��)��� 
�
�"�� �
����	�E ������� �
� ��	� 
�
�"�� T �� �

��)��� ��
��� ����	��
�
����� ��!����	��� �� $� 
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������� �� ����	����� ��
 ����
��� (� �
�	����
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��� �
�� �
����	 ���� �
���� ��������� ��
 ����
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 ��	������
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������� �� 
�������
���� ��
 ��	� ����	�� 	����!�
��

��$�� (�)���	 *���&�� �����	��
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�� �
� �
���� T = ∞ $���� �� ���
��
����� (� �� ��
���
���
$�
�
�
�� �
� �
������� �� ����	����� 
���� ���� ��
 �
� �������� �
�=����
��� x∗

∞(·; x0) z
∗
∞(·; x0) 

��� u∗
∞(·; x0) ��� $� 	�� ����
������ ��1�� �� ����	�� �������) ����
�� ��$ ��
 ��1����


�
�"�� �
����	�

uf
∞(x0) := u∗

∞(0; x0).
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��� ����
��� ��
 �
�
������� !����� xε := xS + ε(x0−xS) �� ���	��� F�F� �
� ���� �������� �
� ����	�� �������)
����
��� ��
 �
� ������ ����� xS �ε = 0) ��� �
� �����
��� !���� x0 �ε = 1� ���� 3��� F�/ 
t = 0�

)��
��� ����
�
��

3�
 ������ ����� �
��)��� �
����	� $��
 �� ��=����!�
∫ ∞
0

L(x(t), z(t), u(t)) dt �
�� �����1��
L(x, z, u) > 0 ��
 ��� (x, z, u) 	= (xS, zS, uS) ��� L(xS , zS, uS) = 0 �� �
� ������ ����� �
�
�
������� �� ����	����� ����
�� ��	���� ��������� �� �
� ��

��������� ����������� �����	 
�� �
� �
����� ���� ��������

V∞(x0) :=

∫ ∞

0

L(x∗
∞(t; x0), z

∗
∞(t; x0), u

∗
∞(t; x0)) dt,

�� �� 
�	���� 1���� ��
!�� �� � 0��
���
 �������� ��� ��1��� ���� �� O.��G0P� ��
 �
�
����������� �����	�

�� �)���
 �
� ���� �� �
� ��	���� ��������� �
��� ��� �� ����	� �
�� V∞(·) ∈ C1 ���
�
�� u∗

∞(·; x0) ∈ C0∀ x0 ��� ��
�
�
	�
� �
�� �
� ��!�� ���� �� V∞(·) �
� ��	���� �� R
nx �

3�
�� ���� �
�� V∞(xS) = 0 ��� V∞(x0) > 0, x0 	= xS� (� $��� ��$ �� �
�$� �
��

d

dt
V∞(xcl(t)) < 0, ∀ xcl(t) 	= xS, �F�L�

�� �
�� �
� ���� ����	������� ����� �� �
� ����������� �
�=����
� xcl(t) t ∈ [0,∞) ��� ��
xS� &� �
� ��!�� ���� �
� ��	���� �� ����	������� ����� 	��� ����� �� �
�� ���	������
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�� ���� �
�� �
� ����������� �
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��
� xcl(·) ��
 �
� ������� !���� x0 ��������� $��
 �
� ����	�� �
�=����
� x∗

∞(·; x0)� �
�
���
�
�� ����� ���� �� �� �
�$� �
��

d

dt
V∞(x∗

∞(t; x0)) < 0, ∀ x∗
∞(t; x0) 	= xS . �F�J�

%�#�
��������� �� �
� ��������

V∞(x∗
∞(t; x0)) = V∞(x0)−

∫ t

0

L(x∗
∞(τ ; x0), z

∗
∞(τ ; x0), u

∗
∞(τ ; x0)) dτ,

�$
��
 �� � ��
��� �����'����� �� �
� �
������� �� ����	������ $��
 
������ �� t ������

d

dt
V∞(x∗

∞(t; x0)) = −L(x∗
∞(t; x0), z

∗
∞(t; x0), u

∗
∞(t; x0)) < 0, ∀ x∗

∞(t; x0) 	= xS.
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�
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�
�"��E ���
���
 �� ����� ����
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�
� � �������� ������� ������� �� �����
 T �� �
���� �� ��� ����	�"����� �
���
��	�� (� �
� �������� T �� ���������� ��
�� �
� ��	����� ����	�� �
�=����
��� x∗

T (·; x0) 
 z∗T (·; x0) ��� u∗

T (·; x0) �
� �������� �� �� ��	���
 �� �
� ��

��������� ��1���� 
�
�"��
!����� x∗

∞(·; x0) z
∗
∞(·; x0) ��� u∗

∞(·; x0) �� [0, T ] �� �
�� �
� ��1������ ��
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�
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�
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uf
T (x0) := u∗

T (0; x0)

�� � ���� ���
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�
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�� uf
∞(x)� <� ����

�
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�
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��1������ ���
������ ��� �����
�����
����� �� ��
	������ �� �'�� �F�F�� ��� �F�F�� ��� �� �
� ����
 ��
	 E(x(T ), z(T ))
�� �
� ��=����!� ���������� �F�F��� �
� �
������� ���� �� �� ��
	����� �
� ����	�"�����
�
����	� �� ���
 � $�� �
�� �
� ����	�� ���� ��������

VT (x0) :=

∫ T

0

L(x∗
T (t; x0), z

∗
T (t; x0), u

∗
T (t; x0)) dt+ E(x∗

T (T ; x0))
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!� �� � 8������! �������� �� �
� ����������� �����	 �� ��
 ��1���� 
�
�"�� �
����	��
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!��$ �� ���
 ��
�	�� $� 
���
 �� �
� �
������ �� ����� O���GL ���00P �
 %�
������� ����� ��� .��������� O%�.00P� +�
� $� $��� �
��5� ���
����� �

�� �� �
���
��
�	��� &�� �

�� 
�!� �� ��		�� �
�� �
� �� ������ ������������ 
��
���� O%�.00P

���� �� � ����
��

��� ΩT �� �
� ������ ����� xS>

VT (x) ≤ VT−δ(x), ∀ δ ≥ 0, δ ≤ T, x ∈ ΩT . �F�K�

��	���� ��������� �����$� �����
�
 $��
 �
� �
������� �� ����	����� ��
 ����
�� $
��
 ������
�
��

VT (x0) =

∫ δ

0

L(x∗
T (t; x0), z

∗
T (t; x0), u

∗
T (t; x0)) dt+ VT−δ(x∗

T (δ; x0))

�� �
�� ������ x0 = x∗
T (0; x0)�

VT (x
∗
T (δ; x0))− VT (x

∗
T (0; x0)) ≤ VT−δ(x∗

T (δ; x0))− VT (x
∗
T (0; x0))

= − ∫ δ

0
L(x∗

T (t; x0), z
∗
T (t; x0), u

∗
T (t; x0)) dt.

%�#�
��������� �
�� ���'������ �� δ $� ��� ������ �
��
d
dt
VT (x

∗
T (0; x0)) = ∂VT

∂x
(x∗

T (0; x0)) ẋ∗
T (0; x0)

≤ −L(x∗
T (0; x0), z

∗
T (0; x0), u

∗
T (0; x0)) < 0, ∀ x0 	= xS.

8�� �� ��$ �
���� x0 := xcl(t) �� �� ��� ����� �� �
� ����������� �
�=����
� �� ��	� t� �
�
��	� ��!����	��� �� �
� ��	���� ����������� �����	 ����� �
� ��	� %&� �� �
� 	����Q
������� �� ��	� t �
� ��#�
������ �����	 ����� �� xcl(t) = x0 = x∗

T (0; x0) ��� �
� �������
���� ����
�� �� �
���� �� �� uf

T (xcl(t)) := u∗
T (0; x0) �
� �����
��� ����� ���� ��������� $��


�
� ���
� �� �
� ����	�� �
�=����
�> zcl(t) = z∗T (0; x0) ���� �� �
� �����
��� �����������
����������Q �
�
���
� �
� ��	� ��
�!���!�� ��������>

ẋcl(t) = ẋ∗
T (0; x0).

�
�� ����$� �� �������� �
��

d

dt
VT (xcl(t)) =

∂VT

∂x
(xcl(t)) ẋcl(t) < 0, ∀xcl(t) 	= xS.

=��� ����
��� �������
��

�
� ���� �� �
� "�
� ��
	���� �����
���� �A��� ��
�	� �� �� ��
	����� �
� ��
	���� �����
�����
����

re(x(T )) := x(T )− xS,

$
�
� xS �� �
� ��#�
������ ��
� �� �
� ����
�� ������ ����� ��� �� �	���� �� 1��� �������
E(x(T ))� ��	���� ��������� ��
 ��������
 ���������� ��	� �����	� $�� �
�!�� �� �����
��� ���
���)� O��G0P� �
� 	����������� �
���
�� �F�K� �����$� �
�	 �
� ���� �
�� �
�
����	�� �������� x∗

T−δ(t; x0) z
∗
T−δ(t; x0) ��� u∗

T−δ(t; x0) �� � �
����	 Poc,T−δ(x0) �� � �
�
�

�
�"�� [0, T−δ] ��� �� �
������� �� � �������� �
�=����
� �� �
� �
����	 Poc,T (x0) �� � ����

�
�"�� [0, T ] �� ������ ��
 t ∈ [T−δ, T ] �
� 1��� ��
�� x∗

T (t; x0) := xS z∗T (t; x0) := zS 
��� u∗

T (t; x0) := uS �
�� 
�!� �� ���������� ����� ��� 3���F�4�
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����  ���� &���
��
(� ������� �$

� 
������ �� Poc,T−δ(x0) �

� 
������ �� Poc,T (x0) �

x0 �
x∗T−δ(t)

u∗T−δ(t)

��xS , uS �
T−δ

�
T

3���
� F�4> ������������ �
���
�� ��
 �
� "�
� ��
	���� �����
���� �A��� ��
�	�> �
�
�������� �
�=����
��� �� �
����	 Poc,T−δ(x0) ��� �� �
������� �� �������� �
�=����
��� ��

�
����	 Poc,T (x0) $��
��� ���
������ �
� ��=����!��

%���
���>�
�� ?��
;�� ) &�

�
� '�������1���� 
�
�"�� �M(+� ��
�	� �	����� � ������!� ��1���� ������� 	��
�� P ∈
R

nx×nx �
�� ����$� �� ��
	����� � ��
	���� ������� ��
	

E(x(T )) := ‖x(T )− xS‖2P := ‖P 1
2 (x(T )− xS)‖22

��� � ��
	���� �����
����

ri(x(T )) := α− ‖x(T )− xS‖2P ≥ 0,

�$��
 α > 0� �
�� �����
���� x(T ) �� �� �� �� �������� 
����� Ω := {x ∈ R
nx |‖x−xS‖2P ≤ α}�

�
�� ��� &���;$�
 O�&GK �
�GJP 
�!� �
�$� 
�$ �
� 	��
�� P ��� �
� �������� α ���
�� ��	����� �� �
�� �
� 	����������� �
���
�� �F�K� �� �����1��� �
��
 ���
���
 �
��
$�� �
�������� ��
	������ ��
 7%� �����	� $�� ����
���"�� �� %&� �����	� �� ������
��� �� 3�������� ��� &���;$�
 O3&00P� -���� �
� �����	 �����
�"����� �
���� �
� ������
����� ��� � �����
 ����������� ��$ u(x) = uS + K · (x − xS) �
� 	��
�� P �� ��	�����
�� �
� �������� �� � 8������! �'������ ��� �
� �������� α �� ����
	���� �� �
�� �
�
�������� 
����� Ω �� ������!��� ��!�
���� ��
 �
� �����
�� ����
����� ����������� �����	 ���
�� �
�� �
� ���
 �����
����� h(x, z, uS + K · (x − xS)) ≤ 0 �
� ��� !������� �� �
� ���
{(x, z) ∈ R

nx × R
nz |x ∈ Ω, g(x, z, uS +K · (x− xS)) = 0}�

��>�
���?��
;�� ����������� ����
�"

�
� ���� �� �
� ��1�����
�
�"�� ����������� ������� ���
���
 �
�� $�� �
������ �� %�
������� ����� ��� .��������� O%�.GLP �� �� ���
����� � ��
	���� ������� �
�� �� ������
�
� ��1���� �����
�� �� �
� 8��
���� ��=����!�

E(x(T )) :=

∫ ∞

T

L(x̂(t; x(T )), ẑ(t; x(T )), û(t; x(T ))) dt

J '-,\ 

___ ....... ------- \ 



�+ ������
�� ���
��� �������

$
�
� x̂(t; x(T )) ��� ẑ(t; x(T )) �
� �
� �
�=����
��� ��

��������� �� �
� �����$��� �������
���� ������� !���� �
����	 �� �
� 
�
�"�� [T,∞)>

B(·) · ˙̂x(t) = f(x̂(t), ẑ(t), K(x̂(t))),

0 = g(x̂(t), ẑ(t), K(x̂(t))),

x̂(T ) = x(T ).

�
� �������� K : R nx → R
nu �� �
���� �� �� �� �������"� �
� �����	 �� �
� !������� �� �
�

������ ����� ���������� �� � 8M9 ����
�� ��$ ��
 �
� �����	 �����
�"������� �
� 1��� �����
�����
���� ri(x(T )) ≥ 0 	��� �����
��� x(T ) �� �
�� ��� �
������� ����������� �
�=����
���
x̂(t; x(T )) ẑ(t; x(T )) ��� û(t; x(T )) := K(x̂(t; x(T ))) 
�	��� �������� ��� 
�!� 1���� ������
�
� 	����������� �
���
�� �F�K� �����$� �
�	 �
� ���� �
�� � �
���������� �� �
� 
�
�"��
�
�	 [0, T−δ] �� [0, T ] ���� ���
����� �
� ���
��� �� �
����	Q �
� ��$ ���
��� �� �
����	 
�
� ����
��� u(t) ��
 t ∈ [T−δ, T ] ��� ����� �� �
���� �� �� u(t) = K(x(t)) $
��
 $����
����� �'��� ����� �� ��
 �
� �
�
� 
�
�"��� & �
������� �	���	�������� �� �
�� ���
���
 	���
�!�
��	� �
� ����
�!��� �
����	� �� ����
	����� �
� 1��� ����� �����
���� ri(x(T )) ≥ 0 
��� �
� ������� ��	�������� �� �
� ��1���� �����
�� �� ����
	��� E(x(T ))� ���� 
�$�!�
 
�
�� �
� ��	�������� �� � 1���� 
�
�"�� ���
���	����� �� E(x(T )) ��� �� !�
� �
��� �!��
�� 
�����!��� ���� 
�
�"��� �� ������!� �	������ %&� ���!�
� �
� ���� �� �
� ������"�� ��
�
� !������� �� �
� ������ ����� ��� �� 	��� !�
� ��
��� <� 
�!� �	������ ���
 � ��
�	�
��
 �
� ����
�� ����
�	���� $��
 � ������������ ����	� �
�� �
� �
������� �� �
��� J $
�
�
�
� �
�!��� ����������� ��$ K(·) := uS ����� �� �
���� ������� �
� �����	 �� �������

��+�� ���	�����-	 �		
���� �����	��	�

7���	�� �������) ����
�� ��� ��������
 	���� �
������!� ����
�� �� ��1��� ���!� �
� ���
�
� ���� $��� �� ��
�!� �������) ��$� ��� �	��� �
��� �
�� �
� ��� �������
��� �
� �����
�
�� ��#�
 �
�	 �� ��
�
��� ����
��������> �� �
� ��� 
��� �
� �	������ �����	 	����
�� ����
	������� ��� �� �
� ��
�
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�!���
 �� �
� �����	 �
 �� �
� �
������ �� 	���������� 	��	���
�
�
�
� �
� ��!�
�� ��
������� �
�� ������� ��	� ��
� �� )��$����� �
�� �
� 
��� �����	 ����
��� ���� �
� ����
	������� 	���� �'�������� <� $��� �
��5� 	������ �$� �� �
��� 
�
��

����!���
� ���
��� �������

.���
����� ����	�� ����
�� ���
��'��� �	���� � ����
����� �����	 	���� ������� �� � ���
��
	������� ��� ��� ��	 �� ����	�"��� �
� ����������� !���� �� �� ��=����!� �����������
�
� ����
����� ����� �� !��$ 	�)�� �� �������� �� ������ �������) ����
����
� �
�� ��)�
����
� �����
������ ���� ������� R �
�!���� �
�� 
�������� ����	������ �� �
� ��!�
����
����
������ �
� �!�������� �
� 	��
�� �� �
���� ��
 �
� �������� �� ����
����� ����	�� ����
�
�� �
����	� �� ����	�� �
��
�		��� $
��
 �� �
�������� ��� �� ,���	�� O,��HJP� �<�

���		��� �
� �$� ��������� ���)� �� 7���	�� ����
�� ��� %���	�� �
��
�		��� ��
,�
���)�� O,�
GH� ,�
GH�P ��� 
���
 ���� �� ,�
���)�� �� ��� O,�GL ,.GLP�� 3�
 �����
 ����
��	� $��
 '���
���� ����� �
� �������� �� ����
����� ����	�� ����
�� �
����	� �� �'��!�����
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 �����	�� 1�������� ����
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� ������� �� ���!� �!�� ��
 	���
��� �����	 ��"���
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���� 
���� ��!����	���
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� ���� �$� �������� 9���
�� ���)�� 
����� ����
�� ���
��'��� ��	 �� ���������
�������) ����
�� ��$� urc(x) �
�� �
� ��� ���� ���� �� �������"� � ��	���� �����	 	���� 
��� �
�� �
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�� ��
��
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 � $
��� ��� �� ��
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���U�����
��� �����	��
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 �� ���
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�
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���
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�� ��)� ���������� ��������
 �����	 	����� ���� �������� �
�
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�� �
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�����
	� �
� �
������ ��1���� ����	�� ����
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����	 Poc(x0) �F�F� ����
� 1���� ��	�������� 1�������� "���������� ��8�� �
����	 �
�� $� $��� ������ �� P (x0)�
�
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��� 	������� �
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� ��1���� ����	�� ����
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����	 �F�F� �� � 1���� ��	��������
��������� 
���������� ��8�� �
����	 ���
 ��� ����
��� ��� ��� ������ �
� ��
�	���
�"��
�� �
� ��
��� 	������� �
������ 	��
��� 8�� �� 1
�� ���
����� � ��	� �
�����
	����� �
��
�
���
�� �
� ����
�� ��� ����� ��
�	���
�"������

�����  ��	  �������������

(� �
��
 �� �� ���� �� �
��� �
����	� $��
 � !�
����� 
�
�"�� �����
 T ���!�������� $�
���
����� � ��	� �
�����
	�����

t : [0, 1] → [0, T ], τ 
→ t(τ, T ) := Tτ

$
��
 ����$� �� �� 
���
� �� ����	�"����� �
����	 �� �
� 1��� 
�
�"�� [0, 1] ����� ,�
����
�
����� �
� �
�=����
��� �� x z ��� u �� ��������� �� τ ∈ [0, 1] $� ��� ��
	����� �
�
����	 �� �
� 
�
�"�� [0, 1] �
�� �� �'��!����� �� �
����	 �F�F�� (� �
� 
�
�"�� �����
 T
�� !�
����� $� $��� �
��� �� �� � �
�� ������ ��
�	���
 �
�� ��� ������������ �� ������"��
�� ���
�������� �� �� ���������� �
�!��� ��#�
������ �'������ Ṫ (τ) = 0 $��
 � �
�� �������
!����� �� )��� �������� ��	��� $� $��� �� �
� �����$��� ����������� ����	� �
�� T �� 1��� 
��� )��� �� 	��� �
�� �
� ���� �� � !�
����� 
�
�"�� �� �����
�� �� �
�� ���
���
 ����

/J



�. �
����  ���
��� �!���
�"

q0
q1

q2

q3

q4

0 τ1 τ2 τ3 τ4 1

u(τ)

τ

• •
•

•
• •

s0

s1

s2

s3

s4

s5

0 τ1 τ2 τ3 τ4 1

x(τ)

τ

•
•

•
•

•
•

3���
� /�F> ����
�� ��� ����� ��
�	���
�"����� �N = 5��

����� ������� �����	��&�����

(� �
� ��
��� 	������� �
������ 	��
�� ��� �� ��� ��
��� �������� ���
���
��� �
� ��1������
	��� ���
��� �� �
����	 u(τ) ��
 τ ∈ [0, 1] �
� ���
���	���� �� � 1���� ����
�� 
��
�����
������� 3�
 �
�� ��	 $� �
���� � 	������� �
������ �
��

0 = τ0 < τ1 < . . . < τN = 1, �/�F�

��� ���
���	��� �
� ����
�� u(τ) �� � 
����(��� �������� ����
�� 
��
���������� ���� $�
���

u(τ) := qi ��
 τ ∈ [τi, τi+1), i = 0, 1, . . .N − 1, �/�/�

$��
 N !����
� qi ∈ R
nu  �� �)���
�� �� �
� ���� 
��� ���� �� 3��� /�F� 3�
 ��	��������� 

$� ��� �� ����
�� �� �
� 1��� ��	�

u(1) := qN := qN−1,

$
�
� �
� !����
 qN �� ���
������ ��
 ���������� ���!������� ���� ��� $��� ��� �� 
���
���
�� � ��$ ��
�	���
 ��� =��� �� � ������ ��	� ��
 qN−1� ���� �
�� �
� ����� !���� u(1)
�� �
� ����
�� 	�� ��
����� ��5����� �
� 1��� �����
��� ����� z(1) ��
�� �� ����
	���� ��
g(x(1), z(1), u(1)) = 0� ��� ��� �
�
���
� ��� �� ��������� �� �
� ���� �� %&� 	������

(� �� �������� �� ��� ��
�
 �������� 
��
�
 �
��
 ����
�� ��
�	���
�"������ �� �
� ���
��
!��� ����� �����
 �
 ����� ������	����� ��� �� �� �� �
����� �	��
����� ��
 �
� ��
���
	������� �
������ 	��
�� �
�� �
� ����
�� ��
�	���
�"����� 
�� ����� �����
� �� �
� 	���
����� �
������ ����
!��� [τi, τi+1] �� �
�� �
� ����
�� ��
�	���
� 
�!� � ����� ��5����� ����
���� .��� L�F��

<
�
� ���������� �� �
� ����
��� �� ����
�� �
� ����
�� ��� ���� �� �
����� �� ��
���������� ��#�
������ �����	 ����� $
��� ��	� ��
�!���!� ��� �� ����
������

����$ ����	 �����	�	��&�����

(� � �
����� ������ ���� 2(N+1) ���������� !����
� sx0, s
x
1 , . . . , s

x
N ��� sz0, s

z
1, . . . , s

z
N �� �
�

��	� ��	������� nx ��� nz �� ��#�
������ ��� �����
��� �����	 ������ �
� ���
������ $
��




�3� &������ &��������
;��
�� ��

$� $��� ������ ��#�
������ ��� �����
��� ��	� 
������ 3�
 �
�!��� $� $��� ����� ��	����
�
�	 �� �
� !����
� si := (sxi , s

z
i )�

&�� ��� �
� ���� ���� !���� ��
!� �� ������� !����� ��
 N ����������� ����!�	 ������� !����
�
����	� �� �
� ����
!��� [τi, τi+1]>

B(·) · ẋi(τ) = T f(xi(τ), zi(τ), qi) �/�I�

0 = g(xi(τ), zi(τ), qi)− exp

(
−β

τ − τi
τi+1 − τi

)
g(sxi , s

z
i , qi) �/�4�

xi(τi) = sxi . �/�H�

�
� �������� ����
�
��� �� �/�4� $��
 β > 0 �� ������
����� ���
������ �� ���������� �� ���
����� %&� �������� ��
 ������� !����� ��� ����
��� sxi , s

z
i , qi �
�� 	�� ��	��
�
��� !������ �
�

����������� ���������� �F�F�� ����� �
�� (sxi , s
z
i , qi) �� ��
 ��1������ � ���������� ������� !����

��
 �
� 
������ ������� !���� �
����	�� �
�� 	���1������ �,��) �� ��� O,�.KKP� �� ��		����

���

�� �� �� � ����!�	 %&� ��
	������� ��� .�
��" �� ��� O.,.GKP 8����$���
 O8��GGP�

�
� ��������� �� �
��� ������� !���� �
����	� �
� N ����������� �
�=����
��� xi(τ) zi(τ)
�� [τi, τi+1] $
��
 �
� � �������� �� si ��� qi ����� (� �
��
 �� )��� �
�� ���������� ��
	��� $� $��� ������ �
�	 ����� �� xi(τ ; si, qi) ��� zi(τ ; si, qi)� .�� �
� 
��
� 
��� ���� ��
3��� /�F ��
 �� ������
������

,� ������������ �
� ����������� �
�=����
��� xi(τ) zi(τ) ���� �
� 8��
���� ��
	 L ��
�'� �F�F�� $� ��� ��	����������� ��������� �
� �����
�� ��=����!� ����
�������� Li(si, qi)
�
�� �
� ��!�� ��

Li(si, qi) :=

∫ τi+1

τi

T L(xi(τ), zi(τ), qi)) dτ. �/�L�

�
� ���
�������� �� �
� !����� sxi ��� szi 
�� ���
������ �����
������ ���
��� �� �
����	
�
�� 
�!� �� �� 
�	�!�� �� ��

��������� �'������ �����
����� �� �
� �8�� 3�
�� $� 
�!�
�� 
�'��
� �
�� �
� 
��������� ��
	� �� �
� 
������ %&� ��
	������� �/�4� !����
 ���� 
��
	����� �
� ����+���� ����������� ����������

g(sxi , s
z
i , qi) = 0 i = 0, 1, . . . , N. �/�J�

.������� $� 
�!� �� ����
�� ���������� �� �
� ��#�
������ ����� �
�=����
� �� ��
	�������
�
� �����$��� �������� ���	������ $
��
 
�'��
� �
�� ���
 ��#�
������ ���� !���� sxi+1

�
���� �'��� �
� 1��� !���� �� �
� �
������� �
�=����
� xi>

sxi+1 = xi(τi+1; si, qi), i = 0, . . . , N − 1. �/�K�

�
� 1
�� ��#�
������ ���� !���� sx0 �� 
�'��
�� �� �� �'��� �� �
� ������� !���� x0 �� �
�
����	�"����� �
����	>

s0 = x0. �/�G�

�����
�
 �
� �����
����� �/�J� �/�K� ��� �/�G� 
�	�!� �
� ���������� ���
��� �� �
����	
$
��
 $�
� ���
������ $��
 �
� ��
�	���
� si i = 0, . . . , N � (� �� �� �� 	���� �������
�
�
�� �
��� �����
����� �
� �����1�� 	����� �
� ����	�"����� ���
������ R �� �
� ����
�
� ��
�� � �
����� �����
� �� �
� ��
��� 	������� �
������ 	��
�� �
�� �� ��� ���� $��
 �������+��
������� ������� �� �
� !�
������ si�



$7 �
����  ���
��� �!���
�"

����+ �����	��&����� �� ���� �����������

-���� �
� 	������� �
������ �
�� τ0 . . .  τN  �
� ��1���� ��	�������� ���
 ���'������ ����
��
����� �F�F�� �
� �
�����
	�� ���� N + 1 !����
 ���'������ �����
�����

h(sxi , s
z
i , qi) ≥ 0, i = 0, 1, . . . , N.

���� �
�� �� $���� �� �'����� �������� �� ��� � 1��
 �
�� ��
 �
� ����
���"����� �� �
� ���

�����
������

%"% ��� -�
��
��� ���������
� ���#���

�
� 1���� ��	�������� �8� �� �
� ��
��� 	������� �
������ ��
�	���
�"����� �� ��!�� ��

P (x0) : min
q0, . . . , qN−1,
s0, . . . , sN

N−1∑
i=0

Li(s
x
i , s

z
i , qi) + E(sxN , s

z
N) �/�F0��

���=��� ��

sxi+1 − xi(τi+1; s
x
i , s

z
i , qi) = 0, i = 0, . . . , N − 1, �/�F0��

g(sxi , s
z
i , qi) = 0, i = 0, . . . , N, �/�F0��

sx0 − x0 = 0, �/�F0��

re(sxN , s
z
N) = 0, �/�F0��

ri(sxN , s
z
N) ≥ 0, �/�F0��

h(sxi , s
z
i , qi) ≥ 0, i = 0, . . . , N. �/�F0��

�
�� �� �
� �8� �
����	 ��
	������� �
�� $� $��� ��� �� � 
���
���� �� �
� �����$���
�
����
�� 3�
 � !������"����� �� �
� �8� !�
������ ��� 3��� /�/� (� ��
�� ��� �
�� �
� �8�

�� � !�
� ��!��
���� ���
�� ��
����
� ��� �� �
� ���� �
�� ��� �����
���� ��������� ��� �
�
������!� ��
	� �� �
� ��=����!� �������� ���
 ������ ���� �� � �	��� ��	��
 �� !�
������ 
��� ���!�
���� ���
 !�
����� �����
� ���� �� � ��$ �
����	 ����������

�� ���!�������� $
��� �
� �8� �/�F0� �� � �
�
��
 ��
	 ��� �� ���
����� �
� !����
�

q :=

⎛
⎜⎝

q0
���

qN−1

⎞
⎟⎠ ∈ R

nq , s :=

⎛
⎜⎝

s0
���
sN

⎞
⎟⎠ ∈ R

ns, ��� w :=

(
q
s

)
∈ R

nw

$��
 nq := Nnu ns := (N + 1)(nx + nz) ��� nw = nq + ns ��� ��1�� F (w) :=∑N−1
i=0 Li(si, qi) + E(sN) ��� ��		�
�"� ��� �'������ �����
����� �� � �������� G : R nw →



�3� �!� )���
���� &��"����
�" &������ $�

q0

q1
q2

qN−1� � � � � � � � � ��

s0 s1
s2

s3

� sN

� � � � � ��

3���
� /�/> �
� �8� !�
������ �� �
� 	������� �
������ ��
�	���
�"�����

R
nG ��� ��� ���'������ �����
����� �� � �������� H : R nw → R

nH � �
� �8� ��� �
�� ��
��		�
�"�� ��

min
w ∈ R

nw
F (w) ���=��� ��

{
G(w) = 0,
H(w) ≥ 0.

<� $��� �� �
� �����$��� �
����
 I ������� 
�$ �� ������ �� � ����� w ∈ R
nw �� � �����

����	�	 �� �
� �8� /�F0� ,�� ��� �� ����
�
��� �
��5� 	������ ��	� ��
����
�� �����
��
�� �
� �8� ��� ���� ��!� �� ���	��� ��
 �
� 	������� �
������ ��
�	���
�"������

�����- �� �!� ��
�
�� 1���� �������
��

(� � 
������	� ����������� �� ��
 ����	�"����� ����
��
	� �
� �
����	 P (x0) 
�� �� ��
���!�� ��!�
�� ��	�� ���
 ��	� ��
 � ��#�
��� ������� !���� x0� (� ��
 
������	� ��
�������
$� $��� ������� �
� ���� �
�� �
� ������ !���� �� x0 ����
� �
� �
����	 P (x0) ���� !�� �
�
������� !���� �����
���� �/�F0��� <� 	�� �
�
���
� ������� �
�� �����
���� ��� ��		�
�"�
�
� ����	�"����� �
����	 P (x0) ��

P (x0) : min
sx0∈�nx ,w̃∈�(nw−nx)

F (sx0 , w̃) ���=��� ��

⎧⎨
⎩

sx0 − x0 = 0,

G̃(sx0, w̃) = 0,
H(sx0, w̃) ≥ 0.

�
�� ��
	������� $��� ����	� �
����� �� ��
 ����
������ �� �
� 
������	� ���
����� ��
�	�
�� �
����
 4�

�����- �� 0��� ?��
;�� ���"�!�

���� �
�� �� �
� ���� �
�� �
� 
�
�"�� �����
 T �� !�
����� $� ��	��� ���	��� �
� ����
��
������ ����� !����
� �� �� ���������� ��	������ Ṫ (τ) = 0, ∀τ ∈ [0, 1]Q �� �
� 	�������

---- ; 

' - -

!- ---- , 
I 
I 



$� �
����  ���
��� �!���
�"

�
������ ��
	������� �
� ���������� ���������� �/�F0�� ����
�� �
�� T �� �������� �!�
 �
�
$
��� 
�
�"��Q ��� ������� !���� 
�$�!�
 �� ���� �� ����
��� �� �
� ��
�
 ������� !����� x0�
�� �����
� �
����	� $��
 !�
����� T �� �
� ���!� �8� ��
	������� $� �
�
���
� ���� 
�!�
�� 	����� �
� ������� !���� �����
���� sx0 −x0 = 0 �� (Inx | 0)sx0 −x0 = 0 ����� �
�� x0 ∈ R

nx

��� sxi ∈ R
nx+1��

����� ��		 ��
 �	#	�
	�� .������	�

���� �
�� �
� !�
������ q = (q0, q1, . . . , qN−1) 	�� �� ������� �
� D�
��E ��	������� ���
s = (s0, s1, . . . , sN) �
� D���������E ��	������� ����� �
� �����
����� �/�F0����/�F0��
����$ �� ����
	��� ��� !�
������ s ���'���� �� q �� ��!�� ��� �
� ���� �� � �
�� 
�
�"�� �����
 
�� ��������� ���!� �
� ���� ������� !���� sx0nx+1 �� ���� �
�� ��� �������� ����	�� � ��
� ��
q�� (� $� ����	� ��
 � 	�	��� �
�� �� 1��� �'������ �����
���� �/�F0�� ��� �� ���'������
�����
����� �/�F0�� �/�F0�� �
� �
����� $� ��� $
��� �
� ����	�"����� �
����	 �� �
� ��
	

min
q ∈ R

nq , s ∈ R
ns
F (q, s) ���=��� �� G(q, s) = 0,

$
�
� �
� �������� G 
�� �
� ������ �
���
�� �
�� ��� :������� ∂G
∂s

$��
 
������ �� �
�
��������� !�
������ s �� ��!�
������ �� ��� �
�� ���� �
�� ∂G

∂s
�� ��$�
 ����) �
�������


⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

Inx
∂g
∂sx0

∂g
∂sz0

−∂x0(τ1)
∂sx0

−∂x0(τ1)
∂sz0

Inx

� � �

−∂xN−1(τN)
∂sxN−1

−∂xN−1(τN)
∂szN−1

Inx

∂g
∂sxN

∂g
∂szN

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

$��
 ��!�
����� ����)� Inx ��� ∂g
∂szi

�� �
� �������� ��
� ��!�
�������� �� ∂g
∂szi

�����$� �
�	 �
�

����� ��� ����	����� �� �
� %&� �����	��
(� �
� �
������ �� 1��� �'������ �����
����� �/�F0�� ��	� �
�!������ �
�� !�
������ ��

�
� !����
 q 	�� �� �����
�� ��������� ��� �� 	�� ����� �� �������� �� 1�� � ����
�����
���� �
�� ��� ��������� !�
������ q ��� s $��
 �
� ��!�
�������� �� ∂G

∂s
� �
� ��	� 	�� ��

���� �� �
� �
������ �� ����!� ���'������ �����
����� �/�F0�� �
 �/�F0���
�
� ����
������� ���� �
�� ��� ��������� ��	������� $��� �� ���� ��
 ��	� ���!�
�����


������ �� �
����
 HQ �� �� ���� ��������� �� �
� ��	�
���� �������� ����
��
	� ����
���� ��
.������� L�H ��� L�L�

*	����� �3� :�
����  ���
��� �!���
�" 
�� �!� ����<
0�� �� ����� �����	�� ��� ���	��� �!��
�� �� ������� 3474 6������� N =3<< �����
��
�������� �����
��� ���� �� 7< �����	� ������$ (� ����
� �� �� 10" ����������� ���� ����

����� nw = nq + ns = Nnu + (N + 1)nx = 100 × 2 + 101 × 4 = 604 10" 
����+���4
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3���
� /�I> ������� �� �8� !�
������ �� �
� ��
��� 	������� �
������ 	��
�� ��

���������
�� �
� �������� �� 3���
� F�/� �
� ���� �� �
� 1
�� ���
 �
��
� �������� �
� 	������� �
������
���� !����� si �
� ���� �$� �
��
� �
�$ �
� �����$��� �������� ����
��� qi�

��� �
����� ���+�� �� ���������� ����������� �/�F0�� �� Nnx = 400$ ��� ������� 
����
���������� �/�F0�� ��� 	�������� nx = 44 ��������$ ���� ���� ns �����������$ �� ����
nw−ns = 604−404 = 200 = nq �=����
� 	������ �� ����	�� ������4 ��� 
����� ��� ��� ><:
�����
�� �������� 
����+��� �� ��� �������� �� 
��+��� P (x0)$ (��� x0 �����	��� �� �F�4�$ ���

��������	 �� &����� 7454
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������	 !

����� ���
���
�
 ��� �"# �������

�
�� �
����
 �� ��	�� �� �
� �
���
����� �� ��
 ��	�
���� 	��
��� ��
 �
� �������� ��
����
��
��� ����	�"����� �
����	� �� 
������	�� <� $��� �
�
���
� �������
 ��� ���� ���
������ �8� �
����	 ��� � ��
�	���
�"�� ��	��� �� ����	�"����� �
����	�

P (t) : min
w ∈ R

nw
F (t, w) ���=��� ��

{
G(t, w) = 0
H(t, w) ≥ 0

$��
 C2 ��������� F : R × R
nw → R  G : R × R

nw → R
nG ��� H : R × R

nw →
R

nH � ������ ���� �
�� �
� �����
 
�	����� ��
�	���
 t 
�� �� 
������� �� �
� �
������
��	� t� (� ��� �� �
���
� �� �� � ��� ��	�������� ������ ��
 �
� ������� !���� x0 �
��
����������
�� ���$��� ��#�
��� ����	�"����� �
����	� P (x0) �� �
�� �
��� �� �
� 	�������
�
������ ��
�	���
�"������ �
� !����
 w ��� �� 
���
��� �� �
� 	������� �
������ !�
������
q0, . . . , qN−1, s0, . . . , sN �

<� $��� 1
�� 
�!��$ �� .��� I�F ��	� ���������� $
��
 ����$ �� ������ �� � ����� w∗(t) ��
� ������� �������� �� �� ����	�"����� �
����	 P (t) ��
 1��� t� (� .������ I�/ $� $��� 
�!��$
� 
����� �
�	 ��
�	��
�� ����	�"����� �
�� ����$� �� �������� �
�� �
� �������� 	�������
w∗(t) �� ���������� ��� �����$��� ��#�
�������� $��
 
������ �� t �� ��� D������E ������
w∗(t) �
�� ������� 
��
�
 	��� ����������� �
� �����#�
�������� ������ �
� �
��� ������
$
�
� �
� ��� �� ������� ���'�������� �
������

�
� �� ������ D.�'������� M���
���� �
��
�		���E �.M�� 	��
�� �� �� ���
���
 ��
1�� � ������� 	���	�	 w∗(t) �� � �
����	 P (t) ��
 1��� 
�	����� ��
�	���
 t� (� $���
�� ���
������ �� .��� I�I� <� ���� �
�$ �� .��� I�4 �
�� ��� �
������� ����
��
	 �
� ��
������ �!��� ?������ �@" �����	  $
�� ������� �� �� ����	�"����� �
����	 P (t+ ε) ���
��������"�� $��
 �
� �������� �� �
����	 P (t) �� ���� �� �
�!��� � �
�������� ��
 w∗(t+ε) �
��
�� �� O(‖ε‖2) �!�� �� �
� ��� �� ������� ���'�������� �
����� �� �
� ����� t� �
�� �������
���
�
���
�� 
�$�!�
 
�'��
�� � ����
� 
���
	������� �� �
� ����	�"����� �
����	� $
��
 �����
��
����� �� �
� ���� �� �
� ������� !���� �	������� ��
����� � �
����� �����
� �� �
� 
������	�
���
����� ���
���
 �
������� �� �
��� 4�

IH



$, ����� ���
���
�� ��� �%&  ��!���

*"! .�	�� ��
�����
/ ��
��
��
�

3�
 ���������� ���!������� ��� �� 1
�� �
�� �
� ��
�	���
 t ��� �
��� � ������ �8� �
����	

min
w ∈ R

nw
F (w) ���=��� ��

{
G(w) = 0
H(w) ≥ 0

�I�F�

$
�
� �
� ��������� F : R
nw → R  G : R

nw → R
nG  ��� H : R

nw → R
nH �
� �$���

������������ ��#�
���������
8�� �� ����
���"� �
� ��1������ �� �
� �
������ ∇F �� � �����
 �������� F �� �
� �
������

∇wG �� !����
 ��������� G �� �
� �
������� �� �
� :������� 	��
��

∇wG(w) :=
(
∂G
∂w

(w)
)T

.

& �����+�� 
���� �� � ����� w ∈ R
nw �
�� �����1�� G(w) = 0 ��� H(w) ≥ 0� & ����� �������

�� �
� �8� �I�F� �� � �������� ����� w∗ $
��
 
�� �
� �
���
�� �
�� F (w∗) ≤ F (w) ��
 ���
�������� ������ w �� � ����
��

��� �� w∗� & ������ ����� ������� �����1�� F (w∗) < F (w)
��
 ��� ����
��
��� �������� ������ w 	= w∗�
%���
� ���2������ ����������� �� � �������� ����� w �
� �
��� ��	������� Hj(w) �� H(w)

$��
 Hj(w) = 0� <� $��� �����	� �
� �'������ �����
����� ��� �
� ����!� ���'�������� �� �
����� w ��
� �� ������ �
� ����
� ���� �� � ��	����� !����
 �������� �� ����
� �����������>

G̃(w) :=

(
G(w)

Hact(w)

)
.

���� �
�� �
� ����!� ��� 	�� �� ��#�
��� �� ��#�
��� �������� ������ w�
������� ������ �
� �������� ������ w �
�� ������� �
� ��������� �
�� �
� :������� ��

�
� ����!� �����
����� ∇G̃(w)T  
�� ���� 
��) ���� �
�� ��� 
�$� �� ∇G̃(w)T �
� �����
��
������������

�� ��!�������� ����� ����	����� �� �
� �
������ �� �����
����� �� �� !�
� ������ �� ���
��
���� �
� 0��������� �����
���� !����
� λ ∈ R

nG ��� μ ∈ R
nH  �
�� �
� ���� ������ �	;����


����+��� �� �
�� ��

������ ���������� �� �
� �����
���� ��������� G ��� H  ��� �� ��1��
�
� �� ������ 0��������� �������� L ��

L(w, λ, μ) := F (w)− λTG(w)− μTH(w). �I�/�

<� $��� ��$ ����� � !�
���� �� �
� A������A���������� �������
� ���������� ��
 �����
����	����� �� � ����� w∗� �
��� ���������� 
�!� ���� 1
�� ��
�!�� �� 2�
��
 �� FGIG O2�
IGP
R ��� ������������� �� 2�
� ��� ���)�
 �� FGHF O2�HFP� �& �
��� �� �
� �����$��� �$�
�
��
�	� ��� �� ����� �� !�
������ ��� �������) �� ��������
 �
��
�		��� ���� ,�"��
�
��� .
���� O,.JGP �
 ������� ��� <
��
� O�<GGP�� 3�
 �
�!��� $� $��� 
���
��� ��

��������� �� 
�����
 ������ �����



$3� ����� ���
���
�� ����
�
��� $#

�!����� $3� :/����!�/�!�����-�� ����
�
���<
�� � ������� 
���� w∗ ∈ R

nw �� � ����� �
����� �� ��� 10" �I�F�$ ���� ����� �!��� ���2��
0������� �����
���� 
������ λ∗ ∈ R

nG ��	 μ∗ ∈ R
nH �� ���� ��� ���
�� (w∗, λ∗, μ∗) �����B��

��� �����(��� ��������� ���	������C

∇wL(w∗, λ∗, μ∗) = 0 �I�I��

G(w∗) = 0, �I�I��

H(w∗) ≥ 0, �I�I��

μ∗ ≥ 0, �I�I��

μ∗
j Hj(w

∗) = 0, j = 1, 2, . . . , nH . �I�I��

& �
���� (w∗, λ∗, μ∗) �
�� �����1�� �
� 2�
��
�2�
�����)�
 ���������� �I�I� �� ������ � 22�
������ ���� �
�� �
� �� ������ ���
����������� ���	����� �I�I�� �	����� �
�� μ∗

j = 0 ��
������!� �����
����� Hj(w

∗) > 0� &� ����!� �����
����� Hj(w
∗) = 0 �
� ��

���������

	��������
� μ∗ 	�� ���� ����	� "�
�� &���!� �����
����� $��
 "�
� 	��������
� �
� ������
(����� ����!� ��� �
��� $��
 ������!� 	��������
� �������� ����!�� 8�� �� �����!��� �
�
����!� ��� !����
 �������� Hact(w∗) �� � 22� ����� (w∗, λ∗, μ∗) ���� ��� ��
����� ��� $��)��
����!� ��
�� ���� ��� �� $
���

Hact(w∗) =:

(
Hs.act

Hw.act

)
(w∗).

& 22� ����� ��
 $
��
 ��� ����!� �����
����� �
� ��
����� ����!� �� ���� �� ������� �
� ������
���
����������� ����������

%������
� &��"����

7�� ������� ����� �� ����	�"����� �
����	 ����� � �
��	����� 
��� �� �
� .M� �����

��
	� �
�� �
� �
������� ����
 �� �
�� �
����
 ��� ����
!�� ��	� 
�	�
)�> 2��	����� 
���
����� �M�� �
� �
��� ����	�"����� �
����	� �I�F� �
�� 
�!� � '���
���� ��=����!� ��������
��� �����
 �����
���� ��������� ���� �
����	� �� �
� ����

min
w ∈ R

nw

1

2
wTAw + aTw ���=��� ��

{
b+Bw = 0
c + Cw ≥ 0

�I�4�

$��
 !����
� a ∈ R
nw  b ∈ R

nG c ∈ R
nH  ��� 	��
���� A ∈ R

nw × R
nw  B ∈ R

nG × R
nw  

��� C ∈ R
nH × R

nw �

& !�
���� �� 
��
�� ��!������ ����
��
	� �� ���!� M�� ������ ��� �
� ������� �� .M�
���� 	��
��� �� �� � ��
�� ��
� ��� �� �
� ���� �
�� M�� �
� !�
� ��������� ���!�����



$. ����� ���
���
�� ��� �%&  ��!���

�
� ���������� �I�I� ��
 � ����� (w∗, λ∗, μ∗) �� �� � 22� ����� �� �
� ���!� M� �
�>

Aw∗ + a− BTλ∗ − CTμ∗ = 0

b+Bw∗ = 0,

c+ Cw∗ ≥ 0,

μ∗ ≥ 0,

μ∗
j (cj + Cj,·w∗) = 0, j = 1, 2, . . . , nH .

3�
 M�� $��
��� ���'������� �
� 22� ���������� ��� �� $
����� �� �
� ��	���� ��
	(
A BT

B 0

) (
w∗

−λ∗

)
=

(−a
−b

)
.

�
� 	��
�� �� �
� ���� 
��� ���� �� ������ �
� 22� 	��
��� (� �� ��!�
����� �� B 
�� ����

��) nG ��� A �� ������!� ��1���� �� �
� ���� ����� �� B �� ������ �� �
� �����$��� ��		��
�
� ��!�
�������� �� �
� 22� 	��
�� �	����� �
�� �
� �'������ �����
����� M� 
�� � ���'��
22� ������

����� $3� :��(���
�
�
�� �
 �!� //�  ���
	<
0�� �� ������ ���� A ∈ R

n × R
n �� � ��������� �����! ��	 B ∈ R

m × R
n ��� ���� ����

m ≤ n4 0�� �� ����������� ������ ���� A �� 
�����
� 	�B���� �� ��� ���� �
��� �� B4 ����
��� �����! (

A BT

B 0

)

�� ��
����+��4

& �
�
� �
��� �� �
�� ��		� ��� �� ����� �� ������� ��� <
��
� O�<GG 8�		� FL�FP�
�
� ��������� ��� ���'������ �� � 22� ����� ��� ���� �� �
�$� ��
 ���'������ ����

��
����� M�� ���� ����
 �
� �$� ���������� ����	������ �
�� �
� �������� ��� �� �����	��� 
��� �
�� �
� ��	����� �����
���� 	��
�� (BT , CT ) 
�� ���� 
��) nG+nH � <� $��� ��������

���
 � ���'���� ���!���� '���
���� �
��
�		��� �
����	 �� �
��
�	 I�4�

3�
�� 
�$�!�
 ��� �� 
�!��$ ��D����� ���������� ��
 � 22� ����� �� �� � ��
��� �����
����	�"�
�

�!����� $3$ :�����" ������ ����� ��@�
��� ����
�
���<
��D����� ���	������ ��� � 
���� w∗ ∈ R

nw �� +� � ������ ����� ��������� �� �I�F� ���C

• w∗ �� � ������� 
����$

• ����� �!��� �����
���� 
������ λ∗ ∈ R
nG ��	 μ∗ ∈ R

nH $ ���� ���� (w∗, λ∗, μ∗) �� �
AA� 
����$ ��	



$3� &
���A
�� �
5�����
���� ���������� �� &��������
��� $�

• ��� ?������ �����! ∇2
wL(w∗, λ∗, μ∗)� �� 
�����
� 	�B���� �� ��� ���� �
��� N s �� ���

���������	 �������� ����
� �����������

G̃s(w∗) :=
(

G
Hs.act

)
(w∗),

�4�4$ ��� �
��� �������� 
����� Δw ∈ N s$

N s := {Δw ∈ R
nw |∇wG̃

s(w∗)TΔw = 0},
�� ���	� ����

ΔwT ∇2
wL(w∗, λ∗, μ∗) Δw > 0.

�����-8 �
� �������� ���������� �� �
� �
��
�	 �
� ������ D��
���E ������ �
��
 ����
����� ���������� ������� $��)�
 �������� ���������� ������ $
��
 
�'��
� ���� �
� ������!�
��1�������� �� ∇2

wL(w∗, λ∗, μ∗) �� � ����

N w := {Δw ∈ N s|∇wH̃
w.act(w∗)TΔw ≥ 0}.

<� 
�!� �
���� �
� ��
��� ��
	������� �� �� ��
�� ��� �
�� �
� ��
��� ������ �
��
 ����
����� ���������� ��
 ����	����� �� ������ �� �
��
�	 I�I 
�!� �
� ����
���� �
���
�� �
��
� 22� ����� (w∗, λ∗, μ∗) �
�� �����1�� �
�	 �� ������ ������� ��
��
������� �� �
� �
����	
��������� F  G ��� H  �� $� $��� ��!�������� �� �
� �����$��� ��������

*"% ���	� ��� $�0���

��#�� $���
��
	� �
 ���
'�#��


��
�

8�� �� ��$ �������
 � ��
�	���
�"�� ��	��� �� ����	�"����� �
����	� P (t)

min
w ∈ R

nw
F (t, w) ���=��� ��

{
G(t, w) = 0
H(t, w) ≥ 0

�I�L�

$
�
� �
� ��������� F : R × R
nw → R  G : R × R

nw → R
nG  ��� H : R × R

nw → R
nH

�
� C2� <� $��� �� ��!�������� 
�$ �
� �������� ������ (w∗(t), λ∗(t), μ∗(t)) ������ �� �
�
!�
����� t �
 �� �
� �������� �� ��
�	��
�� ����	�"����� $� $��� �� ��!�������� �
� ���

Σloc := {(t, w) ∈ R × R
nw |w �� � ����� 	���	�"�
 ��
 P (t))}.

<� 
���
��� ��
 ��������� �� �
� ������ �� ������ (t, w∗(t)) �
�	 Σloc �
�� ������� �
� ��
���
������ �
��
 �������� ���������� �� �
��
�	 I�I� �
� 	��� 
����� �� �
�� ������� �� �
��

����� �� 	�� ��� ��������� ∇2
wL := ∂2L

∂w2 �



+7 ����� ���
���
�� ��� �%&  ��!���

�
� ������ (w∗(t), λ∗(t), μ∗(t)) ��
	 � ���������� ��� �����$��� ��#�
�������� ��
!� �� �
��
������ �� �� ���������� ���
����� ����	����� �� �����1��� 3�
 � 	��
 	�
� �������� �������
���� �� �
� �
���
���� �� �
� ��� Σloc $� 
���
 �� �
� ���) �� ��
�	��
�� ����	�"����� ��
*����� *��

� 6��'��" ��� :����� O*6:G0P�

,���
� $� ��
	����� �
�� �
��
�	 $� $��� ��!� � ��	��� ���	��� ��
 ������
������

*	����� $3� :&
���A
�� �
5�����
��
�
��<
6����	�� ��� ������ P (t) �� ���
�� �
���������� 
��+����

min
w ∈ R

1

2
w2 ���=��� �� −t + sinh(w) ≥ 0

��� �������� ���
�� w∗(t), μ∗(t) ��� ������ +� ����	 �� +�

w∗(t) = max(0, arcsinh(t)),

μ∗(t) =
w∗(t)

cosh(w∗(t))
.

����� ���
�� ��� ���������� ��	 
����(��� 	�=�������+�� (��� 
����(��� 	���
���
��

∂w∗

∂t
(t) =

{
0, �� t < 0,
cosh(arcsinh(t))−1, �� t > 0,

∂μ∗

∂t
(t) = cosh(w∗(t))−1(1− tanh(w∗(t)))

∂w∗

∂t
(t).

�
� �
��
 �� w∗(t) �� �������� �� 3���
� I�F� +�$ ��� �
� 	������� �� �
�
����
�"�� ��
�
� !������� �� �
� ���������� ��� ������#�
�������� ����� w∗(0)T

<� $��� ��$ ��
	����� �
� ����� �
��
�	 �� �
�� ������� $
��
 �� �
�!�� �� &������� ��
& !�
� ��	���
 ��
	������� �� �
� �
��
�	 ��� � �
��� ��� �� ����� �� O*6:G0P ��
���

�	 I�I�4 ��� ��
����
� I�I�F �/���

�!����� $3+ :��� �
��� �
5�����
��
�
��<
6����	�� � 
�����������	 ������ �� �
���������� 
��+���� P (t) �� 	�B��	 �� �I�L�4 0��
�� ������ ���� (� ��
� ����	$ ��� 
��+��� P (0)$ � AA� 
���� (w∗(0), λ∗(0), μ∗(0)) ����
�����B�� ��� ��D����� �
�������� ���	������ �� ������� 545$ (��� �������� ��	 (����� ����
�
��� 
������ Hs.act ��	 Hw.act4
0�� �� ����������� ������ ���� ��� �������� (δw∗, δλ∗, δμs.act

∗ , δμw.act
∗ ) �� ��� �����(���

2��	����� 
������ 8(��� ��� 	���
���
�� �
������	 �� ��� �������� 
���� (w∗(0), λ∗(0), μ∗(0))
��� t = 09

min
δw∈�nw

1

2
δwT ∇2

wL δw +

(
∂

∂t
∇wL

)T

δw

���=��� ��

⎧⎨
⎩

∂G
∂t

+∇wG
T δw = 0

∂Hs.act

∂t
+ (∇wH

s.act)
T
δw = 0.

∂Hw.act

∂t
+ (∇wH

w.act)
T
δw ≥ 0.

�I�J�



$3� &
���A
�� �
5�����
���� ���������� �� &��������
��� +�

−5 0 5
−3

−2

−1

0

1

2

3

w
* (t)

t

3���
� I�F> *
��
 �� �
� �������� 	������� w∗(t) �� ���	��� I�F�

�����B�� ��� ������ ���
����������� ���	����� ��� ��� �����
���� 
����� δμw.act
∗ �� ��� ���

�2������ �����������4

���� ����� �!���� �� ε > 0 ��	 � 	�=�������+�� ���
� v : [0, ε) → R
nw × R

nG × R
nH $

t 
→
⎛
⎝w∗(t)

λ∗(t)
μ∗(t)

⎞
⎠

�� AA� 
����� ���� ������� ��� ��D����� �
�������� ���	������ �� ������� 545 ��� ���
������
��	��� 
��+���� P (t)$ t ∈ [0, ε)4 %� t = 0 ��� ��� ��	�	 	���
���
� �� ���� ���
� ��
��
�� +�

lim
t→0,t>0

1

t

⎛
⎝w∗(t)− w∗(0)

λ∗(t)− λ∗(0)
μ∗(t)− μ∗(0)

⎞
⎠ =

⎛
⎜⎜⎜⎜⎝

δw∗
δλ∗⎛

⎝δμ∗

⎞
⎠

⎞
⎟⎟⎟⎟⎠ :=

⎛
⎜⎜⎜⎜⎝

δw∗
δλ∗

δμs.act
∗

δμw.act
∗
0

⎞
⎟⎟⎟⎟⎠ .

�����- �8 ���� �
�� �
� M� �I�J� ��$��� 
�� � ���'�� �������� (δw∗, δλ∗, δμs.act
∗ , δμw.act

∗ )�
�
�� �� ��� �� �
� ������!� ��1�������� �� ∇2

wL �� �
� ���� ����� �� �
� �'������ �����
����
	��
�� ∇wG̃

sT  �
� ����������� �� �
� M� �δw = 0 �� ��������� ��� �
� ���� �
�� �
� �����
����
	��
�� (∇wG,∇wH

s.act,∇wH
w.act) 
�� ���� 
��) ��� �� �
� ����	����� �
�� w∗(0) �� � 
�����


������



+� ����� ���
���
�� ��� �%&  ��!���

�����- �8 �
� ���� ��
�
�
 
�'��
�	��� �� �������� �� �
� �������� ���������� �� �
��
�
�	 I�I �� �
� R ���
����� R ����	����� �� ��
��� ��	���	����
��� �� �
� �������� �� �
�
M� �I�J�� (� �� ������ �� ���
����� �
�� �
�
� ������ �� ε > 0 �� �
�� �
� ����!� ��� �� �
�
����� ��������� �� P (t) ���� ��� �
���� ��
 t ∈ (0, ε)�

�����- $8 �
� �
��
�	 �
���� ���� �
� ��������� �� �
� D
��
�E 
��� ���� �� �
� ��������
��
!� (w∗(t), λ∗(t), μ∗(t)) �� �
� ����
!�� t ∈ [0, ε)� (� �
� ��
��� ��	���	����
��� ���������
�� ���� �����1�� ��
 �
� �������� (δw′

∗, δλ
′
∗, δμ

s.act
∗

′
, δμw.act

∗
′
) �� �� ��!�
��� !�
���� �� �
�

M� �I�J� ��	��� ��

min
δw∈�nw

1

2
δwT ∇2

wL δw +

(
− ∂

∂t
∇wL

)T

δw

���=��� ��

⎧⎪⎪⎨
⎪⎪⎩

(−∂G
∂t

)
+∇wG

T δw = 0(
−∂Hs.act

∂t

)
+ (∇wH

s.act)
T
δw = 0.(

−∂Hw.act

∂t

)
+ (∇wH

w.act)
T
δw ≥ 0,

�I�K�

�
�� ���� �
� D����E 
��� ���� �������� ��
!� t ∈ (−ε′, 0] 
→ (w∗(t), λ∗(t), μ∗(t)) ε′ > 0 
������ $��
 �
� ��� ����� ��
�!���!�

lim
t→0,t<0

1

t

⎛
⎝w∗(t)− w∗(0)

λ∗(t)− λ∗(0)
μ∗(t)− μ∗(0)

⎞
⎠ =

⎛
⎜⎜⎜⎜⎝

−δw′
∗

−δλ′
∗

−δμs.act
∗

′

−δμw.act
∗

′

0

⎞
⎟⎟⎟⎟⎠ .

�
�� �� �� �		������ �����'����� �� �
� �
��
�	 ������� �� �
� 
�!�
��� �
����	 ��	���
P ′(t) := P (−t)�

�����- +8 (� �
� 
���
���� ����� (w∗(0), λ∗(0), μ∗(0)) ������ �����1�� �
� ��
��� ��	����
	����
��� ��������� �
�� �� $��)�� ����!� �����
����� Hw.act ����� ��� �
� �
������ ���
��!�
��� M� �I�J� ��� �I�K� �� ��� ������� ��� ���'������ �����
������ �
�
���
� �
�
����	����� �� ��
��� ��	���	����
��� �� �
� M� �������� �� �
�!����� �����1�� ��
 ���

�
����	� ��� �
� �������� ��
!� ������ �� ���
 ����� ��
 t ∈ (−ε′, ε)� 3�
�
�
	�
� �
�	
��		��
� �����$� �
�� �
� M� ��������� �������� ��� �� � ���� �
����� ⎛

⎝ δw∗
δλ∗

δμs.act
∗

⎞
⎠ =

⎛
⎝ −δw′

∗
−δλ′

∗
−δμs.act

∗
′

⎞
⎠ ,

�� �
�� �
� ��
�!���!� �� �
� ��
!� t ∈ (−ε′, ε) 
→ (w∗(t), λ∗(t), μ∗(t)) ������ ��� �� ��������
��� �!�
�$
�
� ���� �� �
� ����� t = 0�



$3� &
���A
�� �
5�����
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��� +$
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−3

−2

−1

0

1
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w
* (t)

t

δ w* ⋅ t 

−δ w’* ⋅ t 

3���
� I�/> �$� ����� ��
�!���!� �� �
� �������� 	������� w∗(t) �� ���	��� I�F�

*	����� $3� :��� �
��� �
5�����
��
�
��<
0�� �� ����� �����	�� ��� ������ P (t) �� ���
�� �
���������� 
��+���� �� �!��
�� 5434
&�� t = 0 ��� ��������� �������� �� w∗(0) = μ∗(0) = 0$ ��	 ��� 2��	����� 
����������
��+
��+��� �I�J� �� �� ������� 54: ��

min
δw ∈ R

1

2
δw2 ���=��� �� −1 + δw ≥ 0,

(��� ��� ��������

δw∗ = 1 ��	 δμw.act
∗ = 1,

(���� ������
��	� �� ��� )�����/ ���	 ��	� 	���
���
�� �� w∗(t), μ∗(t) ��� t → 0, t > 04

6��
������$ ��� ��
����	 2��	����� 
���������� ��+
��+��� �I�K� ��

min
δw ∈ R

1

2
δw2 ���=��� �� 1 + δw ≥ 0,

(���� ��� ��� ��������

δw′
∗ = 0 ��	 δμw.act

∗
′
= 0.

���� �������� ������
��	� �� ��� 8��
����	9 	���
���
�� �� w∗(t), μ∗(t) ��� t → 0, t < 04 ���
�(� ��	�� �� ��� 	���
���
� ��� ����������	 �� &����� 5474



++ ����� ���
���
�� ��� �%&  ��!���

*"* ��1'�

��� 2'����
�	 ���������
�

.�'������� M���
���� �
��
�		��� �.M�� �� �� ���
���!� ���
��'�� �� 1�� � 22� �����
(w∗, λ∗, μ∗) �� �� �8�

min
w ∈ R

nw
F (w) ���=��� ��

{
G(w) = 0
H(w) ≥ 0

.��
���� $��
 �� ������� ����� y0 = (w0, λ0, μ0) �� .M� 	��
�� ���
����

yk+1 = yk + αkΔyk �I�G�

$
�
� αk ∈ (0, 1] ���

Δyk =

⎛
⎝Δwk

Δλk

Δμk

⎞
⎠ :=

⎛
⎝ Δwk

λ̃k − λk

μ̃k − μk

⎞
⎠

�� �������� �
�	 �
� �������� ����� (Δwk, λ̃k, μ̃k) �� �
� �����$��� '���
���� �
��
�	

min
Δw ∈ Ωk

1

2
ΔwT Ak Δw + ∇wF (wk)

TΔw

���=��� ��

{
G(wk) +∇wG(wk)

TΔw = 0
H(wk) +∇wH(wk)

TΔw ≥ 0

�I�F0�

�������� .M� 	��
��� ��#�
 	����� �� �
� �
���� �� �
� ���������
 αk �
� �
���� ��
�
� �� ������ +������ 	��
�� Ak ��� �
� �
���� �� �
� ��� Ωk ⊂ R

nw � �
� ���
���� yk
����
���� �� �'� �I�G� ��
	 � ��'����� �
�� �� �������� �� ���!�
�� ��$�
�� � 22� �����
y∗ = (w∗, λ∗, μ∗) �� �
� �8�� (� �
������ �
� ���
������ �
� ������� $
�� � �
������1��
���!�
����� �
���
��� �� ���1�����

<� $��� �� �
�� ������� ���
����� ���� ��� .M� 	��
�� �
�� �� �
��
�������� !�
� �������
���> �
� ���� ���� ����� +������ .M� 	��
�� �
�� $�� 1
�� ���
������ �� <����� O<��LIP�

$�$��  �	 ���� ��	# ,/��� *	����� �0� �	���


�
� ���� ���� ����� +������ .M� 	��
�� �� ����������
�� �� �
� �
����� αk := 1 Ωk := R
nw  

��� 	��� �	��
���� 

Ak := ∇2
wL(wk, λk, μk).

�� ��� $
� �
�� �
���� �� ��!��������� ��� �� 1
�� 
���
� �� �'������ �����
����� �
����	�
(� �
�� ���� �
� �������
� ����	����� ���������� ��
 �
� M� �������� (Δwk, λ̃k) �
�

∇2
wL(wk, λk)Δwk +∇wF (wk)−∇wG(wk)λ̃k = 0,

G(wk) +∇wG(wk)
TΔwk = 0.



$3$ ��4����
�� %������
� &��"����
�" +'

,� ������������ λ̃k = λk +Δλk $� ��� $
��� �
�� �'��!������� ��

∇wL(wk, λk) +∇2
wL(wk, λk) Δwk −∇wG(wk) Δλk = 0,

G(wk) +∇wG(wk)
T Δwk = 0

$
��
 ��

������� �� �
� ��$����9��
��� ���
����� 
���

(∇wL(wk, λk)
G(wk)

)
+

∂

∂(w, λ)

(∇wL(wk, λk)
G(wk)

) (
Δwk

Δλk

)
= 0,

��
 �
� �������� �� �
� 22� �����	

(∇wL(w, λ)
G(w)

)
=

(∇wF (w)−∇wG(w)λ
G(w)

)
= 0.

�
�� �'��!������ �
�!�� �
�� �
� ���� ���� ����� +������ .M� 	��
�� �
�$� �
� ��	�
��������� ����� ���!�
����� ��
�!���
 �� �
� ��$����9��
��� 	��
�� �� �
� !������� ��
� �������� (w∗, λ∗) �� �
� 22� �����	� ���� 
�$�!�
 �
�� �� �� �������
� �� ���
� $��

� ���� ������� ����� ��� ���� ��
 �
� �
�	�� !�
������ w ��� ���� ��
 �
� 	��������
� λ�
3�
�������� �� ��
�� ��� �
�� �
� ������� ����� λ0 �� �
� 	��������
� �� ��� �� �
����� �� �
�
������� ����� w0 ��
 �
� �
�	�� !�
������ ��� �� �
� ������� ��
����
� �� �
� 22� �����	�
�
�� �� ���
����� �� �
� �����$��� �
��
�	 ���
 � �
��� $� 
���
 �� 3����
�
 O3��KJP��

�!����� $3' :���(��"���� �
 �!� *	��� ?���
�� �%&  ��!��<
�� � 
���� (w∗, λ∗) �����B�� ��� ��D����� �
�������� ���	������ �� ������� 545 �� ��
�'������������
����� 10" 
��+���$ ��	 �� w0 �� ��D������� ����� �� w

∗$ ��	 �� λ0 �� ������
���� ���� ��� �����! ( ∇2

wL(w0, λ0) −∇wG(w0)
∇wG(w0)

T 0

)

�� ��
����+��$ ���� ��� ��2����� �� �������� ��������	 +� ��� ���� ���
 �!��� ?������ �@"
�����	$ �4�4$ ��� ��2����� (wk, λk) �� �������� ���� �����B��( ∇2

wL(wk, λk) −∇wG(wk)
∇wG(wk)

T 0

) (
wk+1 − wk

λk+1

)
= −

( ∇wF (wk)
G(wk)

)

���
����� 2�2��	��������� �� (w∗, λ∗)$ �4�4$

∥∥∥∥
(

wk+1 − w∗

λk+1 − λ∗

)∥∥∥∥ ≤ C

∥∥∥∥
(

wk − w∗

λk − λ∗

)∥∥∥∥
2

(��� ���� �������� C ≥ 04



+, ����� ���
���
�� ��� �%&  ��!���

$�$�� ����-	 �	� �	�	���������

(� �
��
�	 I�H ����� ���!�
����� �� ���� �
�!�� ��
 �'������ �����
����� �
����	�� (� �
�
�
������ �� ���'������ �����
����� 
�$�!�
 $� 	�� ����	� �
�� ����� �� �
� �������� �
�
����!� ��� ���� ��� �
���� �� �
�� �
� 
�������� ��
 �'������ �����
����� �
����	� �� �����
����������� �
�� ����	����� �� !���� �� �
� !������� �� � 22� ����� (w∗, λ∗, μ∗) �
�� ������
1�� �
� ������ �
��
 �������� ���������� �� �
��
�	 I�I ��	 �
� ��
��� ��	���	����
���
����������

�
� ��
����
 �� �
� M� ��
	������� �I�F0� ��
��� �
� .M� ���
������ �� �
�� �� ����$�
�� ����
	��� �
� 	��������
� ��� �
� ����!� ��� $��
��� �
��
 )��$����� �� �
�	� �� �
�$
�
�� ��� �� ����	� �
�� $� 
�!� ����� � 22� ����� y∗ = (w∗, λ∗, μ∗) �
�� �����1�� �
� 1
��
�
��
 �������
� ���������� �� �
��
�	 I�F>

∇F (w∗)−∇wG(w∗)λ∗ −∇H(w∗)μ∗ = 0

G(w∗) = 0

H(w∗) ≥ 0

μ∗ ≥ 0

μ∗
j H(w∗)j = 0, j = 1, 2, . . . , nH .

8�� �� ��$ ����	� �
�� $� ��
	����� �
� 1
�� M� I�F0 ��
 �
� ����
	������� �� Δy0 
��������"�� �� y0 = y∗ $��
 ��	� +������ 	��
�� A0� �
� �������
� ���������� �� ����	�����
��
 �
� M� �������� (Δw0, λ̃0, μ̃0) �
�

A0 Δw0 +∇F (w∗)−∇wG(w∗)λ̃0 −∇H(w∗)μ̃0 = 0

G(w∗) +∇wG(w∗)TΔw0 = 0

H(w∗) +∇wH(w∗)TΔw0 ≥ 0

μ̃0 ≥ 0

μ̃0,j (H(w∗) +∇wH(w∗)TΔw0)j = 0, j = 1, 2, . . . , nH .

(� ��� �� ���� �
�� (Δw0, λ̃0, μ̃0) = (0, λ∗, μ∗) �����1�� �
��� ���������� ��� ����	���
������!� ��1�������� �� A0 �� �
� ���� ����� �� �
� �'������ �����
����� ∇wG(w∗)T  �
��
�������� �� ���� �
� ���'�� ����	�	 �� �
� M�> 	��������
� ��� ����!� ��� �
� ��������
�
�	 )��$����� �� w∗ ����� <� 	�� �
�
���
� ����
 �
�� �!�� �� � ����
��

��� �� �
����� ����	�	 w∗ �
� 	��������
� ��� ����!� ��� ��� �� ����
	���� �� �
� .M� ����
��
	 
����
 � $��) ������!� ��1�������� ����	����� �� �
� 	��
�� A0� �
�� ��� ������ ��
�
�!�� ����
 �
� ��������� �
�� (w∗, λ∗, μ∗) �����1�� �
� ������ �
��
 �������� ����������
�� �
��
�	 I�I ��� �
� ��
��� ��	���	����
��� ���������� 3�
 � �������� ���������� ��� �
�
��� $� 
���
 �� 9������� O9��J4P�

*", �2� ��� � ������
������ ���#��� +����/

8�� �� �� �
� ��'��� �������
 �
� ��
�	���
�"�� ��	��� �� ���	����� ����	�"����� �
����	�



$3+ �%& 
�� � &��������
;�� &������ 0��
�� +#

P̆ (t̆) : min
t ∈ R , w ∈ R

nw
F (t, w) ���=��� ��

⎧⎨
⎩

t− t̆ = 0
G(t, w) = 0
H(t, w) ≥ 0

�I�F4�

$
�
� �
� ��������� F : R × R
nw → R  G : R × R

nw → R
nG  ��� H : R × R

nw → R
nH

�
� �� C2� �
�� ��	��� �� �'��!����� �� �
� ��	��� P (t) �� �
����	� �I�L� �� .������ I�/ 
$��
 �
� ���� ��#�
���� �
�� t �� ��$ ���
������ �� �� ���������� !�
����� $
��
 �� 1���
�� �
� ���������� �����
���� t − t̆ = 0� �
�� �������� �� t �� �
� .M� !�
������ 
�� �
�
�����'����� �
�� ��
�!���!�� $��
 
������ �� t �
� �!������� �� �
� .M� ����
��
	 $
��

����$� �� ��
��
	 �
� �
�������� ���$��� ��#�
��� ����	�"����� �
����	� �� ���
 � $��
�
�� � 1
�� �
��
 ���
���	����� �� �
� �������� 	������� �� �� �
��
�	 I�4 �� �
�!���� ��
�
� 1
�� ���
����

8�� �� ��
 �
�!��� ��1��

w̆ :=

(
t
w

)
, λ̆ :=

(
λt

λ

)
, ��� Ğ(w̆) :=

(
t− t̆

G(t, w)

)
,

�� �
�� �
� 8��
������ �������� L̆ �� �
����	 P̆ (t̆) ��� �� $
����� ��

L̆(w̆, λ̆, μ) := F (w̆)− λ̆T Ğ(w̆)− μTH(w̆)
= F (t, w)− λt(t− t̆)− λTG(t, w)− μTH(t, w)
= L(t, w, λ, μ)− λt(t− t̆),

$
�
�

L(t, w, λ, μ) = F (t, w)− λTG(t, w)− μTH(t, w)

�� �
� 8��
������ �������� ��
 �
� ��
�	���
�"�� ��	��� �� ����	�"����� �
����	� P (t) ��
.������ I�/�

<� $��� ��$ �
�$ �
�� �
� 1
�� ���� ���� ����� +������ .M� ���
��� ��
 �
� ����
���
�
����	 P̆ (ε) $
�� ���
��� �� �
� �������� (w̆∗(0), λ̆∗(0), μ∗(0)) �� P̆ (0) �� ������� 
������
�� �
� ��� ����� ��
�!���!� �� �
� �������� 	������� (w∗(·), λ∗(·), μ∗(·)) �� �
� �
����	�
P (t) �� �� �
��
�	 I�4�

�!����� $3, :0
��� ����� &���
��
�� �� *	��� ?���
�� �%&<
0�� �� ������ ���� (� ��
� ����	 � AA� 
���� (w̆∗(0), λ̆∗(0), μ∗(0)) �� 
��+��� P̆ (0) ����
�����B�� ��� ��D����� �
�������� ���	������ �� ������� 5454 �� � ���� ���
 �@" ���������
(��� �!��� ?������ ��� ��� �������� �� ��� 
��+��� P̆ (ε)$ (��� ε > 0 ��D������� �����$
�� ������	 (��� ���� �������� �� �� ������� �����$ ���� ��� ������
��� 
��� �� ��� B��� �@"
���
$ (Δw,Δλ,Δμ)$ �� �	������� �� ε ����� ��� ��� ��	�	 	���
���
� �� ��� �������� �������	
(w∗(·), λ∗(·), μ∗(·)) �� 
��+���� P (t) �� ��
�� �� ������� 54:$ �4�4$

1

ε

⎛
⎝Δw

Δλ
Δμ

⎞
⎠ =

⎛
⎝δw∗

δλ∗
δμ∗

⎞
⎠ = lim

t→0,t>0

1

t

⎛
⎝w∗(t)− w∗(0)

λ∗(t)− λ∗(0)
μ∗(t)− μ∗(0)

⎞
⎠



+. ����� ���
���
�� ��� �%&  ��!���

�����-8 �
� 1
�� �
��
 �
�������� �
�!���� �� �
� ����� +������ .M� �� �'��!����� ��
��� ���� �� �
� ����� 
��	����� ���
�����$��� 	��
�� �� ��
�	��
�� ����	�"����� O*6:G0 
.��� I�I �� JIP�

&���
8 3�
 � �
��� 1
�� ���� �
�� ∇2
w̆ L̆ = ∇2

w̆L ��� �� �
� �����
��� �� �
� �����
����
t− ε = 0 �� �
�� �
� !���� �� �
� ���������� 	��������
 λt ����� �� 
��� �� �
� M� �I�F0��
3�
�
�
	�
� �� ��� ������ �� ���� �
�� (w̆∗(0), λ̆∗(0), μ∗(0)) �����1�� �
� �������� ����	���
��� ���������� �� �
��
�	 I�I ��
 �
����	 P̆ (0) �� ��� ���� �� (w∗(0), λ∗(0), μ∗(0)) �����1��
�
�	 ��
 �
����	 P (0) ��� λ∗

t (0) =
∂
∂t
L(0, w∗(0), λ∗(0), μ∗(0))�

�
� M� �I�F0� ��
 �
� 1
�� .M� ���
��� ��� �� $
����� �� �
� ��
	

min
Δt,Δw

1

2
ΔwT∇2

wLΔw +Δt
∂

∂t
∇wLTΔw +∇wF

TΔw +
∂F

∂t
Δt +

1

2

∂2L
∂t2

Δt2

���=��� ��

⎧⎨
⎩

Δt− ε = 0
G+ ∂G

∂t
Δt+∇wG

TΔw = 0
H + ∂H

∂t
Δt +∇wH

TΔw ≥ 0,

$
�
� ��� ��������� ��� ��
�!���!�� �
� �!������� �� �
� ����� t = 0 w∗(0) λ∗(0) ��� μ∗(0)�

�
� !�
����� Δt = ε ��� ��
����� �� ���	������ ��� ����� �
� ���� �
�� G(0, w∗(0)) = 0
��� Hact(0, w∗(0)) = 0 �� $��� �� �
� ���� �
��

∇wF (0, w∗(0)) = ∇wG(0, w∗(0))λ∗(0) +∇wH (0, w∗(0))μ∗(0)

$� ��� ��
	����� �
� �'��!����� M� ��
������ �
� �������� ∂F
∂t
ε+ 1

2
∂2L
∂t2

ε2 �� �
� ��=����!��

min
Δw

1

2
ΔwT∇2

wLΔw + ε
∂

∂t
∇wLTΔw + (∇wGλ∗(0) +∇wHμ∗(0))T Δw

���=��� ��

⎧⎨
⎩

∂G
∂t
ε+∇wG

TΔw = 0
∂Hact

∂t
ε+∇wH

actTΔw ≥ 0

H inact + ∂Hinact

∂t
ε+∇wH

inactTΔw ≥ 0,



$3+ �%& 
�� � &��������
;�� &������ 0��
�� +�

�
� ���������� �I�I� ����
���� �� �
��
�	 I�F ��
 � �
���� (Δw, λ, μ) �� �� � 22� �����
�� �
�� M� �
����	 �
� ����� λ = λ∗(0) + Δλ ��� μ = μ∗(0) + Δμ>

∇2
wLΔw + ε

∂

∂t
∇wL −∇wGΔλ−∇wHΔμ = 0, �I�FH��

∂G

∂t
ε+∇wG

TΔw = 0, �I�FH��

∂Hs.act

∂t
ε+∇wH

s.actTΔw ≥ 0, �I�FH��

∂Hw.act

∂t
ε+∇wH

w.actTΔw ≥ 0, �I�FH��

H inact +
∂H inact

∂t
ε+∇wH

inactTΔw ≥ 0, �I�FH��

μ∗,s.act(0) + Δμs.act ≥ 0, �I�FH��

Δμw.act ≥ 0, �I�FH��

Δμinact ≥ 0, �I�FH
�

(μ∗(0) + Δμ)s.actj

(
∂Hs.act

∂t
ε+∇wH

s.actTΔw

)
j

= 0, �I�FH��

Δμw.act
j

(
∂Hw.act

∂t
ε+∇wH

w.actTΔw

)
j

= 0, �I�FH=�

Δμinact
j

(
H inact +

∂H inact

∂t
ε+∇wH

inactTΔw

)
j

= 0. �I�FH)�

,� ����	��� �
�� Δw Δμ ��� �� 	��� �
���
�
��� �	��� �� �
������ ε �	��� $� ��� ����	�
�
�� H inact + ∂Hinact

∂t
ε +∇wH

inactTΔw > 0 ��� �
�
���
� �
�� �I�FH�� ��� 
������ �I�FH)�

�� Δμinact
j = 0� &����������� $� �������� �
�� (μ∗(0) + Δμ)s.actj > 0 �� �
�� �I�FH��

��� �I�FH�� ��� �� 
������� ��

∂Hs.act

∂t
ε+∇wH

s.actTΔw = 0.

,� � ��!����� �� ε ��� � 
���1������

δw∗ :=
Δw

ε
, δλ∗ :=

Δλ

ε
, ��� δμ∗ :=

Δμ

ε
,



'7 ����� ���
���
�� ��� �%&  ��!���

$� ��� $
��� �
� �������
� ���������� ��

∇2
wLδw∗ +

∂

∂t
∇wL −∇wGδλ∗ −∇wHδμ∗ = 0,

∂G

∂t
+∇wG

T δw∗ = 0,

∂Hs.act

∂t
+∇wH

s.actT δw∗ = 0,

∂Hw.act

∂t
+∇wH

w.actT δw∗ ≥ 0,

δμw.act
∗ ≥ 0,

δμ∗w.act
j

(
∂Hw.act

∂t
+∇wH

w.actT δw∗

)
j

= 0,

δμinact
∗ = 0,

$
��
 �
� ������� �
� 22� ���������� ��
 �
� M� �I�J� �
�� �� ��
	������ �� �
��
�	 I�4�
,� �
� ���'�� ��������� �� �
�� �������� $� ���1
	 ��
 ����	����� �
�� Δw ��� Δμ ���
�� 	��� �
���
�
��� �	��� �� �
����� ε ���������� �	����

$�+�� %���	 ����������	� ��
 ����-	 �	� �����	�

(� �
� �
��� �� �
��
�	 I�L $� 
�!� 	��� ε ���������� �	��� �� ����
� �
�� �
� ����!� ���
�� �
� 1
�� M� ��

������� �� �
� ����!� ��� �� �
� �		������ !������� �� �
� �������� �����
w∗(0) R �� �
�� $�� �� $�� �������� �� �
�$ �
�� �
� 1
�� ���
��� �� �
� ����� +������ .M�
	��
�� $
�� ���
��� �� � �������� y∗(t) ����!�
� � �
�������� y∗(t)+Δy(ε) �� �
� ��������
y∗(t+ ε) �
�� �� ‖y∗(t+ ε)− (y∗(t)+Δy(ε))‖ = O(‖ε‖2) ����
 
��
�
 	��� ���������� �!��
�� �
� ������ $
�
� �
� ����!� ��� �
����� �� �
����� �� �
��
�	 I�4�

(� �
������� ������������ 
�$�!�
 $
�� $� $��� �� ���!� � �
����	 P (t2) ���
����
$��
 �
� �������� �� � �
����	 P (t1) $� $��� ��������� ��������
 �
� ���� �
�� �
� ����
��#�
�������� ����� �� �
� �������� ��
!� w∗(t) ���� ��	�$
�
� �� �
� ����
!�� ���$��� t1
��� t2� (� �� !�
� �	��
���� �� ���� �
�� �
� .M� 	��
�� �� �� �
������ ���� ���� �� �
���
�
�� ���� �� �� ��� �!�� 
��
����� 	������ ����!� ��� �
����� $
��
 $��� �� ������
���� ��
�
� �����$��� ���	����

*	����� $3$ :0
��� ����� &���
��
�� �
 *	��� ?���
�� �%&<
0�� �� ����� �����	�� ��� ������ �� ���
�� �
���������� 
��+���� �� �!��
��� 543 ��	 547$
+�� �� �� ��������	 ����������� P̆ (t̆)C



$3+ �%& 
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−5 0 5
−3

−2

−1

0

1

2

3

w
*  +

 Δ
 w

t* + ε

t*=0.5 
w*=0.48 

3���
� I�I> 3�
�� ���� Δw �� ����� +������ .M� 	��
�� ��
 ���	��� I�F �� � �������� ��
ε ��
 �
� ��������"����� t∗ = 0.5, w∗ = 0.48 = arcsin(0.5)�

min
t ∈ R , w ∈ R

1

2
w2 ���=��� ��

{
t− t̆ = 0

−t + sinh(w) ≥ 0

����������	 �� � �������� t∗ = t̆$ w∗ = max(0, arcsin(t∗)$ μ∗ = w∗/ cosh(w∗) �� P̆ (t̆)$ ��� @"
�� ��� B��� �!��� ?������ �@" ��������� ��� ��� �������� �� P̆ (t̆+ ε) ��

min
Δt ∈ R ,Δw ∈ R

1

2
ΔwT (1− tanh(w∗)w∗ Δw + w∗ Δw

���=��� ��

{
Δt − ε = 0

−t∗ + sinh(w∗)−Δt + cosh(w∗) Δw ≥ 0,

(���� ��� ��� ��������

Δt = ε,

Δw = max(− w∗
1−tanh(w∗)w∗ ,

t∗−sinh(w∗)+ε
cosh(w∗) ),

μ̃ = w∗+(1−tanh(w∗)w∗)Δw
cosh(w∗)

�� 	�
����	 �� &����� 545 ��� �� �������������� t∗, w∗ ���� �� �� ��� �����+�����	 �� ���
)������/ t = 0, w = 04
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�
�� 1���� *�����
�"<
0�� �� ����� �����	�� ��� ���������� ������	 ���� ������� (��� � 	�����+�	 ������� 
���� x0

�� �� �!��
�� :434 �� (��� �����	 � (���� ������ �� �
���������� 
��+���� P (xε) (���

�����+�	 ������� 
�����

xε := xS + ε(x0 − xS),

���� �����
����� +��(��� ��� ����	� ����� xS ��	 ��� 	�����+�	 ������� 
���� x0 8��4 �!���

�� 34394 0�� �� ���������� ��� �@" ��������� (��� ��� ����	� ����� ���;������$ (���� �� ���
�������� �� P (xS) 8ε = 094 ��� ���+�� nw �� 10" 
����+��� �� ><:$ �� 	�������	 �� �!�
��
�� 7434 �� �������� ��� ��������� ���� �� ��� B��� ������� 
�����$ q04 % ���
������ ��
��� B��� ���������� �� q0 ����� ��� ������� 
���� ��+�		��� (��� ��� �!��� �������� �������	
8��4 �!��
�� 3439 �� ���(� �� ��� ���� ���	 ��	� �� &��4 :47 ��� 	�=����� 
����� �� εH ����
����������� ���� ��� ������� 
���� ��+�		��� �������� 
��
�	�� � B��� ��	�� �

��!������� ��
��� �!��� �������� �������	$ ���� ����� ����
� ��� ������� ���� ������� 8��4 ��(�� ���� ���
�
�� &��4 :4794 *� ��� ����� ���	 ��	� �� &��4 :47 (� ��
�������� (��� ��

��� �� (� ������ ���
B��� ������� ������ �� �� �������������� �� ��� ���������$ �� ���� (� �+���� � �����	 �������4
1��� ���� ��� B��� ������� ������ �� ��� ��� �������� �� ��� 
��+���$ �� ���� ��� �������	 ��
�����	 �������� 	��� ��� ����� ��� �!��� �������� �������	 �� � ��������� 
����$ �� +�����4
.�� �� ��� +� ���� ���� �� ��� 
������� �� ε = 1 �� 
��
�	�� �����	� � 2���� ���	 �

��!�������
�� ��� �!��� �������� �������	4

• 
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� ��������"����� �� �
� .M� ����
��
	 �� ��!��� (� � 
����
��	� �����
�� �
�
� �� ����������� ���� ��� ���
�� $
��
 ��� �
�!��� �� ������� ����� ��
 �
�
��

��� �
����	> �
� �����	� �� �
� �
�!���� ���
���� %�������� �� �
� �
����	 ����� 
��#�
��� ��
������� ��	� �� 	��� �� ��� �
� �
�!���� 
������	� ���
����� �� ��������"� �
�
��

��� ����

(� �
� ���� �� �

��)��� 
�
�"�� �
����	� �
�
� ������ � !�
� ����
�� ��������"����� �
��
�� ����� �� �
� �
������� �� ����	�����> �� � �������� x∗(t) z∗(t) u∗(t) �� ����	�� �� �
� ��	�

�
�"�� t ∈ [ti, tf ] ��
 �� ������� !���� x0(ti) ��� 
���
������ �� �
� �

��) 
�
�"�� [ti+1, tf ] =
[ti + δi, tf ] �� ����� ����	�� ��
 �
� ������� !���� x0(ti+1) = x∗(ti+1)� �
�� ��� �� �
��������
���� �
� ��
��� 	������� �
������ ������� �� �
� �����
 �� �
� 	������� �
������ ����
!��� 
T (τi+1 − τi) ��

������� �� �
� �����
 �� �
� ��	����� ����
!��� δi = ti+1 − ti� 8�� �� ��

�
�� ����� 
���
� � �
����	 ����
���"����� $��
 N 	������� �
������ ����
!��� ��� ��� ��
����	� �
�� ��
 �
� ����	�"����� �
����	 P (x0(t0)) �� �
� ���� 
�
�"�� [t0, t0+T ] � ��������
w∗ = (q0, . . . , qN−1, s0, . . . , sN) 
�� ���� ������ &� ��	� tk = t0 +

∑k
i=1 δi = t0 + Tτk �


������ �
����	 ��� �� ��
	������ �� � �

��) 
�
�"�� $��
 ���� N−k 	������� �
������
����
!��� ��
 �
� ������� !���� xk := x0(tk)� <� $��� ������ �
�� �
����	 �� Pk(xk)� 8��
�� ����� �
� ���!������ �
�� �
� 	������� �
������ !�
������ wk �� �
� 
������ �8� �
�
��	��
�� �� �
�� �
� ������� ���
� $��
 k ���� wk = (qk, . . . , qN−1, sk, . . . , sN) �� �
�� �
�
�
����	 Pk(xk) k = 0, . . . , N − 1 ��� �� $
����� ��>

Pk(xk) : min
qk, . . . , qN−1,
sk, . . . , sN

N−1∑
i=k

Li(s
x
i , s

z
i , qi) + E(sxN , s

z
N) �4�F��

���=��� ��

sxi+1 − xi(τi+1; s
x
i , s

z
i , qi) = 0, i = k, . . . , N − 1, �4�F��

g(sxi , s
z
i , qi) = 0, i = k, . . . , N, �4�F��

sxk − xk = 0, �4�F��

re(sxN , s
z
N) = 0, �4�F��

ri(sxN , s
z
N) ≥ 0, �4�F��

h(sxi , s
z
i , qi) ≥ 0, i = k, . . . , N. �4�F��

���� �
�� P0(x0) ��

������� �� �
� �
������ �
����	 P (x0) ��
	������ �� �/�F0��
����
�� �� $� 
�!� ����� � �������� y∗k = (w∗

k, λ
∗
k, μ

∗
k) �� �
����	 Pk(xk) ��� �� �
� �����

xk+1 ��

������� �� �
� �
������� ����	�� !���� �� �
�� �
�=����
� ���� xk+1 = (sxk+1)
∗
k
 �
�


���
������ �� �
� �������� �� �
� 
�	������ 
�
�"�� �
�!���� �
� �������� y∗k+1 ��
 �
� �

��)
�
����	 Pk+1(xk+1) $
��
 �� � ���� ��������"����� ���� ��
 �����
��� ������� !����� xk+1+ ε 
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;��� '�

$
�� �
� ������� !���� �	������� �� �	������� 8�� �� ���
����� �
� D�

��)E ���
���
 Sk 
�
�� =��� 
�	�!�� �
� 1
�� ��	������� qk sk ��� �
� ��

��������� 	��������
� �
�	 �
!����
 yk = (wk, λk, μk) ���� �
� ���
���
 �
�� �
�=���� �
� !�
������ ��� 	��������
� ��
Pk(·) �� �
� !�
����� ��� 	��������
 ����� �� Pk+1(·)� -���� Sk �
� ���!� �����	��� ���
�� ���
����� ��

y∗k+1 = Sky
∗
k.

+�$�� � !	��1 ��	 ���������

(� �
� 
������	� ���
����� ������� �
� ����
��
	 $���� �
����� �� �����$�> .��
���� $��

�� ������� ����� y00 = (w0

0, λ
0
0, μ

0
0) ��
 �
� �
����	� P0(·) �
���
� �
� 1
�� 
������	� ���
�����

�� ��
 �� �������� $��
��� )��$����� �� x0� �
�� ��
��
	 ��
 ��
 k = 0, . . . , N − 1 �
�
�����$��� �����>

F� &� �
� 	�	��� tk �
�� xk �� )��$� ��
��
	 �
� �
���
�� 
������	� ���
����� ������
�� � �����
�"����� �� ykk ��� �
� ������� !���� �	������� ����� ��$�
�� �
� �������� ��
Pk(xk)� �
�� ������ �
� 1
�� �
��
 ��

������ yk+1

k �

/� *�!� �
� 
�������� !���� �� �
� 1
�� ����
�� !����
 (qk)
k+1
k �$
��
 �� ��������� �� �
�

!����
 yk+1
k � �		�������� �� � ����
�� �� �
� ������

I� .

��) �
� 1
�� �
��
 ��

������ yk+1
k �� �
� !�
����� ����� �� �
� ��$ �
����	 Pk+1(·) 

���� ��1�� �
� ��$ ���
���

yk+1
k+1 := Sky

k+1
k .

4� �
���
� �
� 1
�� ���
��� �� �
����	 Pk+1(·) �� ��
 �� �������� $��
��� )��$����� ��
xk+1 ����� �
� �

��) !����
 yk+1

k+1 �� �� ��������"������

H� (��
���� k �� ��� ��� �� �� F�

���� �
�� �� ��
 ����
��
	 �
� 1
�� �$� ����� �� ���� ���� � !�
� �
�
� ��	�������� ��	�
��	��
�� �� �
� ���
�
 ���� ���� �
��� L��

*	����� +3$ :������
�� 
�����
���<
��� �����	����
 ���;������ ��������� ���� ��� ��������� ��������� �

����� ��� ��� ��������
���� (�� 
�������	 �� ���4 347 �� ���(� �� &��4 :454 ��� ���+�� �� �����
�� ��������
�����
��� �� N = 100$ (��� �����
��� �� �2��� ������ δk = 20 ��� ��� k = 0, . . . , N − 14 ���
�������������� y00 (�� ������ �� +� ��� ����	� ����� ���;������$ �4�4$ ��� �������� �� P (xS)4 ��
������ ���� ��� 
��
������� ���� 
�� ��������� ��������� �� �!����� 7< �����	� 8�� �������$
��� ���
������� ���� 
�� ��������� (�� ��(��� ���� ���� 3 �����	$ ��4 &��4 :4E94
�� ��� +� ���� ���� ��� ��������� ��������� �

����� 	���
��� � ���;������ ���� �� ������

�	������� (��� �� �
����� ���	+��� ������� 8	����	 ����9 I �
��� ���� ��� )�������/ �� u1 �� ���
B��� �����
�� (���� �� 	�� �� ������������� ������$ ��	 (���� ������
��	� �� ��� B��� �������
�� &��4 :474 �� ��� �����	 ��������� ���������$ (��� �������������� ��� ����� ���� �������$
u1 �� �����	� 
��� ����� �� ��� �
����� 
����4 ��� 
���������� ��	�! �� ���� ��������	 +� 5
G ���
���	 �� �
����� ���	+��� �������4
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3���
� 4�I> .���� ��� ����
�� �
�=����
��� �� �
� 
������	� ���
����� ���
���
� �
� ������
����� �
�� �
� ���
�� ��������� �
�$ �
� �
�=����
� ��� �� ����	�� �������) ����
���

+�$�� ���#������ ���� %��	���&	
 '	��������� �		
���� �������

(� �� ����
������ �� ��	��
� �
� ���!� 
������	� ���
����� ��
�	� $��
 � $����)��$� ���
���
�	����� �� ����	�� �������) ����
�� ��	��� $��
 �����
�"�� ����
��
��� �������) ����
��
�� ���
������ �� .��� F�I�F� 3�
 �
�� ��	 ��� �� ����	� �
�� �
� ������� ����� y00 �� �
� �����
���� �� � ������� �
����	 P0(x̄0) ��� �
�� �
� �
������� ����	�� �
�=����
� ���� �

���

�
� ������ x̄1, . . . , x̄N  �
�� $� ���� �
� ������� �
 ��������� �
�=����
�� ,� �
� �
�������
�� ����	����� �� �� ����
 �
�� ��
 � ��!�� k < N �
� 
���
������ �� y00 �� �
� !�
����� ����� ��
Pk(·) �
�� $� ������ �� y0k �� �
� �������� �� �
� �
����	 Pk(x̄k)� �
� ���� �� �����
�"��
����
��
��� �������) ����
�� �� �� ��� ���� �
� ������� ����� y00 ��� ��� ���!����
� y0k ��

�
� ��������"����� �� �
� 
������	� ���
������� �
� �
���
����� �� �
� 1
�� ���
��� ��
 ���
�
����	� Pk(·) ��� �� ��
��
	�� �#����� 
������� �
� �������
� ������� ��	��������� ��
� 	���	�	�

(� �����
�"�� ����
��
��� �������) ����
�� ������� �
� ����	����� �� 	��� �
�� �
�
����!� ��� ���� ��� �
���� ��
��� �
� ������� M� ��������� �� �
�� �
� M� ��� ��
���� ��
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�
����!�� ���!��� ���� ��� 	��
�� !����
 	������������� �
�� 
�� �� �� ��
��
	�� �������>
�
� ����
�� uk �� �
� ����
!�� [tk, tk+1] �� ��!�� �� uk = ūk −Kk(xk − x̄k) $
�
� ūk �� �
�
��	���� ����
�� ��� �
� 	��
�� Kk �� �
� �
���	����� ���� �����! � 6�
������ �� �������
��	��������� 
�!� �� �� ��
��
	�� �� �
�� ���� ��� !�
� �
�
� ��	����� ��	�� ��� ��

����"���

3�
 ��
��
 ��!������� �� xk− x̄k 
�$�!�
 �
�� 	�� ���� �� ����
�� 
�������� �
�� ������
�
� ����
�� ������ R �
�
���
� $� �
����� 
�
� � 	���1�� �����
�"�� �������) ����
�� ��
�	�
�
�� ���!�� �
� �
���
�� M�� ������� �� �
�� ��� �����
�"�� �����
����� ��� �� ��)�� ����
������� $
�� ����!� ��� �
����� ����
� ���� �
�� ������ �
� �����
 �����
����� ���
�
�
���
� ������� �����1�� �� ���
 M� ��������� �
� ��#�
���� �� �
� 
������	� ���
�����
��
�	� �� �
�� ��� ����
�� 
�������� �
� ����� �� �
� ��	� �����	 �����
�"����� �� �
�

���
���� �������� y00� �
�� ����
��
	 $���� �
����� �� �����$�>

,���� �� �
� 
���
���� �������� y00 = (w0
0, λ

0
0, μ

0
0) ��� �� ��� ���!����
� y0k =

SkSk−1 . . . S1y
0
0 ��
�� �
� �
� ��������� �� �
� ��	���� �
����	� Pk(x̄k)� �
���
� �
� 1
��

M� �������� �� �
� �
����	� Pk(·) �� ��
 �� �������� $��
��� )��$����� �� xk� �
�� ��
��
	
��
 ��
 k = 0, . . . , N − 1 �
� �����$��� �����>

F� &� �
� 	�	��� tk �
�� xk �� )��$� ��
��
	 �
� �
���
�� M� �������� ��$�
�� �
�
�������� �� Pk(xk)� �
�� ������ �
� 1
�� �
��
 ��

������ y1k�

/� *�!� �
� 
�������� !���� �� �
� 1
�� ����
�� !����
 (qk)
1
k �$
��
 �� ��������� �� �
�

!����
 y1k� �		�������� �� � ����
�� �� �
� ������

I� (��
���� k �� ��� ��� �� �� F�

���� �
�� �
�� �����
�"�� ����
��
��� �������) ����
�� ��
�	� �� !�
� ������� 
������ ��
������ 	���� �
������!� ����
�� �� �

��)��� 
�
�"��� �� �� �� ����� �� � �����
 �����	
	���� ��� ���� � M� 
�� �� �� ���!�� �� ���
 ���
������ (� �� ����
��
 �� $
�� �� ��		����
������ �����
 	���� �
������!� ����
�� 
�$�!�
 �� �
� 
������ �
�� ��������
����� �� �
�
�����	 �'������� ����� �
� ��	���� �
�=����
� �
� ��)�� ���� ������� ��� �
�� �
� +������
	��
�� ���� ��� ���� 
��
����� � '���
���� ��=����!� ��� �
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������	� ���
�����
��
�	� ��� �� ������� $��
��� 	���1�������Q 
�$�!�
 �� �
���� �� )��� �� 	��� �
�� �
�
����
!�� ��
������ 	�� ��$ �
���� ��
��� �
� 
������	� ���
�������

&��
� �
�	 �
� �

��)��� �
����	 ��
	������� �� ����
���� ���!� �
�
� ������ �� ���
��
������ ������ ����������� �� ��
	����� �
� ��
��� �� ����	�"����� �
����	 �� � �

��)���

�
�"�� $��
 �
�� 1��� ��	�> ������� �� �
� �
����	� P0(x0), P1(x1), . . . , PN−1(xN−1) $��

�

��)��� 	������� �
������ ����
!�� ��	��
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� �������� �� �
����	 P (xk) ��
��������"� �
� ��$ �
����	 $��
 yk+1

k+1 �� �����$��
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nq ��� ��������� ���� s ∈ R
ns ��

�
�� �
� �#����� ����	�"����� �
����	 �� �
� ���� 
�
�"�� �� ����
��� ��� �� ��
	������ ��
�����$�>

P (x0) : min
q,s

F (q, s) ���� G(q, s) = 0 �H�F�

$��
 F : D̂ ⊂ R
nq × R

ns → R ��� G : D̂ ⊂ R
nq × R

ns → R
ns �$��� ������������

��#�
�������� $
�
� $� ����	� �
�� �
� �����
���� �������� G �� ���
 �
�� ∂G
∂s

�� ��!�
�����

��
 ��� (q, s) ∈ D̂� �
�� ���� �
���
�� ��� ����
���� �� ��
��!�� ��
 �
� ��
��� 	�������
�
������ 	��
�� �� ��������� �� .��� /�/�F $
�
� q �
� �
� ����
��� ��� s �
� �����
!�
������� �
�� ����
����� 
���� �� ��
	����� �
� �

��)��� �� �
� ��	� 
�
�"�� �� �
�

������	� �������Q �
� �

��)��� $��� �� ���
����� �� ���
������ ������������ �
� ���
��� ��
�
����	 ��
 �
� ����
����

4"! ��� �0�.�
� ���#���

4���� '	����  
#	 "#����&����� �	���
�

-���� �
� 8��
������ �������� L : D̂ × R
ns → R

L(q, s, λ) := F (q, s)− λTG(q, s)

$� ��� ��
	����� �������
� ����	����� ���������� �� 1
�� �
��
 ����
���� �� �
��
�	 I�F>

∇(q,s,−λ)L(q, s, λ) =
⎛
⎝ ∇qF (q, s)−∇qG(q, s)λ

∇sF (q, s)−∇sG(q, s)λ
G(q, s)

⎞
⎠ = 0. �H�/�

8�� �� ��1�� ��
 ����
 ���!������� �
� !����
 y ∈ R
n $��
 n := nq + ns + ns ��� �
�

�������� R : D ⊂ D̂ × R
ns → R

n ��

y :=

⎛
⎝ q

s
−λ

⎞
⎠ ��� R(y) :=

⎛
⎝ ∇qF (q, s)−∇qG(q, s)λ

∇sF (q, s)−∇sG(q, s)λ
G(q, s)

⎞
⎠ , �H�I�



'3� �!� �5��
�� &������ #�

�� �
�� �
� ���!� �����	 �H�/� �� �'��!����� �� R(y) = 0� �� ���!� �
�� �����	 �
� �����
��$����9��
��� 	��
�� $���� ���
� �� �� ������� ����� y0 ��� ��	���� � ��'����� ��
���
���� y1, y2, . . . ����
���� ��

yk+1 = yk +Δyk, �H�4�

$
�
� ���
 Δyk �� �
� �������� �� �
� �����
�"�� �����	

R(yk) +
∂R

∂y
(yk)Δyk = 0, �H�H�

�
 ����� $
����� 

⎛
⎝ ∇qL

∇sL
G(q, s)

⎞
⎠ +

⎛
⎜⎝

∂2L
∂q2

∂2L
∂q∂s

T ∂G
∂q

T

∂2L
∂q∂s

∂2L
∂s2

∂G
∂s

T

∂G
∂q

∂G
∂s

0

⎞
⎟⎠

⎛
⎝ Δqk

Δsk

−Δλk

⎞
⎠ = 0. �H�L�

<� 
�!� ���� �� .��� I�I�F �
�� �
��� ��$����9��
��� ���
���� �
� ��������� �� �
� ���� ����
����� +������ .M� 	��
���

�
� ��$��� ���� 	��
��� �������
�� �� �
�� �
����
 ��#�
 �
�	 �
� ����� ��$����
9��
��� 	��
�� �� �
� $�� �
�� �
� ����� +������ ∂2L

∂(q,s)2
�� 
������� �� � ���		��
���

���
���	�����

A(y) =

(
Aqq AT

qs

Aqs Ass

)
,

�� �
�� $� ��� ��1�� �� ���
���	��� ��
�!���!� �� R ��>

J(y) :=

⎛
⎜⎝ Aqq AT

qs
∂G
∂q

T

Aqs Ass
∂G
∂s

T

∂G
∂q

∂G
∂s

0

⎞
⎟⎠ . �H�J�

3�
 ��
 ��$��� ���� 	��
�� �'� �H�H� �� 
������� �� �
� ���
���	�����

R(yk) + J(yk)Δyk = 0. �H�K�

4����  �	 ���������	
 5����1'	���� �	���


&� �	��
���� ������� ���� �� �
� ��$��� ���� 	��
��� �������
�� �� �
�� �
����
 �� �
�
�����
����� *�������$��� 	��
�� $
��
 �� ���������� ��
 �
����	� $��
 � ����� �'��
��
��
	 �� �
� ��=����!� �������� F >

F (q, s) =
1

2
‖l(q, s)‖22 �H�G�



#� ��������
(
�� �
 �!� ������
�� ������
���

$��
 l : D̂ → R
nl nl ≥ 1 � !����
 !����� ��������� 3�
 �
�� ���� �
� +������ ���
���	��

���� A �� ��1��� �� ��

A(q, s) :=

(
∂l

∂(q, s)

)T (
∂l

∂(q, s)

)
. �H�F0�

�
� �

�
 ∂2L
∂(q,s)2

−A ��� �� '�����1�� �� ����������� �� ∂2L
∂(q,s)2

∂2L
∂(q, s)2

−
(

∂l

∂(q, s)

)T (
∂l

∂(q, s)

)
=

nl∑
i=1

li
∂2li

∂(q, s)2
+

ns∑
i=1

λi
∂2Gi

∂(q, s)2
.

&� � �������� y∗ = (q∗, s∗, λ∗) �
� �������
� ����	����� ���������� �H�/� 
�'��
� �
��

∇sF −∇sGλ∗ =
(
∂l

∂s

)T

l(q∗, s∗)−∇sGλ∗ = 0,

�� �
��

λ∗ = −∇sG
−1 ∂l

∂s

T

l(q∗, s∗) = O (‖l(q∗, s∗)‖) ,

$
��
 ����$� �� �������� �
��∥∥∥∥ ∂2L
∂(q, s)2

−A(q∗, s∗))

∥∥∥∥ = O (‖l(q∗, s∗)‖) .

�
�� $� ������ �
� *�������$��� 	��
�� �� $�
) $��� ��
 �	��� 
������� !����
� l(q, s)�
���� �
�� A(q, s) �� ����������� �� �
� 	��������
 !����
 λ�

�����-8 �
� ����� �'��
�� �������� l(q, s) ����� ��� �� �� � 	������ ���� � 1����
��	�������� ����� R

nl ��� 	�� 	�
� ����
���� �� � 	������ ���� ��� +����
� ����� H � (�
〈·, ·〉H �� �
� ����
 �
����� �� H  �
� ����� �'��
�� ��=����!� �������� �� �'� �H�G� �� �
��
$
����� ��

F (q, s) =
1

2
〈l(q, s), l(q, s)〉H,

��� �
� *�������$��� ���
���	����� �� �
� +������ �� �'� �H�F0� �� ��!�� �� �
� ��		��
��
	��
��

A(q, s)ij := Re

〈
∂l

∂(q, s)i
,

∂l

∂(q, s)j

〉
H

,

$
�
� �
� ������� i, j 
�� �

���
 ��� ��	������� �� (q, s)� ���� �
�� �
�� 	��
�� �� 1����
��	�������� $
��
 ����$� �� �
��� �
�� ����
�� ���� $��
 �
� �
������� ��	�
���� 	��
����
(� .��� L�4 �� �� �
�$� 
�$ �� ��	���� A(q, s) ��������� �� �
� �
������ �� �����
�� �����
�'��
�� ��
	� �� ���
������ �� .��� F�F�



'3� �!� �5��
�� &������ #$

4���$ ��6��	�� ���
������ ��� %���� ���-	��	��	

8�� �� ��$ ����� �������� ���������� ��
 ���!�
����� �� � ��
��� �� ����
�� ��$��� ����
���
���� (yk) k = 0, 1, . . . �� � ����� R

n ��1��� ��

yk+1 = yk +Δyk = yk − J(yk)−1R(yk), �H�FF�

��$�
�� � �������� �� �
� �����	

R(y) = 0. �H�F/�

�!����� '3� :����� ���(��"���� �
 )�A��� ����  ��!���<
0�� �� ������ ���� R : D ⊂ R

n → R
n �� ������������ 	�=�������+�� ��	 ���� ��� �

��!��

������ �� ��� 	���
���
� J : D ⊂ R
n → R

(n×n) �� ���������� ��	 ��� � ���������� ��
����
�� D4 &����������$ ��� �� ���� ��� �����(��� �����
�����C∥∥∥∥J(y1)−1

(
J(y2)− ∂R

∂y
(y2)

)∥∥∥∥ ≤ κ < 1, ∀ y1, y2 ∈ D �H�FI��

��	 ∥∥J(y1)−1 (J(y2)− J(y3))
∥∥ ≤ ω‖y2 − y3‖, ∀ y1, y2, y3 ∈ D. �H�FI��

%		���������$ (� ��

��� ���� ��� B��� ���
 Δy0 := −J(y0)−1R(y0) �������� �� �� �������
����� y0 �� ��D������� �����$ �� ����

δ0 := κ+
ω

2
‖Δy0‖ < 1 �H�FI��

��	 ����

D0 :=

{
y ∈ R

n| ‖y − y0‖ ≤ ‖Δy0‖
1− δ0

}
⊂ D. �H�FI��

J�	�� ����� ���	������ ��� ��2����� �� 1�(��� ��
� �������� (yk) 	�B��	 +� �24 �H�FF�
������� ����	� D0 ��	 ���
����� ��(��	� � y

∗ ∈ D0 ���������� ��� ����� 8E4379$ R(y∗) = 04

&���
8 .���
��� 	�������� � �
��� �
�� ��� �� ����� �� ,��) O,��KJP $� 1
�� �
�$ �
��
�
� ��
	 �� �
� ����� Δyk ����
���� ��� �
�$ �
�� �
�� (yk) �� � ����
� ��'������ �
�
����
������ ��� �� �
�$� �� �����$�>

‖Δyk+1‖ = ‖J(yk+1)−1 · R(yk+1)‖
= ‖J(yk+1)−1 · (R(yk+1)− R(yk)− J(yk) ·Δyk)‖
= ‖J(yk+1)−1 · ∫ 1

0
(∂R
∂y
(yk + tΔyk)− J(yk)) ·Δyk dt‖

= ‖J(yk+1)−1 · ∫ 1

0
(∂R
∂y
(yk + tΔyk)− J(yk + tΔyk))Δyk dt

+J(yk+1)−1 · ∫ 1

0
(J(yk + tΔyk)− J(yk))Δyk dt‖

≤ ∫ 1

0
‖J(yk+1)−1 (∂R

∂y
(yk + tΔyk)− J(yk + tΔyk))‖‖Δyk‖ dt

+
∫ 1

0
‖J(yk+1)−1 (J(yk + tΔyk)− J(yk))‖‖Δyk‖ dt

≤ κ‖Δyk‖+ ∫ 1

0
ωt‖Δyk‖2 dt

=
(
κ+ ω

2
‖Δyk‖) ‖Δyk‖ =: δk‖Δyk‖.

�H�F4�



#+ ��������
(
�� �
 �!� ������
�� ������
���

(� δk ≤ 1 �
�� ‖Δyk+1‖ ≤ ‖Δyk‖ ��� δk+1 ≤ δk ≤ 1� �
�
���
� $� ��� �������!���
������ �
��

‖Δyk+1‖ ≤ δ0‖Δyk‖, ∀ k ≥ 0

�� �
��

‖yk+m − yk‖ ≤ 1

1− δ0
‖Δyk‖ ≤ δk0

1− δ0
‖Δy0‖, ∀ k,m ≥ 0. �H�FH�

(� ��
������
 

‖ym − y0‖ ≤ 1

1− δ0
‖Δy0‖, ∀m ≥ 0.

�
�
���
� (yk) �� � ����
� ��'����� �
�� 
�	���� ������ �
� ��	���� ��� D0 ��� 
����
���!�
��� ��$�
�� � ��	�� ����� y∗� ,� ���������� �� R ��� J−1 

0 = lim
k→∞

Δyk = lim
k→∞

−J(yk)−1R(yk) = −J(y∗)−1R(y∗)

�� �
�� R(y∗) = 0�

<� $��� ����� � ������ ��
����
 ��
	 �� �
� ���!� �
��
�	 $
��
 �� ���������� �� �����
	�"����� �
����	� ���� ��� �	����� ����� ���!�
����� �� �
� ��$��� ���� ���
���� ��$�
��
� ��
��� ����� 	���	�	� ,���
� �
�� ������ !�
���� �� �
� �
��
�	 ��� �� ��
	������ $�

�!� �� ��!� �� �������� ��
	��� ��
 �
� ��!�
�� �� �
� ���
���	��� ��
�!���!� J(y)�

����� '3� :��(���� �
 �!� //�  ���
	<
0�� �� ������ ���� J(y) �� � �����! �� 	�B��	 �� �24 �H�J�$ �4�4$

J(y) =

⎛
⎜⎝ Aqq AT

qs
∂G
∂q

T

Aqs Ass
∂G
∂s

T

∂G
∂q

∂G
∂s

0

⎞
⎟⎠

(��� ∂G
∂s
��
����+��$ ��	 ��� �� ���� ������ ���� ��� �� �����	 ��	���	 ?������ �����!

Ar(y) :=
(

I −∂G
∂q

T (
∂G
∂s

)−T
) (

Aqq AT
qs

Aqs Ass

) (
I

− (
∂G
∂s

)−1 ∂G
∂q

)
�H�FL�

�� 
�����
� 	�B����4 ���� ��� ��
���� �� J(y) �!���� ��	 �� ��
�� +� ��� �������

J(y)−1 = C1(y)Ar(y)
−1C1(y)

T + C2(y) �H�FJ�

(���

C1(y) :=

⎛
⎜⎝

I

− (
∂G
∂s

)−1 ∂G
∂q

− (
∂G
∂s

)−T
(
Aqs − Ass

(
∂G
∂s

)−1 ∂G
∂q

)
⎞
⎟⎠ �H�FK�

I - -
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�� &������ #'

��	

C2(y) :=

⎛
⎜⎝ 0 0 0

0 0
(
∂G
∂s

)−1

0
(
∂G
∂s

)−T − (
∂G
∂s

)−T
Ass

(
∂G
∂s

)−1

⎞
⎟⎠ . �H�FG�

�����-8 ���� �
�� �
� ����	������ �� �
�� ��		� �������� $��
 �
��� �� 8�		� I�/ 
$��
 �
� �����
���� 	��
�� B ��� �� B = (∂G

∂q
|∂G
∂s
)� �
�� �
� ���� ������� 
������ �� �
�

�������� ����	����� ���������� �� �
��
�	 I�I� �
� ������!� ��1�������� �� Ar $��� ��
���� �� �
� �
��� �� �
��
�	 H�I �� �
�$ �
�� �
� ��$��� ���� ���
���� ���!�
�� ��$�
��
� ����� 	���	�	�

&���
8 �
� ��!�
�������� �����$� �
�	 8�		� I�/� �
� ��!�
���� ��
	��� �H�FJ� ��� ��
!�
�1�� �� �
��)��� �
��

J(y)(C1(y)Ar(y)
−1C1(y)

T + C2(y)) = I

��� ����� �
� ���� �
��

J(y)C1(y) =

⎛
⎝ Ar(y)

0
0

⎞
⎠ ��� J(y)C2(y) = I−

⎛
⎝ C1(y)

T

0
0

⎞
⎠ .

�!����� '3$ :�5��
�� ���(��"����<
0�� �� ������ ���� R : D → R

n �� 	�B��	 �����	��� �� �H�I� �� +� ��� ����	��� �� ���
��������� �
�������� ���	������ �� ��� �2������ ����������	 �
���������� 
��+��� �H�F�4
�� ������ ���� ��� ��	���	 ?������ �

��!������� Ar(y) ���� �24 �H�FL� �� 
�����
�

	�B���� �� ��� (���� 	����� D$ (��� +���	�	 ��
����C

‖Ar(y)
−1‖ ≤ βA < ∞, ∀ y ∈ D. �H�/0��

�� ���� ������ +���	�	���� �� ‖C1‖ ��	 ‖C2‖ �� 	�B��	 �� �2�4 �H�FK� ��	 �H�FG� �� DC

‖C1(y)‖ ≤ βC1 < ∞, ∀ y ∈ D, �H�/0��

��	

‖C2(y)‖ ≤ βC2 < ∞, ∀ y ∈ D. �H�/0��

0�� �� 	�B�� β := βC1βAβC1 + βC24 0�� �� ��

��� ���� � 0�
������ ���	�����

β ‖J(y1)− J(y2)‖ ≤ ω‖y1 − y2‖, ω < ∞, ∀ y1, y2 ∈ D, �H�/0��

���	� ��� ��� 	���
���
� �

��!������� J(y) ��	 ����

β

∥∥∥∥A(y)− ∂2L
∂(q, s)2

(y)

∥∥∥∥ ≤ κ, κ < 1, ∀ y ∈ D. �H�/0��
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3���
� H�F> ���!�
����� 
���� ��
 �#����� ��$��� ���� 	��
��� ��
 �
� �������� �� ���	�
��� H�F� ��	��
���� �� ��$��� ��� *�������$��� 	��
�� $
�� ���
��� �� �
� ������
����� �
�=����
��

%		���������$ (� ������ �� �� ������� E43 ���� ��� B��� ���
 Δy0 := −J(y0)−1R(y0)
�������� �� �� ������� ����� y0 �� ��D������� �����$ �� ����

δ0 := κ+
ω

2
‖Δy0‖ < 1 �H�/0��

��	 ����

D0 :=

{
y ∈ R

n| ‖y − y0‖ ≤ ‖Δy0‖
1− δ0

}
⊂ D. �H�/0��

J�	�� ����� ������������� ��� 1�(��� ��
� �������� (yk) �����	��� �� �24 �H�K� ���
����
��(��	� � AA� 
���� y∗ = (q∗, s∗, λ∗) ∈ D (���� 
����� 
��� (q∗, s∗) �� � ������ �����
������� �� "��+��� �H�F�4

& �
��� �� �
� �
��
�	 �� ��!�� �� &������� %�

*	����� '3� :����
����� ��
���� ���- �������<
0�� �� ����� �����	�� ��� �
����� ������� 
��+��� ���� (�� �����	���	 �� ���4 743$ ���
���
��
��� ��� �����
�� �������� 
��������������� �� 	�����+�	 �� �!��
�� 7434 ��� �������� w∗

�� ��� 10" (��� ������� 
���� �� �� ���4 743 (�� ���(� �� &��4 745H � ���
������ �� ���
���
������� ����� ��� ��� 1�(��� ��	 '�����1�(��� �����	 �� ��
�� �� &��4 E43$ (���� ���
��������� �� ������	 �� ��� ����	� ����� ���;������4 ��� 
��� ��� ��� '�����1�(��� �����	
����(� �� �� �������� ���� κ ≈ 0.14



'3� �!� ����
�� &������ ##

4"% ��� �
�.�
� ���#���

<� $��� ��$ 
���
� 
������	� ���
������ �� �

��)��� 
�
�"��� �� ���
������ �� .��� 4�F�/ 
�� �
� �
�	�$�
) �� �
� �#����� ����	�"����� �
����	� (� �� �
�$� �� .��� H�/�F �
�� �
�
��������� ��#�
���� �� �
� �#����� ���
������ �� �
�� ����
 ���
 ��$��� ���� ���
����� ��	�
��	������� �� �
� �
�� !�
������ q �
� 1��� ���� �
�� �
� ����	�"����� �
����	 �H�F� ��
�
����� �� � �
����	 �� �
� ��	� ����� ��� $��
 ��	� 	�
� ��
�!���� �'������ �����
������
(� �
� �����$��� .��� H�/�/ $� $��� �
�$ �
�� �
� ��������
��� ��� ����	���������� ���������
ω ��� κ ��
 �
� �#����� �
����	 �
� ����� !���� ��
 � �
����	 $��
 ��	� 1��� ����
���� �
��
����$� �� �������� �� �
��
�	 H�L �
�� �
� 
������	� ���
������ ����
��� �� �
� ��������
���������� ��
 �#����� ���!�
����� �� �
��
�	 H�I �
� �����1�� $
��
 �� �
� 	��� 
�����
�� �
�� �
����
� (� .��� H�I $� ��!�������� 
�$ ��
 �
� 
����� �� �
� 
������	� ���
������
��!����� �
�	 �
� �
��
������ ����	�� ����������

8�� �� 1
�� ������� $
� 1���� �� ��	� �
�� ��	������� �� �'��!����� �� �
� 
������	�
���
����� ��
�	� �� ���
������ �� .��� 4�F�/�

4����  �	 ��/	
 ������� �����������

(� �
� 
������	� ���
����� �
�	�$�
) ��
 �

��)��� 
�
�"��� �� .��� 4�I $� 
�!� 
������ �
�
��	��
 �� 	������� �
������ ����� �
�	 ��� �
����	 �� �
� ���� �� �
��
 �� )��� ����
$��
 �
� �
����� ��!����	����

<� 
���
� � �
����	 ����
���"����� $��
 N 	������� �
������ ����
!��� �� � B!�	 ������
��	� 
�
�"�� $��
 ��
����� T  ��� ����	� �
�� �
� ��	�������� ��	� ��
 �
� k��
 
������	�
���
����� �� δk ��� �
��

∑N
k=1 δk = T ��
�� �� ���� �
� ���� �� ��� ���
������ ��)� �
� ��	�

��	� δ ��� �
� ��	� 
�
�"�� �� ����
��� 
�� �
� �����
 T = Nδ�� �
� 	������� �
������
������ �
� �
���� �� �
�� �
� ��	�� tk := Tτk ������� tk − tk−1 = δk ���� 

t0 = 0, tk =
k∑

i=1

δi, ��
 k = 1, . . . , N.

8�� x0, x1, . . . , xN ������ �
� ��#�
������ �����	 ������ �� �
� 
��� �����	 �� ��	��
t0, t1, . . . , tN  �
�� ��
!� �� ������� !����� ��
 �
� ��
�	���
�"�� ����	�"����� �
����	�
Pk(xk) �� �

��)��� �����
 �� ��1��� �� .��� 4�I �'� �4�F��

&� ��	� t0 �
� ����� x0 �� )��$� ��� �
� ������� !���� �	������� ��
����� '���)�� ������
�
� ����
�� !���� u0 �
�� $��� �� �	���	����� �� �
� 1
�� ��	� ����
!�� �� �� ��	� t1� &�
��	� t1 �
� ���� �		������ �������) 
�� ���� �
���
�� ��� �� ������� �� �
� �

��)
�
����	 P1(x1)� (� �
� 	���� ��� �
� 
��� �����	 �������� �
� ��$ �����	 ����� x1 ��
��������� �� �
� 1��� !���� x(t1) �� �
� ������� !���� �
����	

B(·)ẋ(t) = f(x(t), z(t), u0), t ∈ [t0, t1],
0 = g(x(t), z(t), u0), t ∈ [t0, t1],

x0(t0) = x0,

��� �
� ������� !���� �����
���� ��
 �
� �
����	 P1(x1) ��

sx1 = x1.



#. ��������
(
�� �
 �!� ������
�� ������
���

8�� �� ��$ 
���
� �
� �
������ �
����	 P0(x0) �� �
� ���� 
�
�"�� ��� $��
 �� ����������
�����
���� �
�� 1��� �
� ����
�� q0 �� �
� 1
�� ����
!�� �� �� �'��� �� �
� �	���	�����
!���� u0 = q00 +Δq00 = q10 � �
�� �
����	 �
�� �������� �
� �����
�����

sx1 − x0(t1; s
x
0, s

z
0, q0) = 0,

g(sx0, s
z
0, q0) = 0,

sx0 − x0 = 0,

q0 − u0 = 0,

$
��
 �����
��� sx0  sz0 q0 ��� sx1 ���'����� (� �
� �������� sx1 = x1 ������� �
� 
������
������� !���� �
����	

B(·)ẋ0(t) = f(x0(t), z0(t), q0), t ∈ [t0, t1],

0 = g(x0(t), z0(t), q0)− e
−β

t−t0
t1−t0 g(sx0, s

z
0, q0), t ∈ [t0, t1],

x0(t0) = sx0 ,

�� �'��!����� �� �
� 
��� �����	 ����	��� �� sx0 = x0 q0 = u0 g(sx0, s
z
0, q0) = 0 �� �
��

x0(t1; s
x
0 , s

z
0, q0) = x(t1) = x1� 7��� �
� ��

��� !����� ��
 s0, q0 �
� ����� ��
��� �
�

���
���!� �������� �
�����
� �
�� �
� ��� �
����� ���	�
� ��� �
� ���!� �����
����� �
�
��	������� �'��!����� �� sx1 = x1�

3�
 7%� 	����� �
� ��

��� �������� ��
 sx0 , q0 �� ��
���� ����� ����
 �
� 1
�� ���
��� 
��� �� �
� �����
��� �� �
� ������� !���� �����
���� ��� ��� �� �
� ���� �
�� u0 $�� ��� =���
�� �
� �����	� �� �
�� 1
�� ���
���� �
�
���
� 1���� �� q0 �� ��	������� �'��!����� �� �
�
�

��)��� �� �
� 
�
�"��� 7�� ����
� ��	��������� �
���� 
�$�!�
 ��
 %&� 	�����> ����

�
� 1
�� ���
��� sz0 	�� ����� ��� �� �� ��� ��

��� !���� �� �
� 1��� ����
�� ��
	������� ����� 
g(sx0, s

z
0, q0) 	= 0� ��� �
�� 	�� 
����� �� � !���� x0(t1; s

x
0, s

z
0, q0) �
�� �� ����
��� ��#�
���

�
�	 �
� ��

��� !���� x(t1) ��� �� �
� %&� 
���������� <� $��� ���
���
� �
�� ����
�
��#�
���� �
�� �� ���� �
����� �� �
� 
������ %&� ���� ���� �
�� ����� �!�� �� ����
�
����
�� � ����
� ����
��
��� �� �
� 
��� �	���	�������� �!�
 �
� 1��� ����
�� ��
	������� $
��

$� ���� ���
����� 
�
� ��
 �
��
������ ��
�������

8�� �� �
�
���
� ����	� �� �
� 
�	������ ��
� �� �
�� �
����
 �
�� �
� 
������	� ���
��
����� �� �

��)��� 
�
�"��� �
� ��������� �� � �����'���� 1���� �� �
� ����
��� q0, . . . , qN−1

�� �
� �
������ �#����� ����	�"����� �
����	 �H�F� $
��
 $� ������� �� P (x0) �
 P0(x0)�
3�
 ���������� ���!������� $� $��� �� �
� �����$��� ��1�� P 0 := P0(x0) = P (x0) �� ��
�
� �
������ ��#������ �
����	 ��� ������ �� P k �
� �
����	� $��
 	�
� ��� 	�
� 1���
����
��� �
�� �
� ����
���� ��
��� �
� 
������	� ���
������ ��� $
��
 �
� �'��!����� �� �
�
�

��)��� 
�
�"�� �
����	� Pk(xk)� & !������"����� �� �
� �����	� �� �
� 1
�� �$� 
������	�
���
������ �� ��!�� �� 3���
�� H�/ ��� H�I�

�
� ��
��� �� �
����	� P k k = 0, . . . , N �
� ��!�� ��

P k : min
q,s

F (q, s) ���=��� ��

{
G(q, s) = 0,
qi − ui = 0, i = 0, . . . , k − 1.
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q1
0

q11
q12

q1N−1�
�x1
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s10 s11
s12

s13

	 s1N

�
t0

�
t1

�
t2

�
t3

� �
tN

�

3���
� H�/> �8� !�
����� ������� ����
 �
� 1
�� 
������	� ���
������ �
� ���� ����	�"�����
�
����	 P 1 �� ��
	������ �� 1���� �
� 1
�� ����
�� !���� q0 $
��
 �	�������� 1��� �
�
!���� x1�

q2
0

q2
1

�
�s21

x2
�
s22 s23	 	 	 	 	 	 	 	 	

�

s20

	
�
t0

�
t1

�
t2

� � ��

3���
� H�I> �8� !�
����� ������� ����
 �
� ������ 
������	� ���
������ �
� �
����	 P 2 ���
�� ��
	������ �� 1���� q0 ��� q1 $
��
 �	�������� 1��� x2�

I r----, 
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.7 ��������
(
�� �
 �!� ������
�� ������
���

�9����� �
�� q = (q0, q1, . . . , qN−1)�� (� � �
�
��
 ��
	������� $� $��� ���� $
��� �
���
�
����	� ��

P k : min
q,s

F (q, s) ����

{
G(q, s) = 0,

Qk
1
T
(q − uk) = 0.

+�
� �
� 	��
���� Qk
1 ∈ R

nq×mk  mk = knu �
� �� �
� ��
	

Qk
1 :=

(
Imk

0

)
, �H�/F�

��� �
� !����
� uk ∈ R
nq �
� ��1��� ��

uk :=

⎛
⎜⎜⎜⎝

u0
���

uk−1

∗

⎞
⎟⎟⎟⎠ , $��
 Qk

1

T
(q − uk) =

⎛
⎜⎝

q0 − u0
���

qk−1 − uk−1

⎞
⎟⎠ ,

�� �
�� �
� ���� ��	������� �� uk �
�� �
� ���
������ ���� ��
 ����
 ���������� ���!������� 
��� ��

� �
���
�
� !������ ���� �
�� �� �
� ���� �
����	 PN �� ���
��� �� �
����	 
�	��� 
�� ��� ��	������� �� q �
� 1����

4���� ��/��� ���	 ��������

<� $��� ��$ �
�!� �
�� �
� ��������
��� ��� ����	���������� ��������� ω ��� κ �
�	 �
�
�#����� �
����	 �H�F� �
� ����� !���� ��
 ��� 	���1�� �
����	 P k $
�� ��	� ����
��� �
�
1���� 8�� �� �� �
�� ���������� �������
 ���� ��� 	���1�� ����	�"����� �
����	 P k ���
�
�� �
� ����� k ��
 ���������� ��	�������>

min
q,s

F (q, s) ����

{
G(q, s) = 0

QT
1 (q − u) = 0

�H�//�

$
�
� �
� 	��
�� Q1 ∈ R
nq×m m ≤ nq �������� �� m �
�
���
	�� ����	�� �� �� �H�/F��

<� ���� ���
����� �
� �
�
���
	�� ��	���	��� �� Q1 ��

Q2 :=

(
0

I(nq−m)

)
∈ R

nq×(nq−m).

8�� �� ��
	����� �
� �������
� 1
����
��
 ���������� �� ����	����� ��
 �
� 	���1�� �
����	�
<� ���
����� �
� 8��
������ �������� L̃ �� �
� 	���1�� �
����	 �H�//�

L̃(q, s, λ, μ) := L(q, s, λ)− λQ
TQT

1 (q − u),

$
�
� L �� �
� 8��
������ �������� �� �
� �
������ �
����	 �H�F�� �
� �������
� ����������
�� ����	����� ��
 �
� 	���1�� �
����	 �
�>

∇(q,s,−λ,−λQ)L̃(q, s, λ, λQ) =

⎛
⎜⎜⎝

∇qL −Q1λQ

∇sL
G(q, s)

QT
1 (q − u)

⎞
⎟⎟⎠ = 0. �H�/I�



'3� �!� ����
�� &������ .�

����������� �
� 1
�� ��	������ �� �
�� !����
 �� �
� �
�
������ 	��
�� (Q1|Q2)
T ∈ R

nq×nq

������ ⎛
⎜⎜⎜⎜⎝

(−λQ +QT
1∇qL

QT
2∇qL

)
∇sL

G(q, s)
QT

1 (q − u)

⎞
⎟⎟⎟⎟⎠ = 0

��� �� ��� �� ���� �
�� �
� ����
 ��
� ��� ��$��� �� 	��� "�
� �� �
������

λQ := QT
1∇qL.

�
�
���
� �
� �
�!��� 1
�� ��������� ��� �� �	����� �� �
� ��
	������� �� �
� �������
�
���������� ��
 ����	����� �� �
� 	���1�� �
����	 ��� $� �� ��� 
�!� �� 
���
� �
� �����
������ 	��������
� λQ� �
�� ����$� �� �� �
��� �
� 	���1�� �
����	 �� �
� ��	� �
�	�������
����� �� y ∈ R

n �� �
� �
������ �
����	 $��
 n = nq +ns+ns� %�1���� �
� ��������� ��
�
�� �
� 
������� �� �
� �������
� ����	����� ���������� �� ��

R̃(y) :=

⎛
⎜⎜⎝

QT
1 (q − u)
QT

2∇qL
∇sL

G(q, s)

⎞
⎟⎟⎠ =

⎛
⎜⎜⎝
QT

1 (q − u)
0
0
0

⎞
⎟⎟⎠ +

⎛
⎜⎜⎝

0
QT

2

I

I

⎞
⎟⎟⎠R(y)

$� ��� ��	���� �
� ��
�!���!�

∂R̃

∂y
=

⎛
⎜⎜⎝

QT
1

0
0
0

⎞
⎟⎟⎠ +

⎛
⎜⎜⎝

0
QT

2

I

I

⎞
⎟⎟⎠ ∂R

∂y
�H�/4�

��� �
�!��� �� ���
���	����� �� �
�� ��
�!���!� $
��
 ���� �
� ���
���	����� J(y) �� �
�
�
������ �
����	

J̃(y) :=

⎛
⎜⎜⎝

QT
1

0
0
0

⎞
⎟⎟⎠ +

⎛
⎜⎜⎝

0
QT

2

I

I

⎞
⎟⎟⎠ J(y)

=

⎛
⎜⎜⎜⎝

QT
1 0 0

QT
2Aqq QT

2A
T
qs QT

2
∂G
∂q

T

Aqs Ass
∂G
∂s

T

∂G
∂q

∂G
∂s

0

⎞
⎟⎟⎟⎠ .

�H�/H�

�!����� '3+ :��������
�� ��������� 
�� �!�  ��
>�� &������<
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(
�� �
 �!� ������
�� ������
���

��� ��� �������� 8�=�����9 
��+��� �H�F�4 ���� ��� 	���
���
� �

��!������� J̃ : D → R
n

�� ��� ��	�B�	 
��+��� �H�//� �����B�� ��� �(� ���	������∥∥∥∥∥J̃(y1)−1

(
J̃(y2)− ∂R̃

∂y
(y2)

)∥∥∥∥∥ ≤ κ < 1, ∀ y1, y2 ∈ D, ��	 �H�/L��

∥∥∥J̃(y1)−1
(
J̃(y2)− J̃(y3)

)∥∥∥ ≤ ω‖y2 − y3‖, ∀ y1, y2, y3 ∈ D, �H�/L��

(��� ��� ���� 
����� �� κ ��	 ω �� ��� �=����� 
��+���4

�����-8 �
��� �$� ������ ��

������ �� �
� �
���
���� �H�FI�� ��� �H�FI�� �� �
���

�	 H�F�I �
�� ����$��� �� �������� �
�� �
� ����
������ ���'������

‖Δyk+1‖ ≤
(
κ+

ω

2
‖Δyk‖

)
‖Δyk‖

���� 
���� ��
 �
� 	���1�� �
����	� �
�� �	����� �
�� �
� ����	�"����� �
����	 ���� ���
����	� ���� �
������� �
�	 �
� ����
��
	�� !��$����� $
�� $� ��� ���������� �����
������
+�$�!�
 $� �� ��� ���
��� �
� '������� � �������� �
����	 ��������"����� ����

�� �
�!� �
� �
��
�	 ��� �� 1
�� ��!� �� �������� ��
	��� �� �
� ��!�
�� J̃(y)−1�

����� '3' ://� ��(���� 
�� �!�  ��
>�� &������<
��� ��
���� �� ��� �����! J̃(y) �� 	�B��	 �� �24 �H�/H� �� ��
�� +� ��� �������

J̃(y)−1 = Q

⎛
⎜⎜⎝

I

C̃1Ã
−1
r C̃T

1 + C̃2

⎞
⎟⎟⎠

⎛
⎜⎜⎝

I

−QT
2AqqQ1 I

−AqsQ1 I

−∂G
∂q
Q1 I

⎞
⎟⎟⎠ , �H�/J�

(���

Q :=

⎛
⎝ Q1 Q2

I

I

⎞
⎠ ,

Ãr(y) := QT
2Ar(y)Q2, �H�/K��

C̃1(y) :=

⎛
⎝ QT

2

I

I

⎞
⎠C1(y)Q2, �H�/K��

��	

C̃2(y) :=

⎛
⎝ QT

2

I

I

⎞
⎠C2(y)

⎛
⎝ Q2

I

I

⎞
⎠ , �H�/K��

(���� Ar(y)$ C1(y)$ ��	 C2(y) ��� 	�B��	 �� �� 0���� E47 ��� ��� �������� 
��+���4
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&���
 �
 ����� '3'8 <� $��� �
��) �
�� J̃(y)J̃(y)−1 = I� 3�
�� ���� �
��

J̃(y)Q =

⎛
⎜⎜⎜⎝

I

QT
2AqqQ1 QT

2AqqQ2 QT
2A

T
qs QT

2
∂G
∂q

T

AqsQ1 AqsQ2 Ass
∂G
∂s

T

∂G
∂q
Q1

∂G
∂q
Q2

∂G
∂s

0

⎞
⎟⎟⎟⎠ .

�
� ��!�
�� �� �
� ��$�
�
��
� ��
� �� �
�� 	��
�� ��� �� �������� �� �� ����������� ��
8�		� H�/ ������ QT

2Q2 = I�� (�� ��!�
�� �� ��!�� ��⎛
⎜⎝ QT

2AqqQ2 QT
2A

T
qs QT

2
∂G
∂q

T

AqsQ2 Ass
∂G
∂s

T

∂G
∂q
Q2

∂G
∂s

0

⎞
⎟⎠

−1

= C̃1(y)Ã
−1
r (y)C̃T

1 (y) + C̃2.

�
�
���
� 

J̃(y)Q

⎛
⎜⎜⎝

I

C̃1Ã
−1
r C̃T

1 + C̃2

⎞
⎟⎟⎠ =

⎛
⎜⎜⎝

I

QT
2AqqQ1 I

AqsQ1 I
∂G
∂q
Q1 I

⎞
⎟⎟⎠ ,

$
��
 �� �
� ��!�
�� �� �
� 
��
�	��� ����) 3
������� 	��
�� �� ��
	��� �H�/J��

&���
 �
 �!����� '3+8 ���� �
�� C̃1(y) ��� C̃2(y) �� ��1��� �� �'�� �H�/K�� ��� �H�/K��
�
� �
�=������� �� C1(y) ��� C2(y) �� �
�� �
��
 ������
��� 	��
�� ��
	 �����1��

‖C̃1(y)‖ ≤ ‖C1(y)‖ ≤ βC1 , ∀y ∈ D,

���

‖C̃2(y)‖ ≤ ‖C2(y)‖ ≤ βC2 , ∀y ∈ D.

�� �
�!��� � ����� �� �
� ��!�
�� Ãr(y)
−1 $� 
�!� �� ��� �
� ���� �
�� Ar(y) ��

������!� ��1����� 3�
�� $� �
�$ �
�� �
� �����!����� �� �
� �
�=������ Ãr(y) = QT
2Ar(y)Q2

��� ���$��� �
� 	���	�	 ��� 	���	�	 �����!����� �� Ar(y)� �� �
�!� �
�� $� ���� �
��
Ãr(y) �� � ���	��
�� �� Ar(y) ��

Ar(y) =

(
QT

1

QT
2

)
Ar(y) (Q1|Q2) =

(
X X

X Ãr(y)

)

,� �
� ����
������ �
���
�� ���� ���� O<��LHP ��� F0IRF04� �
� �����!�����
λ̃1(y), . . . , λ̃(nq−m)(y) �� �
� ���	��
�� Ãr(y) 	��� ��� �� �
� �����
�	 �� Ar(y) ���� 

λ̃k(y) ∈ [λ1(y), λnq(y)]� (� ��
������
 λ1(y) ≤ λ̃1(y) ��
 �
� �	������ �����!������ �
�



.+ ��������
(
�� �
 �!� ������
�� ������
���

��!�
�� �� �
� �	������ �����!���� ��

������� �� �
� �����
�� ��
	 �� �
� ��!�
�� �� �
������!� ��1���� 	��
�� �� �
�� $� ������ �
��

‖Ãr(y)
−1‖ =

1

λ̃1(y)
≤ 1

λ1(y)
= ‖A−1

r (y)‖ ≤ βA, ∀y ∈ D.

�
�� ����$� �� 1�� � ����� �� �
� ����
�� ��
� �� �
� ��!�
�� J̃(y)−1 �� ��
	��� �H�/J�>∥∥∥C̃1(y)Ãr(y)
−1C̃1(y)

T
+ C̃2(y)

∥∥∥ ≤ βC1βAβC1 + βC2 = β, ∀y ∈ D.

3
�	 �'�� �H�/4� ��� �H�/H� �� �����$� �
��

J̃(y2)− ∂R̃

∂y
(y2) =

⎛
⎜⎜⎝

0
QT

2

I

I

⎞
⎟⎟⎠

(
J(y2)− ∂R

∂y
(y2)

)

���

J̃(y2)− J̃(y3) =

⎛
⎜⎜⎝

0
QT

2

I

I

⎞
⎟⎟⎠ (J(y2)− J(y3))

��� �
�	 ��
	��� �H�/J� �
��

J̃−1(y1)

⎛
⎜⎜⎝

0
QT

2

I

I

⎞
⎟⎟⎠

=

⎛
⎝ Q2

I

I

⎞
⎠ (

C̃1(y1)Ãr(y1)
−1C̃1(y1)

T
+ C̃2(y1)

) ⎛
⎝ QT

2

I

I

⎞
⎠ ,

$
��
 
�� � �����
�� ��
	 ���� �
 �'��� �� β� �
�� ����$� �� ��������
 �
� ����
�� ������>∥∥∥∥∥J̃−1(y1)

(
J̃(y2)− ∂R̃

∂y
(y2)

)∥∥∥∥∥
=

∥∥∥∥∥∥∥∥
J̃−1(y1)

⎛
⎜⎜⎝

0
QT

2

I

I

⎞
⎟⎟⎠

(
J(y2)− ∂R

∂y
(y2)

)∥∥∥∥∥∥∥∥
= β

∥∥∥∥∥J(y2)− ∂R̃

∂y
(y2)

∥∥∥∥∥ ≤ κ < 1, ∀y1, y2 ∈ D,



'3� �!� ����
�� &������ .'

��� ∥∥∥J̃−1(y1)
(
J̃(y2)− J̃(y3)

)∥∥∥
= β ‖J(y2)− J(y3)‖ ≤ ω‖y2 − y3‖, ∀y1, y2, y3 ∈ D.

4���$ ���-	��	��	 �� ��	 !	��1 ��	 (�	�������

(� �
�� ���������� $� 1����� �������
 �
� �����
�� �
�� $� �����'������ 1� 	�
� ��� 	�
�
�
�� ��	������� ��
��� �
� ��$��� ���� ���
������� �� �� ���� �� ����) ���!��������
����� ���!�
����� ��� �� �� ���� �� ��1�� � ��	�� ����� y∗ �� �
� 
������	� ���
���� yk $�
$��� 
���
� �� ��1���� ��'����� �� ����	�"����� �
����	� P k k = 0, 1, . . .  $
�
� $� ��1��
PN+k := PN ��
 k > 0� 3����$��� �
� N��
 ���
��� �� ���
��� �� �
����	 
�	��� ��� �
�
���
���� 	�� ����� �� ���!�
���� ��$�
�� �������������

&� ��������� ���!� �� �
� k��
 ���
��� �
� �
����	 P k

P k : min
q,s

F (q, s) ����

{
G(q, s) = 0

Qk
1
T
(q − uk) = 0

�H�/G�

�� �
����� $
�
� �
� 	��
���� Qk
1 ∈ R

nq×mk ��� �
��
 �
�
���
	�� ��	���	���� Qk
2 ∈

R
nq×(nq−mk) �
� �� �
� ��
	

Qk
1 :=

(
Imk

0

)
, ��� Qk

2 :=

(
0

I(nq−mk)

)

$��
 ������
������ ������
� mk �
�� ������� 0 = m0 ≤ mk ≤ nq� ���� �
��

Qk+1
2 = Qk

2Πk $��
 Πk :=

(
0

I(nq−mk+1)

)
∈ R

(nq−mk)×(nq−mk+1).

�
� !����
� uk $��� �� ��1��� ��
��� �
� ���
������ $��
 ���
���� yk = (qk, sk, λk) �� ��

uk := qk, k = 0, . . .

���� �
�� �
� 1
�� �
����	 P 0 
�� �� ���������� �����
���� ������� m0 = 0 ��� ��

��
������ �� �
� �
������ �#����� �
����	 �H�F� �
�� $�� �
����� �� .��� H�F� (� ����
��� �� P 0 
�
� �
����	� P 1, P 2, . . . �
� ���� ����
���� ��
��� �
� ���
������ ��� �
�
���
� ������ ��
�
� ��������"����� y0 ��� �� �
� �
���� ��$��� ���� 	��
���

���
 �
����	 P k �� �'��!����� �� 1����� �
� "�
� �� � �������� Rk �� �����$�>

Rk(y) :=

⎛
⎜⎜⎝

Qk
1
T
(q − uk)

Qk
2
T∇qL
∇sL

G(q, s)

⎞
⎟⎟⎠ = 0.

������ �������� ���� ��� ��� ����
� � ������
� ��
	���� �� �
����� �������� ����� ��� N  �� ��������



., ��������
(
�� �
 �!� ������
�� ������
���

���� �
�� �
� �������
� ����	����� ���������� R0(y) = 0 ��

������ �� �
� �#����� ���������
R(y) = 0 �
�� $�� ��1��� �� �'� �H�I� �� .��� H�F�F� �
� ��
�!���!� ���
���	����� Jk(y)
�� ��1��� ����
���� �� �'� �H�/H� �� ��

Jk(y) =

⎛
⎜⎜⎝

Qk
1
T

0
0
0

⎞
⎟⎟⎠ +

⎛
⎜⎜⎝

0

Qk
2
T

I

I

⎞
⎟⎟⎠ J(y),

$
�
� J(y) �� �
� ��
�!���!� ���
���	����� �� R(y)�
%�
��� �
� 
������	� ���
������ ���
 ���� Δyk = yk+1 − yk �� ����
���� �� �� ����	��

�� �����) �
����	 P k ���
���� �� �
� ��

��� ���� ����� yk>

Δyk := −Jk(yk)−1 Rk(yk). �H�I0�

�!����� '3, :���(��"���� �
 �!� ������
�� ������
���<
0�� �� ������ ���� ��� ��D���� ���	������ ��� ����� ���
������� �� ������� E45 ��� ������
B�	 ��� ��� �������� 8�=�����9 
��+��� �H�F�4 ���� ��� ��2����� �� ��������� �������� (yk)
�����	��� �� �24 �H�I0� ���
����� ��(��	� � �����+�� 
����

y∗ ∈ D0 =

{
y ∈ R

n| ‖y − y0‖ ≤ ‖Δy0‖
1− δ0

}
⊂ D, δ0 = κ+

ω

2
‖Δy0‖.

�����-8 �
���
 �
�� �
��
�	 ���� �
� ��
	 D���!�
�����E ��� 
���
�� �
� ��1����
��'����� yk �� �� ��� �
� ��
�!���
 ��
 k → ∞ �
�� ������ �
� �������� �� �
�	 k = N
�� $� �
��� ��$��� �
� ��	� ����	�"����� �
����	 PN Q �
� �������� ���� �� �
�$��� �
��
�
� B��� ���
���� y1, y2, . . . , yN 
�	��� �� �
� ��� D0�

&���
8 <� $��� �����$ �
� ����� �� �
� �
��� �� �
��
�	 H�F� ���� �
�� �
� 1
�� ���� Δy0

�� �
� 
������	� ���
������ ��������� $��
 �
� 1
�� ���� �� �
� �#����� ���
������� �
�
���
� 
�� �
�!� ���!�
����� ��$�
�� � ��	�� ����� y∗ = (q∗, s∗, λ∗) $� ���� 
�!� �� �
�$ �
�� �
�
����
������ �
���
�

‖Δyk+1‖ ≤
(
κ+

ω

2
‖Δyk‖

)
‖Δyk‖ �H�IF�

�� �����1�� ��
 �
� 
������	� ���
����� (� � ������ ���� $� $��� �
�$ �
�� �
� �
�	�� ��
�
(q∗, s∗) �� �
� ��	�� ����� �� ���������

(� �
��
�	 H�4 �� .��� H�/�/ $� 
�!� ��
���� �
�$� �
�� 1���� �� ��	������� ���� ���
���
���� �
� ��������� κ < 1 ��� ω �
�� �
� ���� �� �
�!� �
� ����
������ �
���
�� ��
 �
������ ����	�"����� �
����	� �
�� 	���� �
�� ��� ��
�!���!� ���
���	������ Jk ������� �
�
������ �H�FI�� ��� �H�FI���

,�� 
�$ �� ��	��
� �
� ����� Δyk ��� Δyk+1 �
�� ��

������ �� ��#�
��� 
�������
��������� Rk ��� Rk+1T
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�
� �
��) �� �
�!� �
� ����
������ �
���
�� �H�IF� �� �� �
��� �$� �����'���� ����� Δyk

��� Δyk+1 �� �� ���� (��� +�������� �� ��� ���� �
���������� 
��+��� P k+1 (��� ����	���
�������� Rk+14 (� �
�� �� �
�� �'� �H�F4� ��� ��
����� �� ���� �� �
�!� �
� ����
������
�
���
��� �
�� �
��) �� ��
�������� ������� �� ����	�� �
�� �
� �����
����

Qk+1
1

T
(q − uk+1) = Qk+1

1

T
(q − qk+1) = 0

�� ��
���� ��1��� ����
� �
� ���
��� yk+1 = (qk+1, sk+1, λk+1) �� ��	����� ���� ����
� qk+1

�� )��$�W
3�
�������� �� ��� �� �
�$� �
�� �
� ���� Δyk �� ��� �
����� �� �� $���� 
�!� ����

��1��� ��

Δyk := −Jk+1(yk)−1 Rk+1(yk)

������� ��

Δyk := −Jk(yk)−1 Rk(yk)

�� �� �'� �H�I0�� �� ��� �
�� ���� �
�� Δyk �� �
� ���'�� �������� �� Rk(yk)+Jk(yk)Δyk = 0�
<� $��� �
�$ �
�� �� ���� �����1�� Rk+1(yk) + Jk+1(yk)Δyk = 0�

Rk+1(yk) + Jk+1(yk) Δyk

=

⎛
⎜⎜⎜⎝
Qk+1

1

T
(qk−qk+1)

Qk+1
2

T∇qL
∇sL

G(q, s)

⎞
⎟⎟⎟⎠ +

⎛
⎜⎜⎜⎝

Qk+1
1

T

Qk+1
2

T
Aqq Qk+1

2

T
AT

qs Qk+1
2

T∂G
∂q

T

Aqs Ass
∂G
∂s

T

∂G
∂q

∂G
∂s

0

⎞
⎟⎟⎟⎠

⎛
⎝qk+1−qk

sk+1−sk

λk−λk+1

⎞
⎠

=

⎛
⎜⎜⎝

0

Qk+1
2

T

I

I

⎞
⎟⎟⎠

⎛
⎝

⎛
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∇sL
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⎞
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⎞
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=

⎛
⎜⎜⎝

0

ΠT
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2
T

I

I

⎞
⎟⎟⎠

⎛
⎝

⎛
⎝ ∇qL

∇sL
G(q, s)

⎞
⎠+

⎛
⎜⎝ Aqq AT

qs
∂G
∂q

T

Aqs Ass
∂G
∂s

T

∂G
∂q

∂G
∂s

0

⎞
⎟⎠Δyk

⎞
⎟⎠

=

⎛
⎜⎜⎝

0
ΠT

k

I

I

⎞
⎟⎟⎠

⎛
⎝

⎛
⎝Qk

2
T∇qL
∇sL

G(q, s)

⎞
⎠+

⎛
⎜⎝ Qk

2
T
Aqq Qk

2
T
AT

qs Qk
2
T∂G
∂q

T

Aqs Ass
∂G
∂s

T

∂G
∂q

∂G
∂s

0

⎞
⎟⎠Δyk

⎞
⎟⎠

=

⎛
⎜⎜⎝

0
ΠT

k

I

I

⎞
⎟⎟⎠

⎛
⎝ 0

0
0

⎞
⎠ = 0.
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3���
� H�4> 8�	�� ����� w∗ �� �
� 
������	� ���
����� ���
���
 �$��
 *�������$��� ���
�
������� �� ���	��� H�/ $
��
 �� !�
� ��	���
 �� �
� ����� �#����� �������� ������� ���
3��� /�I��

�
�
���
� �
� ���
������ ���!�
�� ��$�
�� � ��	�� ����� y∗ ∈ D0� �� �
�$ �
�� �
��
����� �� �������� ���� �
�� �� ��	� �
����	 P k0 �� 	�
� ��	������� ��� �� 1��� ���
�� �����1� k0 = N �� �
� 
������	� ���
������ ��
 �
� 	������� �
������ 	��
��� �� �
��
Rk = Rk0 , ∀ k ≥ k0� �
�
���
�

0 = lim
k→∞

−Jk(yk)−1Rk(yk) = lim
k→∞

−Jk0(yk)−1Rk0(yk) = −Jk0(y∗)−1Rk0(y∗),

�� �
�� Rk0(y∗) = 0 $
��
 �	����� G(q∗, s∗) = 0�

*	����� '3� :����
����� ��
���� ���- �������<
0�� �� ����� �����	�� �!��
�� E434 ��� ����� 
���� w∗ = (q∗, s∗) �� ���(� �� &��4 E4:H �
���
������ �� ��� ���
������� ����� ��� ��� 1�(��� ��	 '�����1�(��� �����	 �� ���(�
�� &��4 E4E4
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3���
� H�H> ���!�
����� 
���� ��
 ��$��� ���� 	��
��� ��
 �
� 
������	� ���
������ ��
���	��� H�/� ��	��
���� �� ��$��� ��� *�������$��� 	��
��� �
� ������ ����� ��������
�
� ���!�
����� 
���� ��
 �
� �#����� �������� ���� ���	��� H�F��

4"* ���������
 �� �
�.�
� �
� �0�.�
� ���'
��
�

<� $��� ��$ ��!�������� �
� �

�
 �
�� $� 	�)� �� ����� �
� 
������	� ���
����� ��
�	� 
��	��
�� �� �
� ����� �#����� �������� �� P 0� <� ������ �
� �#����� �������� ��$ �� y∗0 ��
����������
 �� �
�	 �
� ��	�� ����� y∗ �� �
� 
������	� ���
������� <� $��� ���� ��	��
� y∗

$��
 �
� ����� ��������� y∗k �� �
� ����	�"����� �
����	� P k ��
 k ≥ 1� ���� �
�� ��� ����
�
� ��	�� ����� y∗ ������� �� �
� ������� ����� y0 ��� �
� �
���� ��$��� ���� 	��
�� ���
���� �
� ����� ��������� y∗k ������� �
� ����	�"����� �
����	� P k �
� ����
���� ��������

.�!�
�� 
������ �
� ��������
��Q 1
�� $� ����� �
� ��������� ‖y∗ − y∗k‖ �� �
� ����� ��
22� ������ y = (q, s, λ) �� �
� ��"� �� �
� 1
�� ���� Δy0� .������� $� �
�$ 
�$ �
�
1
�� ���� Δy0 ������ �� ������� �� �
� ������� ����� y0 $�� �
� �������� �� � ����
��
���
����	�"����� �
����	� 3������ $� $��� ��!�������� 
�$ 	��
 ����	����� �� ���� $��
 
������
�� �
� ��=����!� ���������

4�$�� �������	 �� "#����� ���������

�!����� '3# :�
������ �� �5��
�� �����
��<
�� ��� ��D����� ���	������ ��� �=����� ���
������� �� ������� E45 ��� �����B�	$ ��� 	�������
+��(��� ��� ����� 
���� y∗ �� ��� ��������� ���������� �� 	�B��	 �� �24 �H�I0� ��	 ��� ��������
y∗0 �� ��� �=����� �
���������� 
��+��� P 0 ��� +� +���	�	 +�

‖y∗ − y∗0‖ ≤ 2δ0‖Δy0‖
1− δ0

, δ0 = κ+
ω

2
‖Δy0‖. �H�I/�

&���
8 <� 	�)� ��� �� �
� ���� �
�� �
� ���
���� ��
 �
� �������� �� �
� �#����� �
����	 ��
�� �
��
�	 H�I ��� �
� 
������	� ���
������ (yk) �������� �� y0 ��� y1 ����
� �
�� ����
����



�7 ��������
(
�� �
 �!� ������
�� ������
���

&� �
�� 
�!� �
� ��	� ����
������ ��������� κ < 1 ��� ω ���� δ0 �� ��������� ��
 ���
�
-���� �
� �
���
�� �H�FH� �
�	 �
� �
��� �� �
��
�	 H�F ��
 �
� ��$��� ���� ���
����

‖yk+m − yk‖ ≤ 1

1− δ0
‖Δyk‖ ≤ δk0

1− δ0
‖Δy0‖, ∀ k,m ≥ 0,

$� ������ �
��

‖y∗ − y1‖ = lim
m→∞

‖y1+m − y1‖ ≤ δ0
1− δ0

‖Δy0‖.

3�
 �
� �#����� �������� y∗0 �� P 0 �
� ��	� ���'������ 
���� �� �
��

‖y∗ − y∗0‖ ≤ ‖y∗ − y1‖+ ‖y∗0 − y1‖ ≤ 2δ0
1− δ0

‖Δy0‖.

&� ����
������ ��
����
� �� �
�� �
��
�	 �� �
� �����$���>

��������� '3. :�!�
�-
�" �
������ �� ���
��� �����
���<
��� 	������� +��(��� ��� ����� 
���� y∗ �� ��� ��������� ���������� �� 	�B��	 �� �24 �H�I0�
��	 ��� �������� �������� y∗k �� ��� k��� ������� �
���������� 
��+��� P k ��� +� +���	�	 +�

‖y∗ − y∗k‖ ≤ 2δk‖Δyk‖
1− δk

≤ 2δk+1
0 ‖Δy0‖
1− δ0

.

�
�� 	���� �
�� �
� ��	�� ����� y∗ �� �
� 
������	� ���
������ �� ����� �� �
� 
���
���
�������� �� � �
����	 P k �� k < N �� �
���� ��
�� �����
 ����� �
�� ��
 k ≥ N  y∗k = y∗

���$�� �� �
� �
����	 ���� ��� �
���� ���	�
��� ���� �
�� �
� ���
���� ���!�
�� ��
������� ����������� �
����	� 	��
 �����
 �
�� �
� 
�
�"�� �

��)� ����� ���	��� H�/��
�
�� ����$� �� �������� �
�� �
� 
������	� ���
���� �
��������� �
�!��� �� ����	�� ��������
y∗k �� � �
����	 P k $��
 � 
�����!��� �	��� k < N  ���� ��
 � �
����	 $��
 � ����
���
�
�
����� 
�
�"�� �����

4�$�� ��&	 �� ����� ��	# ���	� (������ .���	 ,��	

���

�� )��$ 	�
� ����� �
� �������� ���$��� �
� �$� ������ y∗ ��� y∗0 �� �� �������
� �� 1��
� ����� �� �
� 1
�� ���� Δy0� 8�� �� �
�
���
� �� ���) �� �
� ��
	������� ��
 �
� �#�����
����	�"����� �
����	 P 0 = P (x0) �
�� $�� ��!�� �� .��� /�/ $
��
 )���� �
� ������� !����
�����
���� ����
���>

P 0 : min
q,s

F (q, s) ���=��� ��

{
sx0 − x0 = 0,

G̃(q, s) = 0,

�
� ����	����� 
������� !����
 �
�
���
� 
�� �
� ��
����
�

Rx0(y) :=

⎛
⎜⎜⎝

∇qL
∇sL

sx0 − x0

G̃(q, s)

⎞
⎟⎟⎠ .



'3$ ������
��� �
 ����
�� ��� �5��
�� �����
��� ��

���� �
�� �
� ��
�!���!� ∂R
∂y

��� �
� ��
�!���!� ���
���	����� J �� ��� ������ �� �
�

!���� �� �
� ��
�	���
 x0� <� $��� ��$ ��������
 � ����� �� �
� 1
�� ���� Δy0 ����
 �
�
������� !���� �	������� �� �
� ���
������ �
� ���
��� �� �� ������� ����� y0 �
�� �� ������ �
�

����� �� � ����
��
��� ����	�"����� �
����	 ���� �
��
�	 I�L �� �
� 1
�� �
��
 �
��������
�� �� ����� +������ .M� ��� �
� ������� !���� �	������� ���� �� .��� 4�/��

����� '3� :2���� �� 0
��� ����<
0�� �� ������ ���� ȳ∗0 �� ��� �������� �� �� �
���������� 
��+��� P0(x̄0)$ ��	 ���� x0 = x̄0+ε4
���� ��� B��� ���
 Δy0 �� ��� ���������� ��� ��� �������� �� 
��+��� P 0 = P0(x0) (���
�������� �� y0 := ȳ∗0 ��� +� +���	�	 +�

‖Δy0‖ ≤ β‖ε‖,

(���� β �� 	�B��	 �� �� ������� E454

&���
8 <� 	�)� ��� �� �
� ���� �
�� Rx̄0(y
0) = Rx̄0(ȳ

∗
0) = 0 ��� ��������� Δy0 ��
�����>

Δy0 = −J(y0)−1Rx0(y
0)

= −J(y0)−1

⎛
⎜⎜⎝Rx̄0(y

0) +

⎛
⎜⎜⎝

0
0
−ε
0

⎞
⎟⎟⎠

⎞
⎟⎟⎠ = J(y0)−1

⎛
⎜⎜⎝

0
0
ε
0

⎞
⎟⎟⎠ .

�
� �
��� �� ��	������ �� ����� ‖J(y0)−1‖ ≤ β �� �
�$� �� �
� �
��� �� �
��
�	 H�I�

&� �� �		������ �����'����� �� �
�� ��		� ��� �� �
��
�	 H�J $� ������ �
� �����$���>

��������� '3�7 :�
������ �
��� ��
�
�� �
���������<
��� 	������� +��(��� ��� �������� �������� y∗0 �� ��� �
���������� 
��+��� P0(x0) ��	 ���
����� 
���� y∗ �� ��� ��������� ����������$ (��� ������	 �� ��� �������� ȳ∗0 �� � �����+�����
�
���������� 
��+��� P0(x̄0)$ �� I ��� � ������� 1�(��� ��
� �����	 I �� B��� ��	�� �� ���
���� �� ��� 	�����+���� ε = x0 − x̄0

‖y∗ − y∗0‖ ≤ 2
κ+ ω

2
β‖ε‖

1− (κ+ ω
2
β‖ε‖)β‖ε‖,

��	 I ��� �� �!��� 1�(��� �����	 I �� �����	 ��	�� �� ��� ���� �� ��� 	�����+����

‖y∗ − y∗0‖ ≤ ω

1− ω
2
β‖ε‖β

2‖ε‖2.

4�$�$ 7���
� �� ��	 %��� �� "#�������


��$ �
�� $� )��$ 
�$ ��
 �
� ��	�� ����� y∗ �� �
�	 �
� ����	�� �������� $� ��� ����
��!�������� 
�$ 	��
 ����	����� �� ���� �� ��
	� �� �
� ��=����!� �������� F (q∗, s∗)�



�� ��������
(
�� �
 �!� ������
�� ������
���

�!����� '3�� :���� �
 ���
���
��<
0�� �� ������ ���� ��� ��D����� ���	������ ��� �=����� ���
������� �� ������� E45 ���
�����B�	4 0�� �� ���� ������ ���� ��� �!��� 	���
���
� �����! ∂R

∂y
�� +���	�	 �� D0C∥∥∥∥∂R∂y (y)

∥∥∥∥ ≤ BR, ∀y ∈ D0.

#������� ��� ����� 
���� �� ��� ��������� ���������� +� y∗ = (q∗, s∗, λ∗)$ ��	 ��� �
�����
�=����� �������� +� y∗0 = (q∗0, s

∗
0, λ

∗
0)$ ��� ���� �� �
�������� ��� +� +���	�	 +�

F (q∗, s∗)− F (q∗0, s
∗
0) ≤

1

2
BR‖y∗ − y∗0‖2. �H�II�

&���
8 3�
�� ���� �
�� ��� ���� �
� ����� (q∗0, s
∗
0) ��� ���� �
� ����� (q∗, s∗) �� ��������

����
���� �� �
��
�	 H�L ���� G(q∗0, s
∗
0) = G(q∗, s∗) = 0� �
�
���
� $� ��� ��	��
� �
�

!����� �� �
� 8��
������ �������� L(q, s, λ) = F (q, s) − λTG(q, s) �
�� �������� $��
 �
�
��=����!� �� ���
 �������

L(y∗)−L(y∗0) =
∫ 1

0
∂L
∂y
(y∗0 + t1(y

∗ − y∗0)) (y
∗ − y∗0) dt1

=
∫ 1

0
R(y∗0 + t1(y

∗ − y∗0))
T (y∗−y∗0) dt1

=
∫ 1

0

(∫ t1
0

∂R
∂y
(y∗0 + t2(y

∗−y∗0))(y
∗−y∗0) dt2

)T
(y∗−y∗0) dt1

= (y∗−y∗0)
T
(∫ 1

0

∫ t1
0

∂R
∂y
(y∗0 + t2(y

∗−y∗0)) dt2 dt1
)T
(y∗−y∗0)

$
�
� $� 
�!� ���� �
� ���� �
�� R(y∗0) = 0� <� �������� �
��

‖L(y∗)−L(y∗0)‖ ≤ 1

2
Br‖y∗−y∗0‖2.

�
�� �
��
�	 �����
�
 $��
 ��
����
� H�F0 �	����� �
� �����$���>

��������� '3�� :���� �
 ���
���
�� �
��� ��
�
�� �
���������<
��� ���� �� �
�������� 	�� �� ��� ��������� ���������� ��� ��� �

��!����� �������� �� P0(x0)
�� �� �����	 ��	�� �� ��� ���� �� �� ������� 	�����+���� ε �� �� 6�������� E43< ��� � �������
1�(��� ��
� �����	C

F (q∗, s∗)− F (q∗0, s
∗
0) ≤ 2Br

(
κ+ ω

2
β‖ε‖

1− (κ + ω
2
β‖ε‖)β

)2

‖ε‖2, �H�I4�

��	 I ��� �� �!��� 1�(��� �����	 I �� ������ ��	�� �� ��� ���� �� ��� 	�����+����C

F (q∗, s∗)− F (q∗0, s
∗
0) ≤

Brω
2β4

2
(
1− ω

2
β‖ε‖)2‖ε‖4. �H�IH�



������	 '

� ����� ���( �� ��� ������
��

���	��
��

(� �
�� �
����
 $� ����
��� �� ������ $
�� ��	��������� �
� �������
� �� ��
��
	 ��� 
����
��	� ���
����� ��� $� �
�$ 
�$ �
��� ��	��������� ��� �� ��
��
	�� ���������� .��
����
$��
 �
� ��

��� ���
��� �� �
� !�
������ (w, λ, μ) $� ����
��� 
�$ �� 1����� �

�!� �� �
�
�������� (Δw, λ̃, μ̃) �� �
� M� �I�F0� �
�� ����$� �� ����
��� �
� ���� ���
���� �
���
 	���
��
�� �� �
� ����
��
	 �
� $��� )��$� $� �
����� ��� ������� 
�
� �� �� ���� �� �
�$ $
��
�� 	���� �� �
� ����
����� ���� �
���
����� ��� �������) �
��� $
��
 �� �	��
���� ��

�
� 
������	� ���
������� �
� �������) �
��� ��	�
���� ���� � �	��� �
������ �� �
� �!�
���
��	��������� $
��
 ��� �� ����� �� .���������� L�H�/ ��� L�H�/ ��
 �$� ����
����!� M�
�������� ���
���
���

<� $��� ���
� �
� �
����
 �� �
��5� ��!���������� �
� ��
����
� �� �
� ��������
 �
��
�
�		��� �
����	 �� .��� L�F ��� �
�$ 
�$ �
�� ��
����
� ����� �� � ��!��
���� ��
����
�
�� �
� M� �
�� 
�� �� �� ����
���� ��� ���!�� �� ���
 ������ (� ��
 ���
���
 @" �������
���� ��� @" �������� �
� ����
�$���� �� �
�� $� ������ ����
�� ����
��� �
��� �$� ������
(� .��� L�/ $� �
�$ �
�� ���� � �� ������ 
�������� ��	���	 M� 
�� �� �� ����
���� �� ��	�
�������� ����� �
� ��
��
	�� �� ��!���� ��� �� .��� L�I $� $��� ������� 
�$ �
� 
�	������
�������!����� ��� �� ��	����� ���������� <� ������� �����$ �
� ����� �� 8����$���
 O8��GGP 
$
� ��!������ �
� �	������ ��
���� 
�������� ��
������

&� ��$�� ��!������ *�������$��� ���
���
 �� ������ �� ��������� ���
���	����� ��
�
� +������ �� �
� �
������ �� �����
�� ����� �'��
�� ��
	� �� �
������� �� .��� L�4�

<� �
����� �$� ����
����!� ���
���
�� �� ���!� �
� ��
������ 
������ M�> �� .��� L�H
$� ����
��� �
� �� ������ ���������� ���
��'�� $
��
 $� �������� ���� ��
 �
� �
�������
��	�
���� ���	���� ��� $
��
 ��������� �
� ��
�� ��� ��
����
�� M� ���� � �	��� ���
����
����
�� M� $
��
 �� �
�� ���!�� �� ������
� ���
��'���� �
� ����
����!� ���
���

�
������� �� .��� L�L ���� ��
����� �����) �
� ��
�� ��
����
�� M� �� � ����	�� �
��
�	�
	��� ���
���
 �
�� ����� �� � 9������ 
���
����� ,��
 	��
��� ����$ �� ��
��
	 �
�
	��� �������!� ����� ����
� �
� ������ !���� �� x0 �� )��$� �
�� ����$��� �� �
���
� ��
D�		������ �������)E� 3������ $� ��!� � ��		�
� �� �
� �������
� ��	�������� �����

GI



�+ � ����� ���- �� ��� ������
�� ������
��

��
 
������	� ���
����� ��� �
�$ �
�� �
� ����
��
	 ��� �� ����
�
���� �� � ��������!�
����
����� �� ���
���	���� ����	�� �������) ����
�� ��$��

5"! ���#��� �
�'	
'��

&� �	��
���� �����
� �� �
� ��
��� 	������� �
������ 	��
�� �� �
� ���
�� ��
����
� �� �
�
��
�� ����� �8� �/�F0�� (�� 8��
������ �������� L(w, λ, μ) ��� �� $
����� ��

L(w, λ, μ) :=
∑N−1

i=0 Li(s
x
i , s

z
i , qi) + E(sxN , s

z
N)

−∑N−1
i=0 λx

i+1
T (xi(τi+1)− sxi+1)

−∑N
i=0 λ

z
i
Tg(sxi , s

z
i , qi) − λx

0
T (x0 − sx0)− λT

r r
e(sxN , s

z
N)

−μT
r r

i(sxN , s
z
N)−

∑N
i=0 μ

T
i h(s

x
i , s

z
i , qi),

$��
 λ = (λx
0 , . . . , λ

x
N , λ

z
0, . . . , λ

z
N , λr) ��� μ = (μr, μ0, . . . , μN)� �
�� 8��
������ ��������

�� 
�������� ��
���+��> 8�� �� 
��
��
 �
� !����
 w = (w0, . . . , wN) $��
 wi = (sxi , s
z
i , qi)�

�

�
�� �� ��� �� ���� �
�� �
� +������ 	��
�� ∇2
wL �� ����) �������� $��
 ����"�
� ����)�

Ai �
�� ��

������ ���
 �� �
� !�
������ wi ���� �,��) ��� ����� O,�K4P� ����

∇2
wL =

⎛
⎜⎜⎜⎝

A0

� � �

AN−1

AN

⎞
⎟⎟⎟⎠ .

�
� ��
������ M� �
�� ����� �� ��
	������ �� � ��

��� ���
��� w ���)� �� �����$�>

min
Δw0, . . . ,ΔwN

1
2

∑N
i=0ΔwT

i AiΔwi +
∑N−1

i=0 ∇wi
Li(s

x
i , s

z
i , qi)

TΔwi

+∇(sxN ,szN )E(sxN , s
z
N)

TΔ(sxN , s
z
N)

�L�F��

���=��� ��

sxi+1 − xi(τi+1) + Δsxi+1 −
∂xi(τi+1)

∂wi

Δwi = 0, i = 0, . . . , N − 1, �L�F��

g(sxi , s
z
i , qi) +

∂g

∂sxi
Δsxi +

∂g

∂szi
Δszi +

∂g

∂qi
Δqi = 0, i = 0, . . . , N, �L�F��

sx0 − x0 +Δsx0 = 0, �L�F��

re(sxN , s
z
N) +

∂re

∂(sxN , s
z
N)

Δ(sxN , s
z
N) = 0, �L�F��

ri(sxN , s
z
N) +

∂ri

∂(sxN , s
z
N)

Δ(sxN , s
z
N) ≥ 0, �L�F��

h(sxi , s
z
i , qi) +

∂h

∂wi
Δwi ≥ 0, i = 0, . . . , N. �L�F��

ΔqN −ΔqN−1 = 0 �L�F
�

��� ����

 ���� ���� qN := qN−1 �� ��
� ������	��� ��� ���������
 ����������� ��� ��� �� �� �
��������
������ �	� �� ��� 
�������� �� ��� ���������� qN = qN−1 �� ���� ��� �!��� ��� ������� �����"�



,3� �!� &���
�� ������
�� ���!�
4�� �'

(� �� � �
����� �����
� �� ��
 ����
��
	 �
�� �
�� M� �� ��
�� ����
���� ��
������ (������ 
�����$��� �
� ��
���� 
�������� ���
���
 ��!������ �� 8����$���
 O8��GGP 1
�� ���� �
�
�����
�"�� ����������� ���������� �L�F�� �
� ����
���� �
�� ����$ �� ���	����� Δszi �
�	 �
�
M� �� $��� �� ����
���� �� �
� �����$��� ��������

5"% ��� ���
��� ���'	
��
 ��	�
�1'�

�
� ��
���� 
�������� ���
���
 ���
�� �� �����$�> ���� �
� �����
�"�� ����������� ������
����� �L�F��

g(sxi , s
z
i , qi) +

(
∂g

∂sxi

∣∣∣∣ ∂g∂szi
∣∣∣∣ ∂g

∂qi

)
Δwi = 0, i = 0, . . . , N,

�
� ����
���� �
� �������� ���
��� �����	�(
∂g

∂szi

) (
dzi Dsx

i Dq
i

)
= −

(
g(sxi , s

z
i , qi)

∣∣∣∣ ∂g∂sxi

∣∣∣∣ ∂g

∂qi

)
, i = 0, . . . , N

�
� 
����!���� �
� 	��
��
(

∂g
∂szi

)
�� ��$��� ��!�
����� ��� �� �
� ��������� ����	����� ��


�
� %&� �����	� �
� ��������
(
dzi Dsx

i Dq
i

)
�� �
�� �����	 ����$� �� �����
��� �
�

!����
 ��� 	��
��

di :=

⎛
⎝ 0
dzi
0

⎞
⎠ ��� Di :=

⎛
⎝ I 0

Dsx

i Dq
i

0 I

⎞
⎠ ,

�
�� �
� ������ �
� ����� �
��� ��� ���� �
��� ��	������ �� �
� �����
�"�� �����������
���������� �������

∂g(sxi , s
z
i , qi)

∂(sxi , s
z
i , qi)

di = −g(sxi , s
z
i , qi) ���

∂g(sxi , s
z
i , qi)

∂(sxi , s
z
i , qi)

Di = 0.

(� �� ��
���
���
$�
� �� ��� �
��

Δwi := di +Di

(
Δsxi
Δqi

)
�L�/�

�����1�� �
� �����
�"�� ����������� ���������� �L�F�� ��
 �
���
�
� !����� �� Δsxi ��� Δqi� (�
�� �
�
���
� �������� �� ��
	����� �� �'��!����� ��	���	 M� $
�
� �
� !�
������ Δszi �
�
��	������� ���	������� 3�
 �
�� ��	 ��� �� ��1��(

Qi ST
i

Si Ri

)
:= DT

i AiDi, i = 0, . . . , N,(
gxi
gqi

)
:= DT

i ∇wi
Li +DT

i Aidi, i = 0, . . . , N − 1, �L�I��(
gxN
gqN

)
:= DT

N∇wN
E(sxN , s

z
N) +DT

NANdN , �L�I��

��� ��

�� �� �������� ������ �
���� ��
���� ��� �����

 �	���	���� #$%& �� �	! ��� '��� (�')*+�

I I 



�, � ����� ���- �� ��� ������
�� ������
��

��
 �
� 
������ ��=����!� �� $��� ��

ci+1 := sxi+1 − xi(τi+1)− ∂xi(τi+1)

∂szi
dzi , (Xi|Yi) :=

∂xi(τi+1)

∂wi
Di, �L�4�

hi := h(sxi , s
z
i , qi) +

∂h

∂szi
dzi , (Hx

i |Hq
i ) :=

∂h

∂wi

Di, i = 0, . . . , N − 1,

���

re := re(sxN , s
z
N) +

∂re

∂szN
dzN , (Re,x|Re,q) :=

∂re

∂wN

DN ,

ri := ri(sxN , s
z
N) +

∂ri

∂szN
dzN , (Ri,x|Ri,q) :=

∂ri

∂wN
DN ,

��
 �
� �����
����� �� �
�� $� ��� ��
	����� �
� �����$��� 
������ M� �
�� �� �'��!�����
�� �L�F�

min
Δsx0 , . . . ,ΔsxN
Δq0, . . . ,ΔqN

∑N
i=0{ 1

2
Δsxi

TQiΔsxi +
1
2
ΔqTi RiΔqi

+ΔqTi SiΔsxi + gxi
TΔsxi + gqi

T
Δqi } �L�H��

���=��� ��

ci+1 +Δsxi+1 −XiΔsxi − YiΔqi = 0, i = 0, . . . , N − 1, �L�H��

sx0 − x0 +Δsx0 = 0, �L�H��

re +Re,xΔsxN +Re,qΔqN = 0, �L�H��

ri +Ri,xΔsxN +Ri,qΔqN ≥ 0, �L�H��

hi +Hx
i Δsxi +Hq

i Δqi ≥ 0, i = 0, . . . , N, �L�H��

ΔqN −ΔqN−1 = 0. �L�H��

(� ��
���� 
�������� ���
���
�� �
� ���� ����� +������ ����)� Ai �
� ��!�
 ��	������ �
�
��
��
� �
� ��
	� DT

i Aidi �
� ������� �
����� �� �
� ��1������� �L�I� ������� ���� � 	���

�
���� �� di �
� �
���
������ �� g(sxi , s

z
i , qi) $
��
 �
� �������� �� �� ����� �� "�
� ���


� ��������� +�$�!�
 �� .��� L�4 $� �
����� � ��$�� ��!������ ���
���
 �� ��	���� ���
������� ���
���	������ �� ���
 �
� 
������ +������ DT

i AiDi ��� �
� �
������ ����
�������
DT

i Aidi �
�� �� ����� �� � *�������$��� ���
���
 ��
 ����� �'��
�� �����
���� ,�� ��� ��
1
�� ����
��� 
�$ �
� �����
�"�� ���������� ���������� �L�H�� �� �
� ��
������ 
������ M�
��� �� ����
���� ����������
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��


7� ���
 	������� �
������ ����
!�� [τi, τi+1] �
� 
������ ������� !���� �
����	� �/�I���/�H�

B(·) · ẋi(τ) = T f(xi(τ), zi(τ), qi)

0 = g(xi(τ), zi(τ), qi)− exp

(
−β

τ − τi
τi+1 − τi

)
g(sxi , s

z
i , qi)

xi(τi) = sxi


�!� �� �� ���!�� �� ����� �
� �������� �
�=����
��� xi(τ) ��� zi(τ)� �
��� �
�=����
���
������ �� �
� ������� !����� sxi  szi �� ��#�
������ ��� �����
��� ������ ��� �� �
� ����
��
��
�	���
� qi� (� � ���!� �	���	�������� $� $���� ���� 
�!� �� ��	���� �
� ��
�!���!��
�� �
� 1��� !���� xi(τi+1) $��
 
������ �� �
��� '���������� &� 	�������� ���!� � �
�����
�����
� �� 8����$���
B� ��
���� 
�������� ���
���
 �� 	������� �
������ ��
 %&� O8��GGP ��
�
�� �
� ���� ��
�!���!� 	��
����

∂xi(τi+1)

∂(sxi , s
z
i , qi)

�
� ��!�
 ���������� ��� ������� ��
����� �
� 	���������� 	���
���
��

(
ki Xi Yi

)
:=

∂xi(τi+1)

∂(sxi , s
z
i , qi)

⎛
⎝ 0 I 0

dzi Dsx

i Dq
i

0 0 I

⎞
⎠

�
�� �
� �������� ������ �� ��
	����� �
� ��
������ 
������ M� �L�H��� �
�� ��!�� � �������
�
���� �	���� �� ��	���������� �#�
� ��
 �
����	� $��
 � ��
�� �
�
� �� �����
��� !�
�������
,���
� $� ����
��� �
�� ���
���
 �� ������ � 
�	�
) �� �� �
��
 ����� 
�$ �� ����
����
���
���
 �
� �
����	 �� ��	������ ��
�!���!�� �� � %&� ���!�
 �������

�����- �� *	������ ��� �������� )����
��� �
5�����
��
��

7�� ��
���
���
$�
� ���
���
 �
�� �� ��	��� �� �	���	��� �� �� ���
� �� �������� %&� ���!�

��!�
�� ��	�� $��
 ��
��
��� ������� !����� ��� ����
�� ��
�	���
� ��� �� ����
��� �
�
��
��
��� ������� xi(τi+1) �� ��	���� �� ���
���	����� �� �
� ����
�� 	��
�� (ki|Xi|Yi)
�� 1�������#�
����� ���� ���� 9���� ��� 8��� O98GFP�� �
�� ���
���
 $
��
 	�� ��
������ �!������ 1�������� #�=����������� ���%� 
�� ��
���� �
�$���)� �� �
� ������ ��
� 	���
� ������!� %&� ���!�
 �� ������� � 	������������ �������� �� �
� ������� !�����
��� ����
�� ��
�	���
�� (� �
� ������ ��
 �
� %&� ���!�
 �
� !�
��� ������������ �
�
������ xi(τi+1) ������� =�	�� ��������������� $��
 =�	�� �
�� 
�!� �� �� �������� �� ��
�� ��� �� �
� �����
���
 ����
���� ��
	��� ���� ���� *��
 ��� 6� O*6KIP�� (� �
� ��
��
���
�
�=����
��� �
� �
���� ����� �� ���
 ��
�
 �� �� �� 
�'��
�� �� 1�������#�
���� ��
�	�� ��
����� � ���� ���
���	����� �� �
� ��
�!���!� �
��� ��������������� ��� ���$���
 �
� ����
��

�,�� ������� ki =
∂xi(τi+1)

∂szi
dzi ��� ������ �� �������� ci+1 ��������� �� ��� -*�%.�

I I 
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��

��
�!���!� ����
	����� �� �
� �����
���
 ����
��� �� ��� �
���� ���
��
����
��� 
��
Q �� ���

�� ����
��� �� �������� �� ��� �
�� $��� ����� �������!� ��	�������� ��	���

&� ���
���
 $
��
 �!���� �
� �
�$���)� �� ��% �� �
� �� ������ �������� 1��������
#�=����������� �(�%� �� ����
���� �� ,��) O,��KFP� �
� ���� �� �� �
��"� �
� ����
���"��
���� ��
�	� ��
 �
� ����
��
��� �
�=����
��� �� �
�� �
� ������ ����	�� � ��#�
��������
�������� �� �
� ������� �
�� ����$� �� ��
��
	 �
� %&� �������� �!�� $��
 ��$ ����
��� 
$��
��� =����
��"��� �
� ����
��� �� �
� ��
�!���!� ���
���	������ �
� �
�"�� ����
���"��
���� ��
�	� �� ������� ������� �� �
� ��	���� �
�=����
��

(� �������� 	��
 �#�
� ��� �� ��!�� �� �
� ��
��
��� �
�=����
��� �
� ��	����� ��	���
��������� �� 	��� 	��
�� �!��������� ��� �����
�"������ �
�� ���� �� �� ��
��
	�� ����
���� ��
 ��� �
�=����
����

& 
������ ���
���
 �
�� 	�� �� ����
�
���� �� �
� D���������� ��	�� �� (�%E O,��KIP
�� �� ���!� �
� �������!��� �'������� ����� �
� ��	���� �����	 �
�=����
�� <� $��� �
��5�
����
��� 
�$ �
�� ���
���
 ��� �� ���� �� ��	���� ��
�������� ��
�!���!���

8�$�� ���	������� �	��-���-	�

8�� �� ��
 ���������� ���!������� ����	� �
�� �
� %&� �� �������� ���� �
�� B(·) = I ���
��� �� ���� ����	� �
�� T = 1 �� �
�� �
� ������� !���� �
����	 �/�I���/�H� ��� �� $
�����
��

ẋi(τ) = f(xi(τ), zi(τ), qi),

0 = g(xi(τ), zi(τ), qi)− e
−β

τ−τi
τi+1−τi g(sxi , s

z
i , qi),

xi(τi) = sxi .

%�#�
��������� �� �
�� �����	 $��
 
������ �� �
� ������� !����� ��� ����
�� ��
�	���
�
(sxi , s

z
i , qi) ��� � 	������������� �
�	 �
� 
��
� �� �
� 	��
�� (di|Di) ������ � �����
 	��
��

%&�� %�1���� �
� 	��
�� ���������(
ki(τ) Xi(τ) Yi(τ)

)
:= ∂xi(τ)

∂(sxi ,s
z
i ,qi)

(
di Di

)
,

(
kz
i (τ) Xz

i (τ) Y z
i (τ)

)
:= ∂zi(τ)

∂(sxi ,s
z
i ,qi)

(
di Di

)
,

�
�� 	��
�� %&� ��� �� $
����� ��

d

dτ

(
ki(τ) Xi(τ) Yi(τ)

)
=

∂f(·)
∂(x, z, u)

⎛
⎝ ki(τ) Xi(τ) Yi(τ)

kz
i (τ) Xz

i (τ) Y z
i (τ)

0 0 I

⎞
⎠ ,

0 =
∂g(·)

∂(x, z, u)

⎛
⎝ ki(τ) Xi(τ) Yi(τ)

kz
i (τ) Xz

i (τ) Y z
i (τ)

0 0 I

⎞
⎠

−e
−β

τ−τi
τi+1−τi

( −g(sxi , s
z
i , qi) 0 0

)
,(

ki(τi) Xi(τi) Yi(τi)
)

=
(
0 I 0

)
.

I I 
I I 



,3$ *@�
��� ����
�
(
�� ��������
�� ��

�
� ���������� ������� !���� ��
 �
� �����
��� 	��
��
(
kz
i Xz

i Y z
i

)
��

(
kz
i (τi) Xz

i (τi) Y z
i (τi)

)
=

(
dzi Dsx

i Dq
i

)
.

�
�� �����
 	��
�� %&� ��� �� ���!�� ��	����������� $��
 �
� �
������ ������� !���� �
���
��	 �/�I���/�H� �� �� �� ���� ���� �� �
� !�
���� �� �
� ��!����� ,%3 �����
���
 %&�.78
�,���
 O,��00P� �
�� $� ���� ��
 	��� ��	��������� �
�� �
� �
������� �� �
�� �
����� �
�
1��� !����� �
� �
�� ���� �� ��1��

(
ki Xi Yi

)
:=

(
ki(τi+1) Xi(τi+1) Yi(τi+1)

)
.

��������
�� �
 �!� ������� ��6���
(� 9���
���

<� 
�!� �� ��
 ��� ��������� 
�$ �� ��	���� �
� 
������ ��=����!� �
������� DT
i ∇wi

Li

�
�� �
� ������ �� ��	����

gi :=

(
gxi
gqi

)

�� �L�I�� ���� 
�$ �� ��	���� �
� ��
�������� ��
�!���!�� �� �
� ��=����!� �����
���

Li(s
x
i , s

z
i , qi) =

∫ τi+1

τi

L(xi(τ), zi(τ), qi)) dτ.

�
� ��=����!� �����
��� ��� �� ��	����� �� ���
������� �� ���������� ��#�
������ �����
xL ��� ���!��� �
� �����$��� ������� !���� �
����	 �����
�
 $��
 �
� �
������ ������� !����
�
����	>

ẋL
i (τ) = L(xi(τ), zi(τ), qi)), ��
 τ ∈ [τi, τi+1],

ẋL
i (τi) = 0.

�
� ��
�������� ��
�!���!�� ��� �
�� �� ��	����� �� ���!��

)����
��� ��������
�� �
 �!� *	��� ?���
��  ���
	

8����$���
 O8��GGP 
�� ��!������ � ��
�	� �� ��	���� � 1�������#�
���� ���
���	�����
�� �
� ����� +������ 	��
�� ����)� Ai $
��
 �� �� ��
 ���� ���������� �� �����	� ����
����
�� �
����
� ��#�
������ �'������� �7%��� +�� ���
���
 ����
���"�� �
� ���� �� (���
���
��	�
���� %�#�
��������� �� ������ �
��
 ��
�!���!�� �� ���!��� �
� 1
�� �
��
 �������!���
�'������� ��!�
�� ��	�� ��
 ��
��
��� ������� !����� $��
 � 1��� ����
���"����� ��
�	�� <�

�!� �	������ �
�� 	��
�� �� ��	� ���	���� ��
 ��	��
���� $��
 ��
 ��$�� ��!������
*�������$��� ���
���
 �
�� �� ����
���� �� �
� �����$��� ��������

I I 

I 

I 
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5", � &�'���-� 
�
 ��
��� ��� �

����� .���
 �1'����

�����

(� �
� ���� �� � 8��
���� ��
	 L �
�� 
�� ����� �'��
�� ��
	 ���� ��

L(xi(τ), zi(τ), qi) = ‖l(xi(τ), zi(τ), qi)‖22
$��
 � !����
 !����� �������� l(·) �
�
� ������ � ����������� �� ������ � �
��� ���
���	�����
�� �
� +������ ����)� Ai �� �� ��������� �� �
� *�������$��� ���
���
 �� ����� �'��
��
�����
���� �
�� ���
���	����� �� ���� �� �
� 
������� l(·) ��� �� �
� 	��������
� λ ��� μ
�
� ����� �� "�
� ���� �
� ���������� �� .��� H�F�/��

�� ��
�!� �� ���
������ ��
 �
� *�������$��� ���
���	����� �� �
� ���� +������ ���
�� ������� �
� �����
���� ����
�������� ��� 
���
� ���� �
� ��=����!� ����
������� �� �
�
+������ �
�� ��

∇2
(sxi ,s

z
i ,qi)

∫ τi+1

τi

‖l(xi(τ), zi(τ), qi)‖22 dτ.

& *�������$��� ���
���	����� �� �
� +������ ��� �� �������� �� ��#�
��������� �$���
����
 �
� �����
�� ��� �
������ ��
	� �
�� ������� l(xi(τ), zi(τ), qi)>

Ai := 2

∫ τi+1

τi

Ji(τ)
TJi(τ) dτ, �L�J�

$
�
�

Ji(τ) :=

(
∂l(xi(τ), zi(τ), qi)

∂(x, z, u)

) ⎛
⎜⎝

∂xi(τ)
∂sxi

∂xi(τ)
∂szi

∂xi(τ)
∂qi

∂zi(τ)
∂sxi

∂zi(τ)
∂szi

∂zi(τ)
∂qi

0 0 I

⎞
⎟⎠ .

8�+�� � ��������
 !	
��	
 *	����� �##��/�������

(� $� �
� ����
����� ���� �� �
� *�������$��� ���
���	����� DT
i AiDi �� �
� 
������

+������  $� ��� 	������� �'� �L�J� �
�	 �
� ���� ��� �
� 
��
� $��
 DT
i ��� Di>

DT
i AiDi = 2

∫ τi+1

τi

DT
i Ji(τ)

TJi(τ)Di dτ.

3�
�������� �
� 	��
�� �
������ Ji(τ)Di �
� �
����� �!������� �� ��
�������� ��
�!���!��
�
� ���������� �� ����
���� �� �
� �
�!���� �������� -���� �
� �������� �� �
�� ������� 
Ji(τ)Di ��� �� ���� �� 
�!� �
� ��	��� ��
	

Ji(τ)Di = J̃i(τ) :=

(
∂l(xi(τ), zi(τ), qi)

∂(x, z, u)

) ⎛
⎝ Xi(τ) Yi(τ)

Xz
i (τ) Y z

i (τ)
0 I

⎞
⎠ .



,3' %& �����
�� �� � �������
�" �������! �7�

�
� ��
������ 
������ ��=����!� �
������

gi = 2DT
i

(
∇(sxi ,s

z
i ,qi)

∫ τi+1

τi

‖l(xi(τ), zi(τ), qi))‖22 dτ
)
+DT

i Aidi.

�� ��1��� �� �'� �L�I�� ��� ���� �� ���������� ������� $��
��� �!�
 ��	������ �
� ����
+������ ���
���	������ 3�
 �
� ����� ��	�������� �� �
� 
������ ���=���!� �
������ �L�I�
$� ���� ���� �
� ��
	� DT

i Aidi� & 	������������� �� �'� �L�J� �
�	 �
� ���� ��� �
� 
��
�
$��
 DT

i ��� di ������

DT
i Aidi = 2

∫ τi+1

τi

J̃i(τ)
T

(
∂l(xi(τ), zi(τ), qi)

∂(x, z)

) (
ki(τ)
kz
i (τ)

)
dτ.

�� �
��

gi := 2

∫ τi+1

τi

J̃i(τ)
T

(
l(xi(τ), zi(τ), qi) +

(
∂l(xi(τ), zi(τ), qi)

∂(x, z)

) (
ki(τ)
kz
i (τ)

))
dτ.

�
� 	��
�� J̃i(τ) ��� �� ��	����� ��	����������� $��
 �
� %&� ��������� �
� �����
��
��� �� ���������� �� ����� � �������� �����
����� ��
	���� ���� �
�� �
� �!�������� �� �
�
�����
��� �� !�
� �
��� ��	��
�� �� �
� ��	��������� �������
� ��
 �
� %&� ���������
3�
�
�
	�
� �� �� ����
�������� �� �
� �������!��� 	��
���� �� �	������ �� �
� %&� ���!�
 
�
� �����
��� ��� �� �!������� �� �
���
�
� ������ �� �
� ����
!�� (������ ��� ��������� ��
���
 ��� ����������� ������� ���� ,��) ��� .�
�;��
 O,.KFP�Q �
��� �!�������� ������ �
� ��
��
������
 ����������� �� �
� ������"�� �� �
� %&� ���!�
�

<� 
�!� �	���	����� �
�� ��������� �� �
� *�������$��� 	��
�� $
��
 ����!�
�
�
� +������ ���
���	����� �� !�
������ �� ���������� ����� �� �
� ��

��� !�
���� ��
�
� ����	�� ����
�� ���)��� �-.�7%�(( �� ���=������� $��
 �
� �	������ %&� ���!�

%&�.78 O,,.GG ,��00P�

�����-8 (� �
�!���� *�������$��� ���
���
�� �� ���� ���� ����� �'��
�� ��
	� ��
����
��� ��	� ������ 
�� ���� ��
	������ ���� �� 7��!��
� ��� ,�����
 O7,GH�P ��
 �
�
��'������� ���
���
 ��� .����� �� ��� O.7,GHP ��
 �
� ��
��� 	������� �
������ 	��
��� 
$
��
 ����� �� �� ���������
� �!�

��� ���������� �� ���� �
�������� ����
!��� $��
 ��������
����
����

5"4 2� ���'
��
 #/ � ��
��
��
� ������	�

&���
 $� 
�!� ��������� 
�$ �
� ��
������ 
������ M� �L�H� ��� �� ����
���� $� $��� ��
�
�� ��� �
� �����$��� ������� �
����� �$� ����
����!� ��
������� �� ���!� ���
 � M��

�
� �� ������ ���	������ ���
���
 
������ �
� M� ��
�
�
 �� ����� � �	����
 M� �� �
�
!�
������ Δq0, . . . ,ΔqN−1 ����� (� �
� 
������	� ������� �
� ����
��
	 �
������ �� �$�
�����> 1
�� �� ���� �
� �����
�"�� ���������� ���������� �L�H�� �� ���	����� Δsx1 , . . .ΔsxN
�
�	 �
� M� �L�H�� <� $��� ���� ���	����� ΔqN ����� �L�H��� �
� 
�������� M� �� ������ �
�



�7� � ����� ���- �� ��� ������
�� ������
��

��������� M�� (� � ������ ���� �
� ������� !���� �����
���� �L�H�� $��� �� ���� �� ���	�����
Δsx0  �� �
�� � ����� 
������ M� �� �
� !�
������ Δq := (Δq0, . . . , qN−1) ���� ����� �� ��
���!�� �� � ������
� M� ���!�
� 3������ �
� �������� �� �
� ����� 
������ M� �� ��������
�� ����� �
� �������� �� !�
����� ��� 	��������
 ����� �� �
� ��
������ 
������ M��

8�4�� ����� ���
	����� ��	#

3�
 �
� 1
�� ���������� ���� ��� �� 
��
��
 �
� !�
������ �� �
� ��
������ 
������ M� ���
��		�
�"� �
�	 ���� � ��
�������� !����


(
Δw1

Δw2

)
, $��
 Δw1 :=

⎛
⎜⎜⎜⎝

Δsx1
���

ΔsxN
ΔqN

⎞
⎟⎟⎟⎠ , ��� Δw2 :=

⎛
⎜⎜⎜⎝

Δsx0
Δq0

���
ΔqN−1

⎞
⎟⎟⎟⎠ .

,� ���
�������

b1 :=

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

c1
c2
c3
���
cN
0

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

, B11 :=

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

I

−X1 I

−X2 I

� � � � � �

−XN−1 I

I

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

,

���

B12 :=

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

−X0 −Y0

−Y1

−Y2

� � �

−YN−1

−I

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

,

�
� ���������� ���������� �L�H�� ��� �L�H�� ��� �� $
����� ��

b1 +B11Δw1 +B12Δw2 = 0,

��� �
� ����������� M� �L�H� ��� �� ��		�
�"�� ��
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�� �� � �������
�" �������! �7$

min
Δw1,Δw2

1
2
ΔwT

1 A11Δw1 + ΔwT
1 A12Δw2

+ 1
2
ΔwT

2 A22Δw2 + aT1Δw1 + aT2Δw2

�L�K�

���=��� ��

b1 +B11Δw1 +B12Δw2 = 0
b2 +B21Δw1 +B22Δw2 = 0

c+ C1Δw1 + C2Δw2 ≥ 0.

�
� ���� �� �
� ���������� ���
���
 �� �� ������� �
� ��!�
�������� �� B11 �� ���	����� Δw1

��

Δw1 = −B−1
11 (B12Δw2 + b1) =: MΔw2 +m �L�G�

��� �� 
������ �
� ���!� M� �� � �� ������ ���	����	 @" >

min
Δw2

1

2
ΔwT

2 ÃΔw2 + ãTΔw2 ����

{
b̃+ B̃Δw2 = 0

c̃+ C̃Δw2 ≥ 0
�L�F0��

$��


Ã = MTA11M +MTA12 + AT
12M + A22,

ã = MTA11m+ AT
12m+MTa1 + a2,

b̃ = b2 +B21m,

B̃ = B21M +B22,

c̃ = c+ C1m, ���

C̃ = C1M + C2.

�
� ����
����� �� �
� ��������� M� ��� �� ��
��!�� ��������� �� 
���
��!� ���
��'��� �
��

�!� ���� ���
������ �� ,��) ��� ����� O���KF ,�K4P� �
�� �
� ����
���� �� &������� ��

8�4�� �	���
 ���
	����� ��	# ��
 (��	
���	 �		
����

(� �
� 
������	� ������� �� �� �	��
���� �� ���� �
�� ��� ��	��������� �� �
� 1
�� ����������
���� ��� �� ��
��
	�� ����
� �
� ������ !���� �� x0 �� )��$� ����$��� �� �
���
� ��
D(		������ 3������)E� .� ��� �� 
�!� � ����� ���) �� �
� ��������� M� �L�F0��� .����
Δw2 = (Δsx0 ,Δq) �� 
�� �
� �����$��� ��
����
�



�7+ � ����� ���- �� ��� ������
�� ������
��

min
Δsx0 ,Δq

1
2
Δsx0

T ÃssΔsx0 +
1
2
ΔqT ÃqqΔq

+Δsx0
T ÃsqΔq + ãTs Δsx0 + ãTqΔq

�L�F0��

���=��� ��

sx0 − x0 +Δsx0 = 0

b̃r + B̃rsΔsx0 + B̃rqΔq = 0

c̃+ C̃sΔsx0 + C̃qΔq ≥ 0.

&� �
� 	�	��� $
�� x0 �� )��$� �
� ����� 
������ M� ��� �� ��
	������>

min
Δq

1
2
ΔqT ÃqqΔq +

(
(x0 − sx0)

T Ãsq + ãTq

)
Δq �L�FF�

���=��� �� (
b̃r + B̃rs(x0 − sx0)

)
+ B̃rqΔq = 0(

c̃+ C̃s(x0 − sx0)
)
+ C̃qΔq ≥ 0.

�
�� ����� M� ��� �� ���!�� �� � ������
� M� ���!�
� (� �� �� 
��
�
 �	��� ��"� ��	��
��
�� �
� �
������ ����������� M� �L�K� ��� ���
� ���
�� �� ���
����� <� ������� �	����
M�.78� �� *��� ��

�� .�����
� ��� <
��
� O*�.<KIP � 
������ �
�� 	�)�� ��� ��
�� ����!� ��� ��
����� ��� �� ���� �� ���� $��
 ����1���� +������ 	��
����� ���� �
�� ��
�
������� �!�� ��
�� ��
�� �� �
� ����� 
������ M� �L�FF� ��� �� �
���	����� ����
� x0

�� �!������� �� 	��
�� �����
�"������ ����� �� �
� ����!� ��� ��
 x0 = sx0 �
� ���������� ��
��!���� �� �
������ �� O,%8.00P�

�
� �������� �� �
� ����� 
������ M� �
� �
� ����	�� !����� ��
 Δq0 . . .  ΔqN−1� �
�
!���� �� Δq0 ����� � �
����� 
��� �� �
� 
������	� ������� �� �� �� �
�� ����
�� �
�� �� ��!��
��
����� �� �
� 
��� �����	 �� �� �		������ �������)�

�����-8 �
� ���� �
�� �� ����!� ��� ��
����� �� ���� �� ����
	��� �
� ����!� ��� ��

���
��	� �����
 �� �
� 
������	� ������� �� �� �� $��� )��$� �
�� �
� $�
�� ���� ��	�����
��� �� ���
 �� ����
��
	 ��� �� ����������� �� �
� ��	��
 �� !�
������ ���� 2��� ���
����� O2�J/P�� ����
����� �
�$� 
�$�!�
 �
�� �
� ��	���������� ��
��� �� �
�� �����
M� �������� �� ������� �� �
������� (� ������� ������������ �� ��
 
������	� ����
��
	� �� ��
�������
���� �	����
 �
�� �
� �#�
� ������ ��
 �
� 1
�� ���������� ���� $
��
 ������ �����
���� � �	��� �
�
� �� �
� �!�
��� ��	� �� � ���� 
������	� ���
����� ������ & �
��
��������
��������� ����
����!� �� ����!� ��� ��
������� �� �
�!���� �� (���
��
������ ���
��� �(��� 

�/01�2 �� ����
��
� �� � �$3 ��	���� 	���� ��� ���� �4%�$5�



,3' %& �����
�� �� � �������
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�
�� 
�!� ������	��� 
�� ��	� ������� 3�
 �� ���
�������� ���� (�� ����
��
	� ���
�
��
 ����������� �� '���
���� �
��
�	� $� 
���
 ���� �� ������� ��� <
��
� O�<GGP �

<
��
� O<
�GJP�

8�4�$ ,/#������ �� ��	 0� ��������

�
� ��������� �� �
� M� �������� ������ �

���
 �
� �$� ���������� ����� �� 
�!�
�� �
��
>
1
�� �
� ����� 
������ M� �������� �� �������� �� �
� ��������� M� �������� ��� �������� 
�
� ��������� M� �������� �� �������� �� �
� ���� �������� �� �
� ����������� M� �L�K��

0
��� *	����
�� ����

�
� �������� (Δq, λ̃r, μ̃) �� �
� ����� 
������ M� �L�FF� ��� �
�!����� �� �������� �� �����
�
� �������� (Δw2, λ̃2, μ̃) �� �
� ��������� M� �L�F0�� �
���� �L�F0�� � $��


Δw2 =

(
Δsx0
Δq

)
, ��� λ̃2 =

(
λ̃x
0

λ̃r

)

�� ��	������

Δsx0 = x0 − sx0 , ��� λ̃x
0 = ÃssΔsx0 + ÃsqΔq + ãs − B̃T

rsλ̃r − C̃T
s μ̃.

�
�� (Δw2, λ̃2, μ̃) �� � �������� �� �
� ��������� M� ��� �� ���� �� ��	��
��� �
� 22�
���������� �� �L�F0�� $��
 �
��� �� �L�FF��

*	����
�� �
 �!� ��������� %& �����
��

.�	���
�� �
� �������� (Δw2, λ̃2, μ̃) �� �
� ��������� M� �L�F0�� ��� ��
�
�
 �� ��������
�� �
� ���� �������� (Δw1,Δw2, λ̃1, λ̃2, μ̃) �� �
� ����������� M� �L�K� �� ��	������

Δw1 = MΔw2 +m

���

λ̃1 = B−T
11 (A11Δw1 + A12Δw2 + a1 − BT

21λ̃2 − CT
1 μ̃). �L�F/�

�� =������ �' �L�F/� ��� �� ��
	����� �
� ��������
��� ��������� �� �
� 8��
���� �
������ ��
�
� ����������� M� �L�K� �� �����$�>

A11Δw1 + A12Δw2 + a1 − BT
11λ̃1 − BT

21λ̃2 − CT
1 μ̃ = 0,

A22Δw2 + AT
12Δw1 + a2 − BT

12λ̃1 − BT
22λ̃2 − CT

2 μ̃ = 0.
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��

�
� 1
�� ��������� �� �'��!����� �� �'� �L�F/� $
�
��� �
� ������ ��� �� ���� �� �� �����1�� 
�� 8��
���� ��������
��� $��
 
������ �� Δw2 �� �������� �� �
� ��������� M� �L�F0��>

0 = ÃΔw2 + ã− B̃T λ̃2 − C̃T μ̃
= (MTA11M +MTA12 + AT

12M + A22)Δw2 +MTA11m+ AT
12m

+MTa1 + a2 − (B21M +B22)
T λ̃2 − (C1M + C2)

T μ̃

= A22Δw2 + AT
12Δw1 + a2 −BT

22λ̃2 − CT
2 μ̃

+MT {A11Δw1 + A12Δw2 + a1 − BT
21λ̃2 − CT

1 μ̃}
= A22Δw2 + AT

12Δw1 + a2 −BT
12λ̃1 −BT

22λ̃2 − CT
2 μ̃.

�
� ��������� ���� ��� ��������� �� ��
��
	�� �� � ���)$�
�� 
���
���� �
�� �� ����
����
���� �� 8����$���
 O8��GGP� <� 	������ 
�
� �
�� �
� ��
���� 
�������� ���
���

���� ��� ����$ �� 
������
� �
� 	��������
� λz

i �� �
� �����
��� ����������� ���������� 
������� �
�� $���� 
�'��
� )��$����� �� ��
�!���!�� �
�� �
� ��� ��	������ 3�
�������� 
�
��� 	��������
� �
� �� 	���
 �	��
����� �� ��
 
������	� ���
����� ��
�	� �� �
� ��

���
	��������
 !����� ���� ����
 �
� ���� M� ��
	������� �

���
 �
� +������ ���
���	������
(� �
� �������� *�������$��� ���
���
 �� ���� �
� 	��������
 !����� �� ��� 	����
 �� ���
�� �
� M� ��
	��������

5"5 � ��		�
� ��	'����
 ������	�

& ������ ����� ��
����� �� �����) �
� �������� �� �
� ��
������ 
������ M� �L�H� �
��
����� �� � 9������ 
���
���� ��
�	� ��� ���� �� �
������� �� �
� �
�	�$�
) �� ����	��
�
��
�		���� <� $��� 
�
� ���� ���
����� �
� ����
����� ���� ��� 
���
 �
� ����
�����

����
 �� .�������
 O.��GHP �
 9�� �� ��� O9<9GKP ��
 � 	�
� �������� ����
������ �� �
�
���
���
� 3�
 ���� �� �
���������� $� 
���
��� ��
 ��������� �� M� �
����	� �L�H� $��
���
1��� ����� ��� ���'������ �����
����� �L�H����L�H��� <� $��� ���� ����	� �
�� RN  SN  ���
gqN �
� "�
� �� �
�� �
� ���� ����
�� ΔqN ��� ��
����� �� ���	������ �
�	 �
� �
����	 ���� 
$� �������
 �
� M�

min
Δsx0 , . . . ,ΔsxN
Δq0, . . . ,ΔqN−1

N−1∑
i=0

{1
2
ΔqTiRiΔqi +ΔqTi SiΔsxi + gxi

TΔsxi + gqi
T
Δqi

+1
2
Δsxi

TQiΔsxi } + 1
2
ΔsxN

TQNΔsxN + gxN
TΔsxN

�L�F4�

���=��� ��

ci+1 +Δsxi+1 −XiΔsxi − YiΔqi = 0, i = 0, . . . , N − 1,

sx0 − x0 +Δsx0 = 0.

�
� ���� �� �
� 
���
��!� ����
��
	 �� ���!� �
� ���!� M� ��� �� ��		�
�"�� �� �����$�>
���
���� $��
 �
� ���� ��������

ΠN(ΔsxN) :=
1

2
ΔsxN

TQNΔsxN + gxN
TΔsxN �L�FH�
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�� �
� 1��� ���� $� �����
��� �
� �� ������ ����	�� ���������� �������� ΠN−1(ΔsxN−1) ��
�
� �
�!���� ����� �� �
������ ��
 ���
 !���� ΔsxN−1 �
� ����
�� ΔqN−1 �
�� ����	�"��
�
� ����� ����� �� �� �� �
� 1��� ����� ���� �
� ��	 �� �
� ����� ����� ��� �
� 1��� �����
����� ΠN � �
�� �
�����
� �� 
������� ��
 ΠN−2 ��$� �� Π0� &� ���
 ���� �
� �����$���
�	��� ����	�"����� �
����	

Πi(Δsxi ) := min
Δsxi+1,Δqi

1

2
Δsxi

TQiΔsxi +
1

2
ΔqTi RiΔqi +ΔqTi SiΔsxi

+gxi
TΔsxi + gqi

T
Δqi +Πi+1(Δsxi+1)

���=��� ��
ci+1 +Δsxi+1 −XiΔsxi − YiΔqi = 0

�L�FL�

�� ���!��� (� ��
�� ��� �
�� �
� ���������� ��������� Πi(Δsxi ) 
�	��� '���
���� ��������� �
���� �
�� 	�)�� �
� ����	�� �
��
�		��� ���
���
 �� �������� 8�� �� �
�
���
� $
���

Πi(Δsxi ) =
1

2
Δsxi

TPiΔsxi + pTi Δsxi + πi, ��
 i = 0, . . . , N.

�
� ����
��
	 �
�� $� �
����� ��
 �
� 
������	� �������� �� �
� M� �������� �� �

�� ����� 
1
�� � ���)$�
�� 
���
���� �
�� �
���
�� �
� ������ ���� ��
� �		������ �������)� ���
1����� � ��
$�
� 
���
���� $
��
 
���!�
� �
� ���� M� ���������

8�8�� 7������
� !	�������

�
� ���)$�
�� 
���
���� �� ���
��� �� ��1���� ΠN ����
���� �� �'� �L�FH� ���� 

PN := QN , pN := gxN , ��� πN = 0.

3�
 �
� 
���
���� ���� ��� �� ����	� �
�� �
� ����	�� ���������� �������� Πi+1(Δsxi+1) 
��
��
���� ���� ��	����� ���� �
�� �
� 	��
�� Pi+1 �
� !����
 pi+1 ��� �
� �����
 πi+1 �
�
)��$�� �
� M� �L�FL� ��� �� ���!�� �� �����$�> 1
�� $� ���	�����

Δsxi+1 = −ci+1 +XiΔsxi + YiΔqi �L�FJ�

�� �
� ��=����!� ��������

Fi(Δsxi ,Δqi,Δsxi+1) :=
1
2
Δsxi

TQiΔsxi +
1
2
ΔqTi RiΔqi +ΔqTi SiΔsxi + gxi

TΔsxi + gqi
T
Δqi

+1
2
Δsxi+1

TPi+1Δsxi+1 + pTi+1Δsxi+1 + πi+1

�
�� ����	��

Fi(·) = 1
2
ΔqTi (Ri + Y T

i Pi+1Yi)Δqi
+((Si + Y T

i Pi+1Xi)Δsxi + gqi − Y T
i Pi+1ci+1 + Y T

i pi+1)
TΔqi

+1
2
Δsxi

T (Qi +XT
i Pi+1Xi)Δsxi + gxi

TΔsxi + cTi+1Pi+1ci+1

−cTi+1Pi+1XiΔsxi − pTi+1ci+1 + pTi+1XiΔsxi + πi+1.



�7. � ����� ���- �� ��� ������
�� ������
��

�
� 	���	�	 �� �
�� �������� $��
 
������ �� Δqi �� �������� ��

Δqi = −(Ri + Y T
i Pi+1Yi)

−1 (Si + Y T
i Pi+1Xi) Δsxi

−(Ri + Y T
i Pi+1Yi)

−1(gqi − Y T
i Pi+1ci+1 + Y T

i pi+1)
=: −KiΔsxi − ki,

�L�FK�

$
��
 ����
��� ���� �
� ��=����!� �������� Fi ��!�� �
� ����	�� ���������� ����
���� ��
�L�FL� ��

Πi(Δsxi ) =
1

2
Δsxi

TPiΔsxi + pTi Δsxi+1 + πi

$��


Pi := Qi +XT
i Pi+1Xi

−(Si + Y T
i Pi+1Xi)

T (Ri + Y T
i Pi+1Yi)

−1(Si + Y T
i Pi+1Xi),

pi := gxi +XT
i pi+1 −XT

i Pi+1ci+1

−(Si + Y T
i Pi+1Xi)

T (Ri + Y T
i Pi+1Yi)

−1(gqi − Y T
i Pi+1ci+1 + Y T

i pi+1),

πi := πi+1 + cTi+1Pi+1ci+1 − pTi+1ci+1 − (gqi − Y T
i Pi+1ci+1 + Y T

i pi+1)
T ·

(Ri + Y T
i Pi+1Yi)

−1(gqi − Y T
i Pi+1ci+1 + Y T

i pi+1).

�
� !����� πi+1 �
� �

���!��� ��
 �
� ����
	������� �� Δsxi+1 ��� ΔqiQ �
�
���
� �
�� �
�
������� �	������ �
� 	��
�� 
���
���� ��
	��� ��
 Pi �� ���� )��$� �� �
� ����
������	�
9������ 	��
�� �'������ ��
 ��	��!�
���� �����	��

�
� ���� '��������� �
�� 
�!� �� �� ���
�� ��
 �����'���� ��� �� �
� ��
$�
� 
���
�
���� �
� �
� 	��
���� K0, . . . , KN−1 ��� P0, . . . , PN  ��� �
� !����
� k0, . . . , kN−1 ���
p0, . . . , pN �

8�8�� (��	
���	 �		
����

�
� ��	����� ���)$�
�� 
���
���� ��� �� ��
��
	�� ����
� �
� ������ !���� �� x0 �� )��$��
�
�� �� �
� 	�	��� $
�� x0 �� )��$� �
� ����
�� 
������� Δq0 ��� �� '���)�� ����
	����
����
���� �� �'� �L�FK� 

Δq0 = −K0(x0 − sx0)− k0,

��� ��� �		�������� �� ��!�� �� �
� ������ �
� ����
�� 
������� ��� �� ����
�
���� ��
�
� 1
�� ��
� �� �
� ��
$�
� 
���
���� �
�� $��� �� ����
���� �� �
� �����$���� +�$�!�
 $�
��
��� �
� ���� �
�� �� �� ���� �
� ���!� 	��
�� !����
 	������������� ��� !����
 ��������
�
�� ����� �� �� ��
��
	�� �� ����!�
 �
� ��
� �� �
� M� �������� Δq0 �
�� �� ��������
������ ��
 �
� ���
���	��� ����	�� �������) ����
�� 
��������

�
�� ��	�������� 
�'��
�� ���� nu×nx+nu 5������ ����� ���
������ $
��
 ��� ��
������
�� �������
�� �� �		������ �������) $
�� ��	��
�� �� �
� ��	����� 
������	� ���
�����
����� $
��
 ����� 	��� �
��
� �� 	�������� 
��
�
 ��	���������� �#�
��
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8�8�$ ������
 !	�������

.��
���� $��
 � )��$� !���� �� Δsx0 = x0 − sx0 �'�� �L�FK� ��� �L�FJ� �
� ����
������ ����
�� ��	����

Δqi = −KiΔsxi − ki, ��
 i = 0, . . . , N − 1,

���

Δsxi+1 = −ci+1 +XiΔsxi + YiΔqi ��
 i = 0, . . . , N − 1.

�
� M� 	��������
� λ̃x
i ��
 i = 0, . . . , N �
� ��	����� �� �����$�

λ̃x
i =

∂Πi(Δsxi )

∂Δsxi
= PiΔsxi + pi.
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F� ��
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��������> 8����
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� ����������� ���������� ��� 
����!� �
� �����
 �����	
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� Δszi �� � �����
 �������� �� Δsxi ��� Δqi �� ����
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� !�
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 ����� �� ����!� ���
��
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���������	�
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(Δw, λ̃, μ̃)� ,���� �� �
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 �� �
� ���� .M� ���
��� ��� ��
���) �� ���� F�
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�	� ����� ��
�
�$� $��
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��, ������� �
 � �
��
����
�� ������

<� ����	� �
�� �
� �
����
�� P	 �� 
������
 �
��� ��� ��������
 �
� �������� �� $���
�� �
� !���	� 
������ nv

0 ��� nv
N+1 �� 
������
 ��� ��������
� �
� ��'��� !���	� 
������

nv
	 �� �
� �
��� 	�� !�
�� &�� !���	� 
������ �
� 
������ �� �
� 	���
 
������ n	 ��

nv
	 = V m(X	, T	) n	 ��
 � = 0, . . . , N + 1,

�
� 	���
 !���	�� V m(X	, T	) �� �
� ��'��� 	����
� �
� �����1�� �� &������� ,�
�� ����
	��� �
� ���������� �
����
�� $� ����	� �
�� �
� ��������
 �
����
� �� 1���

�� �
� ������� �
����
� ���� PN+1 = Ptop $
�
��� �
� �
����
�� P	 �� �
� �
��� ��� �
�

������
 �
� ���������� ����
 �
� ����	����� �� �������� �
����
� �
�� �
�	 �
�� �� �
�� 
���� 

P	 = P	+1 +ΔP	 � = N,N − 1, . . . , 2, 1, 0.

�
� �
�� ��	��
���
�� T	 �
� �	�������� ��1��� �� �
� ����	����� �
�� �
� ��	 �� �
�
��
���� �
����
�� �'���� �
� ����� �
����
� �� ���
 �
�� ���� 

P	 − P s
1 (T	)X	 − P s

2 (T	)(1−X	) = 0, � = 0, 1, . . . , N + 1, �J�F�

$
�
� �
� ��
���� �
����
�� P s
k (T	) �
� ��	����� ����
���� �� �
� &������ �'������ ��

�����1�� �� &������� ,�
�
� ��
�!���!� �� �
� ��	��
���
� $��
 
������ �� ��	� Ṫ	 �� ��!�� �� �
� �	������

�������� �
��
�	>

Ṫ	 = − (P s
1 (T	)− P s

2 (T	))Ẋ	

∂P s
1

∂T�
X	 +

∂P s
2

∂T�
(1−X	)

.

�� ������� ��
 ������������ �� �
� �
��� ��� ��
�
 ��	������� �#���� $� 
�!� ���
������
�
� �
�� ���������� α	 ��
 � = 1, 2, . . . , N �� ��������� �
� ��	�������� Y	 �� �
� !���
 5�$
��� �� �
�� � �� � �����
 ��	�������� �� �
� ����� !���
 ��	�������� �� �
� �
�� ��� �
�
����	��� !���
 ��	�������� �
�	 �
� �
�� ����$ ���� 

Y	 = α	
P s
1 (T	)

P	
X	 + (1− α	) Y	−1, � = 1, . . . , N,

���
���� $��
 Y0 =
P s
1 (T0)

P0
X0� �
� �������
����� �� �
� ��'��� ���5�$ D �� �
� ��� �� �
�

����	� �� �'��� �� �
� ��������
 �������
����� XN+1�

 ��� ��������8 �
� ��#�
������ �'������� �
�� ����
	��� �
� �
���� �� �
� 	���


������ n	 �� �
� �
��� �
� ��!�� �� �
� 	��� �����
!����� ��
 � = 1, 2, . . . , NF − 1, NF +
1, . . . , N

ṅ	 = V	−1 − V	 + L	+1 − L	, �J�/�

��� ��
 � = NF ��

ṅNF
= VNF−1 − VNF

+ LNF+1 − LNF
+ F, �J�I�



#3� �!� �
��
����
�� ������ ��#

$
�
� F �� �
� 	���
 ��5�$ �� �
� ���� �
�� �
�� ��� �� ����
	���� �
�	 �
� !���	� ����
5�$ Fvol �
� ���
���� �������
����� XF �� �
� ���� ��� ��� ��	��
���
� TF !��

Fvol = V m(XF , TF )F.

���� �����
!����� �� 
������
 ��� ��������
 �
� ��!�� ��

ṅ0 = −V0 + L1 −B, �J�4�

���

ṅN+1 = VN −D − LN+1. �J�H�

�
� ����	����� �
�� 
������
 ��� ��������
 !���	� nv
0 ��� nv

N+1 �
� 1��� ����� �� �$�
��
�
�
 �'������� ��
 � = 0, N + 1

0 = ṅv
	 = V m(X	, T	)ṅ	 +

∂V m

∂(X, T )
(Ẋ	, Ṫ	)

T n	, �J�L�

�
�� ����$ �� ���	����� ṅ0 ��� ṅN+1� �
�
���
� n0 ��� nN+1 �
� �
���� �� �� �� ��#�
������
!�
�������

�
� ��'��� 
�5�� ��
��	 Lvol �
�	 �
� ��������
 �� ����
����� ��� ����$� �� ����
	���
LN+1 !��

Lvol = V m(XN+1, TC)LN+1,

$
�
� TC �� �
� ��	��
���
� �� �
� �����������

�
� ��	������$��� 	��� �����
!����� �� �
� 
������
 
�'��
��

Ẋ0n0 +X0ṅ0 = −V0Y0 + L1X1 − BX0, �J�J�

�� �
� �
��� � = 1, 2, . . . , NF − 1, NF + 1, . . . , N  

Ẋ	n	 +X	ṅ	 = V	−1Y	−1 − V	Y	 + L	+1X	+1 − L	X	, �J�K�

�� �
� ���� �
��

ẊNF
nNF

+XNF
ṅNF

= VNF−1YNF−1 − VNF
YNF

+LNF+1XNF+1 − LNF
XNF

+ FXF ,
�J�G�

��� �� �
� ��������


ẊN+1nN+1 +XN+1ṅN+1 = VNYN −DXN+1 − LN+1XN+1. �J�F0�



��. ������� �
 � �
��
����
�� ������

*��!���� ��������8 <��
 �
� ��'��� ��� !���
 ��
��	 ���
������ ���
�!����� �� hL
	 :=

hL(X	, T	) ��� hV
	 := hV (Y	, T	, P	) ��
 � = 0, . . . , N ���� &������� ,� $� ��� ��
	�����

�
� ���
���� ������� �� �
� 
������
 �
�� ����$� �� ����
	��� �
� !���
 ��
��	 V0>

ṅ0h
L
0 + n0

(
∂hL

0

∂X0

Ẋ0 +
∂hL

0

∂T0

Ṫ0

)
= Q−Qloss − V0h

V
0 + L1h

L
1 − BhL

0 . �J�FF�

+�
� Q �� �
� ������� 
��� ����� ��� $��
 Qloss $� ������� ��
 �������� 
��� ������ �� �
�

������
� �
� ���
���� �������� ��
 �
� �
��� � = 1, 2, . . . , NF − 1, NF + 1, . . . , N − 1 �
�

ṅ	h
L
	 + n	

(
∂hL

�

∂X�
Ẋ	 +

∂hL
�

∂T�
Ṫ	

)
= V	−1h

V
	−1 − V	h

V
	 + L	+1h

L
	+1

−L	h
L
	 ,

�J�F/�

��� ��
 �
� ���� �
��

ṅNF
hL
NF

+ nNF

(
∂hL

NF

∂XNF
ẊNF

+
∂hL

NF

∂TNF
ṪNF

)
= VNF−1h

V
NF−1 − VNF

hV
NF

+ LNF+1h
L
NF+1 − LNF

hL
NF

+FhL(XF , TF , PF ).

�J�FI�

&� �
� ��'��� 
�5�� LN+1 �� �
� ���������� �� �� � ��	��
���
� TC  �
� ���
���� �������
�� �
�� N 
����

ṅNh
L
N + nN

(
∂hL

N

∂XN
ẊN +

∂hL
N

∂TN
ṪN

)
= VN−1h

V
N−1 − VNh

V
N + LN+1h

L(XN+1, TC , PN+1)− LNh
L
N .

�J�F4�

?���������
��8 �� ����
	��� �
� ��'��� ���5�$ L	 �� ���
 �
�� $� ��� � 
��
�����
��
�	� �
�� �� ����� �� �
� �� ������ D3
����� $��
 ��
	���E� (� 
�'��
�� ���� �$� ��
�	���
�
��
 �
�� ��� �� � 
���
���� !���	� nref

	  �
� ������ �� ������� �� W	� �
� ��
	��� ����������
�
��

L	 V
m(X	, T	) = W	(n

v
	 − nref

	 )
3
2 , � = 1, . . . , N, �J�FH�

��� ��� �� ��
�!�� �� �� �������� �� �
� �
�!��� 5�$ �!�
 � 
�
�"����� $��
 $��
 !�
�����
$���� �
�� �� ��!�� �� &������� ,�

������
;
�" �!� ��*

<� ��� �����	� ��� �����	 ������ �� �$� !����
� x ��� z $
��
 ������ �
� ��#�
������ ���
�
� �����
��� ����� !����
� 
�������!����

�
� �	���
� ���
���� �������
������ �� 
������
 �� �
� 40 �
��� ��� �� �
� ��������

X	 ��
 � = 0, 1, . . . , N +1 �
� �
� 1
�� 4/ ��	������� �� �
� ��#�
������ ����� !����
 x ���
�
� 	���
 �
�� 
������ n	 ��
 � = 1, . . . , N �
� �
� ������ 40 ��	��������

�
� ��'��� ��� !���
 �	���
� 5���� L	 ��� V	 �� = 1, 2, . . . , N� ��� �� �
�
40 �
��� �� $��� �� �
� 4/ ��	��
���
�� T	 �� = 0, 1, 2, . . . , N + 1� �� 
������
 



#3� ������
���
�� �
 �!� ������ &��������� ���

�
��� ��� ��������
 ��
	 �
� F// ��	������� �� �
� �����
��� ����� !����
 z =
(L1, . . . , LN , V1, . . . , VN , T0, . . . , TN+1)

T �� ���� �
�� 	��� �����
��� !�
������ �
�� ���
������ �� ���	������ ��� ���� hL

	  P s
k (T	) V0 ����� �� ��� ����� �� �����
��� !�
������ ��

�
�� ��
	��������

�
� �$� ��	������� �� �
� ����
�� !����
 u = (Lvol, Q)T �
� �
� !���	��
�� 
�5�� 5�$
Lvol ��� �
� 
��� ����� Q �
�� ����
	���� �	�������� �
� 	���
 !���
 5�� V0 ��� �� �
�

������
� &�� 
�	������ �����	 ��
�	���
� ���� nv

0 Ptop nv
N+1 ΔP0,... ,N  nref

1,... ,N  α1,... ,N  
Fvol XF  W1,... ,N  TF  Qloss ��� TC  ��� �� �����	�� �� � !����
 p�

�
� �'������� �J�J�R�J�F0� ��� �J�/�R�J�I� �
� �
� K/ ��#�
������ �'������� f  ���
�J�FH� �J�F/�R�J�F4� ��� �J�F� ��
	 �
� F// �����
��� �'������� g �� �
� �����	�

&���
 ������������ ṅ	 �� �'�� �J�J�R�J�F0� ��� ��!����� �
��� �'������� �� n	 $� ���
��		�
�"� �
� %&� �����	 $
��
 
�� ����� ��� �� �
� �����$��� ��
	>

ẋ(t) = f(x(t), z(t), u(t), p) �J�FL�

0 = g(x(t), z(t), u(t), p). �J�FJ�

�
� �	������ !����� ��
 �
� ��
�	���
� p 
�!� ���� ����	���� ��� �
� ������ �� ����� J�F
�� .������ J�/� & ��	����� 
���
���� �� �
� 	���
��� �
���
�� ��������� V m(x, T ) P s

k (T ) 
hL(X, T ) ��� hV (Y, T, P ) �� ��!�� �� &������� ,�

7"% $�
����
�
��
 �� 
�� �/�
�� ������
���

(� �
� ������ ����������� �
� ��
��
	���� �� ���� �
������� ������� �� �
� '������ ��
�
� 	����� �������
��� �
�� ���� ������ ����� ��� ��������� ����	�� ����
�	���� 
�!�
���� ��
��
	��� �� ������ 	����
�	���� �� �
� ����	�� ��
�!���
 �� �
� ����	� ����
�
����� �� �
� ���� 
��� Fvol ��� ��	�������� XF  �
� 
�5�� 
��� Lvol ��� 
��� ����� Q
$�
� ��
��
	��� �����
�	���� �� ��� 4/ ��	��
���
�� T0, . . . , TN+1 $�
� ��)�� �� ������
� ����� �'��
�� 1� �� �
� ��	������ �� �
� ����
!�� ��
�!���
� �
� ���������� ����	������
��
 �
�� 1� �
� �
�� �
� �
�� ���������� �
� �������� �� ���
 �� �
� �$� ����	� �������� 
���� α1 = . . . = αNF

��� αNF+1 = . . . = αN  �
�� �
� �
����
� ������ �
� �������� �� ���

��������> ΔP0 = . . . = ΔPNF−1 ��� ΔPNF

= . . . = ΔPN  ��� �
�� �
� !���	��
�� 
���
����
�
�� 
������ ��������> nref

1 = . . . = nref
N � 9������
 ��� ��������
 
����� �
� ������� ��

����
	��� �
�	 ��	��
���
� 	����
�	���� �� �
�� ���
 ������� !�
� ��
� ��'���� ��
���

��������� ���
����� ���������� ��� $
��
 
�!� �������� ������� ��	��
���
��� ���!�
���� 
�
��� �$� !���	�� �� ��� 	����
 	��
 ��
 �
� ���� ��
��
	����� �
�� $�
� ����
	����
����
���� �� ���
 )��$������

�,�� ��	�
����	� ���
����	�� �� ��� ��������� ��"�	�� ��� ��

 �� ����� ��� ���
����	�� �� ���
��6	" �� TC := TN+1 ���� TC �� ��� �
������� ���������� ���� 
��� �
������� ������
� ��	
� �� �
��������
�����	� �������� ��� ���������



��7 ������� �
 � �
��
����
�� ������

.�	��� 6���� .�	��� 6����
nv
0 K�H � Ptop GIG 
 ��

nv
N+1 0�FJ � ΔPstrip /�H 
 ��

nref
tray 0�FHH � ΔPrect F�G 
 ��

αstrip L/ S TF JF◦�
αrect IH S TC 4J�/◦�
Wtray 0�FLL �−

1
2 �−1 Fvol F4�0 � 
−1

Qloss 0�HF )< XF 0�I/

����� J�F> �������� �����	 ��
�	���
�

�
� F0 ��
�	���
� �
�� ����� �� ��=����� �� ����	�� ����
�	����� ���� $�
�>

αstrip := α1,... ,NF
,

αrect := αNF+1,... ,N ,
Ptop,
ΔPstrip := ΔP0,... ,NF−1,
ΔPrect := ΔPNF ,... ,N ,
Qloss,
TF ,
TC

nref
tray := nref

1,... ,N , ���
Wtray := W1,... ,N .

�J�FK�

%�
��� �
� ���� ��
��� �
��� ��
�	���
� 
�!� ���� ��=����� ��!�
�� ��	�� ����� ������ ���
����	�� ����
�	���� ���������� ���
 �������
��� ��������� ��� ��!����� ����$�
� ������
�
� 1����� ����	���� �����	 ��
�	���
� �
� ������ �� ����� J�F�

9���� ������ �
��	� �����	�	��

�
� ����	����� �� �
� 1
�� ���
� �� �
� ��
�	���
� �J�FK� �
�� $� ���� �
� ������ �����	
��
�	���
� ��� �� �
������� �� ��
��
	�� ����� ������ ����� ���� ����� %������� �
�
	����
�� ������ ����� ��	��
���
� �!�
���� �� � ������ ����� ����
�	��� �� �
� !����

Tm := (Tm

0 , . . . , Tm
N+1)

T ��� �
� �!�
���� ������ ����� ����
��� �� um := (Lm
vol, Q

m)T  ���
���
������� �
� �
�=������ 	��
�� T �
�� ���
���� �
� ��	��
���
�� �
�	 �
� �����
���
�����	 ����� �� �
�� Tz = (T0, . . . , TN+1)

T  $� ��� ��
	����� �
� �����$��� ����� �'��
��
�
����	>

min
xS ,zS,p

‖TzS − Tm‖2Q �J�FG�

���=��� ��

f(xS, zS, u
m, p) = 0,

g(xS, zS, u
m, p) = 0,



#3� ������
���
�� �
 �!� ������ &��������� ���

60 70 80 90 100
0

5

10

15

20

25

30

35

40

temperature [o C]

tra
y 

nu
m

be
r

3���
� J�I> ��	��
���� �� ��	��
���
� 	����
�	���� ��� ����	���� ������ ����� ��	��
�
���
� �
�1�� ������ ������

$
�
� �
� �����
����� ����
� �
�� ���� ������ ������ �
� ����$��� �
� ������!� ��1����
$���
���� 	��
�� Q $���� ������� �� �
� ��!�
�� �� �
� ��!�
����� 	��
�� �� �
� ��	��
��
��
� 	����
�	���� �
�� ��� �� �������� �� �� �������� $��
 �'��� ���
���� 3�
 �
� ����
��
��
	���� ����� 
�$�!�
 $� 
�!� ���������� ��!�� 	�
� $���
� �� �
� ����
����� ��	�
��
���
�� T28 ��� T14 �� � �����
 �� ��� �� �!��� ������ ����� �#��� ��� �� 	����������
	��	���
�

9���� �
����� �
��	� �����	�	��

�
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� �
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� ��� �J�FK� nref
tray ��� Wtray ��� ���� �� ����	���� ��
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�	����� �
�� 
�!� ���� ����
	���� �� �
� �������� �� � ��������
 �����
�'��
�� 1� �� �
� ����	�� 	���� �� �
� 	����
�	��� ����� 8�� �� ��
 �
�� ��	 ��1��
�
� ��	� ��������� ��	��
���
� 	����
�	��� �������� Tm(t) ��� �
� 	����
�� ����
��
�
�=����
� um(t) �� � 
�
�"�� [0, T ]� �
�� �
� ����	����� �
����	 ��� �� ��
	������ ��>

min
x(·),z(·),p

∫ T

0

‖Tz(t)− Tm(t)‖2Q dt �J�/0�
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�� T28 ��� T14 ��
 � �	��� ���� �
���� �� �
� 
�5�� Lvol�

���=��� ��

ẋ(t)− f(x(t), z(t), um(t), p) = 0, t ∈ [0, T ],

g(x(t), z(t), um(t), p) = 0, t ∈ [0, T ].

(� �
� ����	�� ����
�	��� ���
�� �� ������ ����� $� ��� �
� ������ ����� �����
����

f(x(0), z(0), um(0), p) = 0,

g(x(0), z(0), um(0), p) = 0.

�
���
 �����1����� �����
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������ ����
�� ��
�	� $
��
 ����
��� �
� ��!������ �� �
� ����
����
������ �� �
�� F4 ��� /K �
�	 � ��!�� �������� �� ����� �
��� �$� �������
������ �
�
	��
 	�
� �������!� �� �
����� �� �
� ������ �� �
� �����	 �
�� �
� �
����� �������
��
�����Q �� �
�� �
� )��� �������� �
� �
����� ��
����� �
� ������ 	��������� ��
 � ��
�� 
����
�� �
����� ����������� &� �������
������ �
� ������� �� 	����
� $� �������
 ������� �
�



��+ ������� �
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�� ������

�
�� ���
�������� $
��
 ��

������ ��
����� �� �
� �������
������ !�� �
� &������ �'���
����� (� �
� �����$��� $� $��� ��� �
� �
�=������ T̃ z := (T28, T14)

T �� ���
��� �
� ����
�����

��	��
���
�� �
�	 �
� !����
 z ��� ��1�� T̃ref :=
(
T ref
28 , T

ref
14

)T
= ( 70 ◦C, 88 ◦C )T ��


�
� ����
�� ����������

9�$�� ��	�

 ����	 �	�	���������

��������
(� � :��"����
� �������
���<8 & ����
�� ������ ����� xS zS ��� �
� ��

��
�������� ����
�� uS ����� �� �
������� �� ����
	���� ��
 ��!�� ��
�	���
� p �� � ��������
�� �
� ������ ����� �'������

f(xS, zS, uS, p) = 0,

g(xS, zS, uS, p) = 0,

T̃ zS − T̃ref = 0.

+�
� �
� ���� �'������ 
���
���� �
� ������ ����� �� ������� �
� ����
������ ����
�� ��	 ��
)������ �
� ��	��
���
�� �� �
� 1��� 
���
���� !������ �
� �������
� ���
��� �� �
����	
�
� �
�!���� �� �
� �$� ��	������� �� �
� ������ ����� ����
��� uS� �
�� ���
���
 $��
���� �� �
� 1
�� ��
��� �� ��	�
���� ��� ����
�	����� ����� O%,.+0F %-3+0FP�

��������
(� 2 :*�� &�
�� �������
��<8 (� �
� �
������� ��	��������� �� �
�� �
���� 

�$�!�
 $� 
�!� ������� �� ����
����!� ���
���
 �� ����
	��� �
� ����
�� ������ �����> ��
�
�� ��� ���� �
�� �
� ������ ����� xS zS ��
 ��!�� p ��� uS ����� �'����� �� ����
	���� ��
�� �����
����� �� �
� 	���� %&� �!�
 � ���������� ���� ��	� 
�
�"�� $��
 �������� ����
���
uS �������� xS zS �� 1��� !����� $
��
 �
� �
��������� ����������� �� �
� ������� !������
�
� 
�'��
�	��� �
�� �
� ������ ����� �
���� ������� T̃ zS = T̃ref ��� �
�� �� ��
	������
�� � 1��� ����� �����
���� �
�� �	�������� ����
	���� uS� <� �	���� �
�� ������ ���
���

�� ����
	��� uS �� ����� �� ���������� ���� �
�������� ����
!�� �� �
� ��� �� �
� ����
��

�
�"�� �� �
� �
����	 ��
	�������� ���� �
�� �
� ��� �� �
�� ���
���
 ���� ��� �����
���������� ��	�
���� �#�
� �� � �
�������� 
�
�"�� �� �	������ ���$��Q �� �
� ����
�
� 
�
�� ��
	������� �!���� ���
������� ���������� !�
������ xS  zS ���� �
� �8��

9�$��  �	 "#����� ������� �����	�

��6���
(� 0����
��8 �
� ��������� ��=����!� �� ��
	������ �� �
� �����
�� �� � �����
�'��
�� ��
	

L(z, u, uS) := ‖T̃ z − T̃ref‖22 + ‖R(u− uS)‖22 , �J�/F�

$
�
� �
� ������ ��
	 �� ���
������ ��
 
�����
�"����� $��
 � �	��� �������� $���
����
	��
��

R =

(
0.05 ◦C h l−1 0

0 0.05 ◦C kW−1

)
.



#3$ ���
��� ������� &������ 0�������
�� ��'

&���
��
�� �����(��8 �� ����
� ��	���� ��������� �� �
� ����������� �����	 �� �����
������ �
�������� ����
!�� [t0 + Tc, t0 + Tp] �� �������� �� �
� ����
�� 
�
�"�� [t0, t0 + Tc] 
$��
 �
� ����
��� 1��� �� �
� �������� !����� uS� �
� ��=����!� ����
������� �� �
�� ����
!��
�
�!���� �� ����
 ����� �� �
� ��������� ����
� ����� �
�� �
� ��� ����
 �
� ��� �� �
�
����
�� 
�
�"�� �� ��� �����
 �� ���������� ��
�� ���� .��� F�4�F�� & �����
 �� Tp−Tc = 36000
������� 
�� ���� �������
�� �� �� �������� �� ��� ��
��
	�� ����
�	����� ���� �
�� �
�
����	�"�� �����	 ����� x(t0+Tc) �� �
� ����� �� �
�� ����
!�� ����� �� �
� ��� �� �
� ����
��

�
�"��� �� �� �
������ ��
���� !�
� ����� �� �
� ����
�� ������ ����� !���� xS �

&������ 0�������
��

�
� 
�������� ����	�� ����
�� �
����	 �� ��
	������ �� �����$�>

min
u(·),x(·),p,uS

∫ t0+Tp

t0

{∥∥∥T̃ z(t)− T̃ref

∥∥∥2

2
+ ‖R(u(t)− uS)‖22

}
dt �J�//�

���=��� �� �
� 	���� %&�

ẋ(t) = f(x(t), z(t), u(t), p)
0 = g(x(t), z(t), u(t), p)

��
 t ∈ [t0, t0 + Tp].

(������ !����� ��
 �
� ��#�
������ ������ ��� !����� ��
 �
� �����	 ��
�	���
� �
� �
���
����>

x(t0) = x0,

p = p0.

.���� ��� ����
�� ���'������ �����
����� �
� ��
	������ ��

h(x(t), z(t), u(t), p) ≥ 0 t ∈ [t0, t0 + Tp],

$
�
� h := (D,B)T �� �
� �������� ����������� �
� 5���� D ��� B ��� �� ��������
 ���

������
 ����
���� �� �
� 	���� �'������� $
��
 ������ ����	� ������!�� �
�� �	��������
�
�!���� ����
 ��	��� �� �
� ����
����

�
� ������ ����� ����
�� uS �� ����
	���� �	�������� �� �
� 
�'��
�	���� �
�� u ��
�������� �� �
� ���� �
�������� ����
!��

u(t) = uS ��
 t ∈ [t0 + Tc, t0 + Tp],

��� �� �
� 1��� ����� �����
����

T̃ z(t0 + Tp)− T̃ref = 0.
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� )��� ��$���B� ��$ �� 	����� 
����

p̈ =
d 2p

dt2
=

F

m
.

8�� �� ���
����� ����
 ���
������� θ φ r>

p =

⎛
⎝p1
p2
p3

⎞
⎠ =

⎛
⎝r sin(θ) cos(φ)

r sin(θ) sin(φ)
r cos(θ)

⎞
⎠ .

FIG
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et

el

p

3���
� K�F> & �����
� �� �
� )����

���� �
�� �
� �������� r ���$��� ����� ��� )��� �� ������� �������� ��
��� 5��
� ��� θ ��
�
� ����� �
�� �
� ����� ��
	 $��
 �
� !�
������ (� �
��� ���
������� p̈ ���)� �� �����$�

p̈ =
d

dt

(
∂p

∂θ
θ̇ +

∂p

∂φ
φ̇+

∂p

∂r
ṙ

)

=
∂p

∂θ
θ̈ +

∂p

∂φ
φ̈+

∂p

∂r
r̈ +

∂2p

∂θ2
θ̇2 +

∂2p

∂φ2
φ̇2 +

∂2p

∂r2
ṙ2

+ 2
∂2p

∂φ∂θ
φ̇θ̇ + 2

∂2p

∂r∂θ
ṙθ̇ + 2

∂2p

∂r∂φ
ṙφ̇.

�K�F�

8�� �� ���
����� � ����� 
��
� 
����� ���
������ �����	 $��
 �
� �

�� ����� !����
�

eθ =

⎛
⎝cos(θ) cos(φ)

cos(θ) sin(φ)
− sin(θ)

⎞
⎠ , eφ =

⎛
⎝− sin(φ)

cos(φ)
0

⎞
⎠ , ��� er =

⎛
⎝sin(θ) cos(φ)

sin(θ) sin(φ)
cos(θ)

⎞
⎠ .

(� �
�� ���
������ �����	 �
� ��
���� ��
�!���!�� �� p $��
 
������ �� θ φ r ����	�

∂p

∂θ
= reθ,

∂p

∂φ
= r sin(θ)eφ, ���

∂p

∂r
= er,

���

∂2p

∂θ2
= −rer,

∂2p

∂φ2
= −r sin2(θ)er − r sin(θ) cos(θ)eθ, ���

∂2p

∂r2
= 0,

�� $��� ��

∂2p

∂φ∂θ
= r cos(θ)eφ,

∂2p

∂r∂θ
= eθ, ���

∂2p

∂r∂φ
= sin(θ)eφ.
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p̈ = eθ

(
rθ̈ − r sin(θ) cos(θ)φ̇2 + 2ṙθ̇

)
+ eφ

(
r sin(θ)φ̈+ 2r cos(φ)φ̇θ̇ + 2 sin(θ)ṙφ̇

)
+ er

(
r̈ − rθ̇2 − r sin2(θ)φ̇2

)
.

%�1����

Fθ := F · eθ, Fφ := F · eφ, ��� Fr := F · er,
$� ��� $
��� ��$���B� ��$� �� 	����� �� �
� ��
	

rθ̈ − r sin(θ) cos(θ)φ̇2 + 2ṙθ̇ =
Fθ

m
,

r sin(θ)φ̈+ 2r cos(θ)φ̇θ̇ + 2 sin(θ)ṙφ̇ =
Fφ

m
,

r̈ − rθ̇2 − r sin2(θ)φ̇2 =
Fr

m
. �K�/�

(� �
� �����
 �� �
� ����� ������� �� r �� )��� �������� ��� ��
	� ��!��!��� ��	� ��
�!���!��
�� r $��� �
�� ���� 3�
�
�
	�
� �
� ���� �'������ �K�/� $��� ����	� 
�������� �� �
�
��
�� �� �
� 
����� ��
������ $��� �� ���	����� �� � �����
���� ��
�� ����
������� Fc ��
�
�� �'� �K�/� �� ����	�������� �����1�� $
�� �
� ���	����� ��
�� F ′

r := Fr − Fc 
�������
Fr $��
 Fc = Fr + rθ̇2 + r sin2(θ)φ̇2� (� �
�� ���� �
� �'������� �� 	������ ��	����� ��

θ̈ =
Fθ

rm
+ sin(θ) cos(θ)φ̇2, �K�I�

φ̈ =
Fφ

rm
− 2 cot(θ)φ̇θ̇. �K�4�

(� ��
 	���� �
� ��
�� !����
 F = F gra + F aer �������� �� �$� ����
�������� �
� �
�!�
��������� ��
�� F gra ��� �
� ��
�����	�� ��
�� F aer� (� ��
������ ���
������� F gra =
(0, 0,−mg)T $��
 g Z G�KF 	 �−2 ����� �
� ��
�
B� �
�!��������� ������
������ (� �����
���
������� $� �
�
���
� 
�!�

Fθ = F gra
θ + F aer

θ = sin(θ)mg + F aer
θ ��� Fφ = F aer

φ .

(� 
�	���� �� ��
�!� �� ���
������ ��
 �
� ��
�����	�� ��
�� F aer�

<���� ���	 "��	������� ��
 ��	 �	��

����� ����	

�� 	���� �
� ��
�����	�� ��
�� �
�� �� ������ �� �
� )��� $� 1
�� ����	� �
�� �
� )���B�
�
������ ���� �� ��$��� ������ �� �
� ���� ���� �
� ��
������ �� �
� �#����!� $��� �� ����

����� ���� ��� ��
����� �� ����� ��	������ ���	���� ���� Fc = Fr + rθ̇2 + r sin2(θ)φ̇2 ≥ 0� �� � 
��� ���
��
� 
	

� ��� 
	���
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��	� .�	��� 6����
���� �����
 r H0 	
)��� 	��� m F )�
$��� !������� vw L 	U�
������� �� ��
 ρ F�/ )�U	3

�
�
����
����� �
�� A 0�H 	2

���� ��������� Cl F�H
�
�� ��������� Cd 0�/G

����� K�F> �
� )��� ��
�	���
��

�
�	 �
� )���B� ���
���� �
�	�� -���
 �
�� ����	����� �
� )���B� ������������ ���� �� ��$���
�� ���� $��
 �
� �#����!� $��� !����
 we := w− ṗ $
�
� w = (vw, 0, 0)

T �� �
� $��� �� ����
�
�	 �
� ��
�
 �����	 ��� ṗ �
� )��� !�������� (� $� ���
����� � ���� !����
 el ��������
�
�	 �
� �
��� ��$�
�� �
� �
������ ���� �� �
� )��� ���� 3��� K�F� $� �
�
���
� ����	� �
��

el =
we

‖we‖ .

�
� �
���!�
��� ���� �� �
� )��� ��� �� ����
���� �� � ��
���������
 ���� !����
 et �
�� ��
�������� �
�	 �
� ���� �� �
� 
��
� $��� ���� ����
�� �� �� �
�
������ �� �
� ������������
���� ���� 

et · el = et · we

‖we‖ = 0. �K�H�

�
� �
��������� �� �
� �
���!�
��� ���� et ������� �
� �����B ���� �$
��
 �� ��!�� �� �
�
!����
 er� ��� �� ��5������ �� �
� �����
 ��#�
���� Δl �� �
� �$� ������ (� �
� ��������
���$��� �
� �$� �����B 1���� ������ �� �
� )��� �� d �
�� �
� !����
 �
�	 �
� ���� �� �
�

��
� 1���� ����� �� det ��� �
� �
�=������ �� �
�� !����
 ���� �
� �����B ���� �
���� �'���
Δl ������ ������!� �� �
� 
��
� $������ �� ��
�
�
 �$�� �
�	 �
� ������ ���� Δl = d et · er.
8�� �� ��1�� �
� ������� ����� ψ �� ��

ψ = arcsin

(
Δl

d

)
.

<� $��� ����	� �
�� $� ����
�� �
�� ����� ψ ��
������ (� ����
	���� �
� �
��������� �� et
$
��
 
�� �� �������>

et · er = Δl

d
= sin(ψ). �K�L�

& �
�
� 
�'��
�	��� �
�� et �
���� ������� �� �
��

(el × et) · er = we × et
‖we‖ · er > 0, �K�J�
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$
��
 ��)�� ������� �� �
� ���� �
�� �
� )��� �� ��$��� �� �
� ��	� �
��������� $��
 
������
�� �
� ������

+�$ �� 1�� � !����
 et �
�� �����1�� �
��� 
�'��
�	���� �K�H�R�K�J�T -���� �
� �
�=���
���� wp

e �� �
� �#����!� $��� !����
 we ���� �
� ������� ����� ������� �� eθ ��� eφ 

wp
e := eθ(eθ · we) + eφ(eφ · we) = we − er(er · we),

$� ��� ��1�� �
� �
�
������ ���� !����
�

ew :=
wp

e

‖wp
e‖ ��� eo := er × ew,

�� �
�� (ew, eo, er) ��
	 �� �
�
������ 
��
��
����� ���
������ ������ ���� �
�� �� �
��
����� �
� �#����!� $��� we 
�� �� ��	������ �� eo ��
������ ��

we = ‖wp
e‖ew + (we · er)er.

<� $��� �
�$ �
�� �
� ��1������

et := ew(− cos(ψ) sin(η)) + eo(cos(ψ) cos(η)) + er sin(ψ)

$��


η := arcsin

(
we · er
‖wp

e‖ tan(ψ)

)

�����1�� �
� 
�'��
�	���� �K�H�R�K�J�� �'������ �K�H� ��� �� !�
�1�� �� ������������ �� �
�
��1������ �� η ����

et · we = − cos(ψ) sin(η)‖wp
e‖+ sin(ψ)(we · er) = 0.

�'� �K�L� �� �
�!����� �����1�� ��� �'� �K�J� ��� �� !�
�1�� �� ����������� ��

(we × et) · er = (we · ew) cos(ψ) cos(η)− (we · eo)(− cos(ψ) sin(η))
= ‖wp

e‖ cos(ψ) cos(η)
�$
�
� $� ���� �
� ���� �
�� we · eo = 0�� 3�
 ������ ψ ��� η �� �
� 
���� �
�	 −π/2 ��
π/2 �
�� ���
������ �� ��$��� ������!�� �
� ���!� �������
������ ����$ �� ����
	��� �
�
�
��������� �� �
� )��� ��������� �� �
� ����
�� ψ ��� �
� �#����!� $��� we ����� ����
�
�� �
� �������
������ $���� �
��) ��$� �� �
� �#����!� $��� we $���� �� �'��� �� "�
� 
�
 �� ∣∣∣∣we · er

we · ew tan(ψ)

∣∣∣∣ > 1.

�
� �$� !����
� el × et ��� el �
� �
� ��
������� �� ��
�����	�� ���� ��� �
�� 
�������!����
�� ��	���� �
� 	��������� Fl ��� Fd �� ���� ��� �
�� $� ����	� �
�� �
� ���� ��� �
��
���������� Cl ��� Cd �
� �������� �� �
�� $� 
�!�

Fl =
1

2
ρ‖we‖2ACl ��� Fd =

1

2
ρ‖we‖2ACd,
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$��
 ρ ����� �
� ������� �� ��
 ��� A ����� �
� �
�
����
����� �
�� �� �
� )����

*�!�� �
� ��
������� ��� 	��������� �� ���� ��� �
�� $� ��� ��	���� F aer �� �
��

��	 ��������

F aer = Fl(el × et) + Fdel

�
 �� �
� ����� ���
������ �����	

F aer
θ = Fl((el × et) · eθ) + Fd(el · eθ) ��� F aer

φ = Fl((el × et) · eφ) + Fd(el · eφ).

�
� �����	 ��
�	���
� �
�� 
�!� ���� �
���� ��
 �
� ��	������� 	���� �
� ������ �� ���
��� K�F� %�1���� �
� �����	 ����� x := (θ, θ̇, φ, φ̇)T ��� �
� ����
�� u := ψ $� ��� ��		��

�"� �
� �����	 �'������� �K�I�R�K�4� �� �
� �
�
� ��
	

ẋ = f(x, u),

$��


f((θ, θ̇, φ, φ̇)T , ψ) :=

⎛
⎜⎜⎜⎜⎜⎜⎝

θ̇

F aer
θ (θ, θ̇, φ, φ̇, ψ)

rm
+ sin(θ)

g

r
+ sin(θ) cos(θ)φ̇2

φ̇

F aer
φ (θ, θ̇, φ, φ̇, ψ)

rm
− 2 cot(θ)φ̇θ̇

⎞
⎟⎟⎟⎟⎟⎟⎠

.

8"% � �������	 ��#�


-���� �
� ���!� �����	 	���� � ��
����� �
��� $�� ����
	���� �
�� ��� �� �
�
����
�"��
�� � D����� ���
�E ��� $
��
 �� �������� �� � φ − θ−���� �� 3��� K�/ ��� �� � ��	� ����
�� 3��� K�I� �
� $��� �� ����	�� �� ���$ �� �
� ��
������ �� �
� p1����� �θ = 90o ���
φ = 0o�� �
� ��
����� �������� $�� ��	����� ����� �
� �#����� !�
���� �� �-.�7%�(( 
�	������ ��
�������� ���������� $��
 ��
��� T = 8 ������� ��� �������� ����� ������
��� � �������� ��=����!� �������� �� �
��
 �� ����� � �������� �
�� $�� �������
�� �� ��
� 	��������� 
���
���� �
���� ���� �
�� �
� ����
�� ψ ���� 3��� K�I� �� ������!� $
�� �
�
)��� �
��� ��
� �� � ����)$��� ��
������ �� ���� �
�	 �
� �����B� !��$����� ��� ������!�
��
 �� ���������)$��� ��
������� <� $��� ������ �
� ��
����� 
���
���� �������� �� xr(t) ���
ur(t)� �
�� �������� �� ��1��� ��
 ��� t ∈ (−∞,∞) ��� �����1�� �
� ��
�������� ���������
xr(t + T ) = xr(t) ��� ur(t+ T ) = ur(t)�

(� �� ����
������ �� ���� �
�� �	��� �

�
� ����	����� !�
� '���)�� �� �
�� �
� ������
�
����� �����	 $��� ��� ���� �� �
� ��
����� �
��� !�
� ���� ��
��� � ��	�
���� ��	�������
���� 3��� K�4�� �
�� ����
!����� ��� �� ���1
	�� �� ��!���������� �
� ���	������ ���������
�
���
���� �� �
� ��
����� �
����
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3���
� K�I> ��
����� �
���> �����	 ������ ��� ����
�� ψ ������� ��
 ��� ��
��� T = 8 � �
���� �
�� θ ��� θ̇ ��������� $��
 ������ �
�'������

= = = cs;~ 
= 
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3���
� K�4> 7�������� ����
�� ������� �� �
� �������
��� �����	�

<���� ��������
 ����
��� �� ��	 "#	�1%��# �
��	�

�� ����
	��� �
� ���	������ ��������� �
���
���� �� �
� ��������� �����	 ����� �
� ��
�����
�
��� ��� �� �������
 �� ������� !���� �
����	 ��
 �
� ��������� �����	 �� �
� ����
!�� [0, T ]
��

��������� �� ��� ��
���>

ẋ(t) = f(x(t), ur(t)), ∀t ∈ [0, T ],

x(0) = x0.

�
� �������� �
�=����
��� x(t) ��� �� 
���
��� �� ��������� �� �
� ������� !���� x0� ���� �
��
��
 x0 = xr(0) �
� �������� �� ��������� �� �
� 
���
���� �
�=����
� xr(t)� �
� �������!���
	��
����

W (t) :=
∂x(t)

∂x0

(xr(0)), t ∈ [0, T ],

��� �
�
���
� �� �������� �� �
� �������� �� �
� 	��
�� ������� !���� �
����	>

Ẇ (t) =
∂f

∂x
(xr(t), ur(t)) · W (t) ∀t ∈ [0, T ],

W (0) = Inx .

�
� 1��� !���� W (T ) �� ������ �
�����	���� �����! � (� �
�
����
�"�� �
� �������!��� �� �
�
1��� ����� �� ���
 ��
��� $��
 
������ �� �
� ������� !����� &��	���������� ������ ��
�����
�
���� �
� �
�
����
�"�� �� � 	����
�	� 	��
�� $
��� �����!����� ����� ������ D3��'���
���������
�E� ��� 
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.3$ �!� ���
��� ������� &������ �+#

& ��	�
���� ��	�������� �� W (T ) ��
 �
� )��� 	���� ����� �
� �
���� ��
����� �
���
������

W (T ) =

⎛
⎜⎜⎝

3.0182 2.4014 0.9587 −0.1307
3.3399 2.5500 0.0054 −0.3935
−2.7170 −1.8596 0.8436 0.5072
−2.8961 −2.0491 0.5601 0.4640

⎞
⎟⎟⎠ ,

$
��
 
�� �
� �����!���� �����
�	

σ (W (T )) = { 5.29, 1.53, 6.16 · 10−2, 4.17 · 10−7 },
���������� �$� �����!����� �
�� 
�!� � 	������ �����
 �
�� ���� �
�� ���1
	� �
�� �
�
�����	 �� ���	���������� �������� �� �
� ��
����� 
���
���� �
����

8"* ��� ��
���� ��

��� ���#���

*�!�� �� ������� ����� xt0 �� ��	� t0 �� ����	�� ����
�� �
����	 ��� �� ��
	������ �
��
��)�� ������� �� �
� ��=����!� �� )��� �
� �����	 ����� �� �
� 
���
���� �
���� 3�
 �
�� ��	
$� ��1�� � 8��
���� ��
	

L(x, u, t) := (x− xr(t))
TQ(x− xr(t)) + (u− ur(t))

TR(u− ur(t))

$��
 �������� $���
���� 	��
����

Q := ·

⎛
⎜⎜⎝

1.2 0 0 0
0 3.0s2 0 0
0 0 3.0 0
0 0 0 3.0s2

⎞
⎟⎟⎠ 10−4deg−2s−1 ��� R := 1.0 · 10−2deg−2s−1.

& 
�
� �����
���� �� ��!�� �� �
� ���� �
�� $� �� ��� $��� �
� )��� �� �
��
 ���� �
�
�
���� �θ = 90 ���
���� ��� ��
 ����
��� $� 
�'��
� � ���
 �����
���� ��������

h(x, u) :=
(
75 deg − θ

)
�� �� ������!�� -���� �
��� ��1������� $� ��
	����� �
� �����$��� ����	�� ����
�� �
����	
�� �
� 	�!��� 
�
�"�� [t0, t0 + 2T ]>

min
u(·),x(·)

∫ t0+2T

t0

L(x(t), u(t), t) dt �K�K�

���=��� ��

ẋ(t) = f(x(t), u(t)), ∀t ∈ [t0, t0 + 2T ],

x(t0) = xt0 ,

h(x(t), u(t)) ≥ 0, ∀t ∈ [t0, t0 + 2T ].
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3���
� K�H> ����������� ����
�� ������� �� �
� �������
��� �����	 ��	������� �� F00 ��
��
���� ��	�
���� �

�
� �
� ���������� �� !�
� �	��� ����
�� 
�������� �$��
 u(t)− ur(t) ��
�
� �
��
 �� 10−2 ���
��� ��� �� ��� ����	������

8", �������.��� ���'��
��
�

(� �
� 	������� �
������ ����
���"����� �
� 	������� �
������ ����
!��� $�
� �
���� �� ��
���
 �� ��� ������ �����
 �
�� ����$��� ���
� ����
�� ��

������� ��
 ��
��� T � �
� +������
	��
�� $�� ���
���	���� ����� �
� *�������$��� ���
���
 ��
 �����
�� ����� �'��
�� ��
	�
����
���� �� .��� L�4� �
� ��������"����� �� �����'���� ����	�"����� �
����	� $�� ��
��!��
$��
 � �
��� ��
����� $
�
� �
� ��$ 1��� ����
!�� $�� ��������"�� �� �� �����
����� �����
�
� ��	���� ��������� ����
�� ur(t) ��� .��� 4�4�F�

&� � 1
�� ���� �� �
� ����
��
	 $� �
� �� ����
�� �
� �������
��� �����	 ��� �
� 
�����
�� � ��	������� �� F00 ��
���� �� �������� �� 3��� K�H� (� ��� �� ���� �
�� �
� 
���
����
�
��� �� ��
������ �
��)��� �
� ���� ����
��� ����
!��� �� ��� ������ �����
 ��� ��

������
�� �
� ��	����� ��	���

3�
 � ������ ���� $� ��!� �
� )��� � ����
� D)��)E �� ��	� t = 1.0 ������� �
�� �����
�� � �����
����� �� �
� ������
 !������� θ̇� (� �
����� �
�	 −1 ���U� �� +5 ���U�� �
�
����������� 
������� �� �������� �� 3��� K�L �� � φ− θ−�����

&� � �
�
� ���� $� ��!� �
� )��� � 	���
��� D)��)E �� ��	� t = 3.5 ������� �
�� ���� �
�
������
 !������� θ̇ �
���� �
�	 12 ���U� �� 25 ���U�� �
� ����������� 
������� �� ��������
�� 3��� K�J� 3�
 � ��	��
���� $� ���� �
�$ �
� ��������� 
������� �� �
�� �����
����� ��
3��� K�K $
��
 
������ �� � �
��
 H ������� ����
 �
� �����
������

(� � ���
�
 ���� $� D)��)E �
� )��� ��
����� �� ��	� t = 4.0 ������� �� �
�� �
� ������

!������� θ̇ �
����� ��
����� �
�	 20 ���U� �� −7 ���U�� �
� ����������� 
������� �� ��������
�� 3��� K�G�
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�	 −1 ���U� ��
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 ��� ��
��� �
� �����
����� �� ���
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3���
� K�J> ����������� ����
�� 
������� �� � 	���
��� �����
����� �� θ̇ �
�� �
�����
�
�	 12 ���U� �� 25 ���U� �� ��	� t = 3.5 �������� &���
 F�H ��
���� �
� �����
����� ��
�����������
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� K�K> 7�������� 
������� �� �
� ��	� �����
����� �� �� 3��� K�J �� ��	� t = 3.5 ����
����� 3�!� ������� ����
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� �����
����� �
� )��� �
��
�� ���� �
� �
���� �θZG0 ���
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3���
� K�G> ����������� 
������� �� � ��
��� �����
����� �� θ̇ �
�� �
����� �
�	 20 ���U�
�� � !���� �� −7 ���U� �� ��	� t = 4.0 �������� &���
 �$� ��
���� �
� �����
����� ��
��	������� �����������

I 
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3���
� K�F0> ����������� �
�=����
� ��
 �
� $��) �����
����� ���� ��	������ �!�
 F00
��
�����

&� � ���� ���� $� ����� 
����	 ����� �� !�
���� 	�������� �� �
� �����	> �����
������

����� $��
 �
��������� p = 10% �−1 ��� �
�� ��	����������� �����
� ��� 4 ��	�������
�� �
� �����	 ����� $��
 ����������� 	��������� �
�� �
� �
�
����
�"�� �� �
� ������
�
��!�������

sθ = 0.9 deg, sθ̇ = 0.9 deg s−1, sφ = 0.6 deg, ��� sφ̇ = 0.6 deg s−1

��
 �
� $��) �����
����� ���� ���

sθ = 4.5 deg, sθ̇ = 4.5 deg s−1, sφ = 3 deg, ��� sφ̇ = 3 deg s−1

��
 �
� ��
��� �����
����� ����� 3�
 ���
 �����
�� $� 
�!� ��

��� ��� ��	�������� ��

F00 ��
���� ����� ��
 K00 ��������� �
� 
�������� φ − θ−����� ��� �� ���� �� 3��� K�F0 ��

�
� $��) �����
����� �����
�� ��� �� 3��� K�FF ��
 �
� ��
��� �����
����� �����
��� <
���
�
� $��) �����
�� �
�$� 
�$ ������ �
� ����������� �����	 ��
�!�� �!�� �� �
� �
������
�� 	���
��� �����
������ �
� ��
��� �����
����� �����
�� �� ��
������ �� �
� ��	��� ��
�
� ������������� �� �
� �
���� ����
�� ���
���
 �� �
� �����
������ ��	���	�� ���
 �
�
�����	 ����� ��� �� �
� ����� ������ �����1�� �� �
� ����	�"����� �
����	 �θ ≤ JH ���
�����
�
� 
�������� ������������� �� �
� ����	�"����� �
����	� $�� ���
����� �� �
� 
���������
��
����� �� �
� M� ���!�
� +�$�!�
 �
�� ���� ��� ��!� ��� ���
����� ��
 �
� $�
)��� ��
��
 ���
���
 �� �
� �
������ �� ��!�
� �����
������� (������ � ��
�	� �	������� ����
�����
���� ��
	�������� �
���� �� �	�������

�
� ��	�������� ��	� ��
 ���
 
������	� ���
������ ����� ��� ��� ������ �
� ��	�����
��	� �� ��� ������ �� ��� ��	�������� ��� �!�
���� �� 0�4H ������� $��
 � ������
� ��!������
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3���
� K�FF> ����������� �
�=����
� ��
 �
� ��
��� �����
����� ���� ��	������ �!�
 F00
��
�����

�� 0�0/ ������� ��� � ��	��' &��
� Y�F000 $�
)��������� �
� �		������ �������) ���)
�� �!�
��� ��� ����
 �� �
�� !���� 0�0H ��������
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�!� ��	����
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������� ������������� �� �� ����
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� ��������
 	���� �
������!� ����
�� �� � ������������ ����	� $
��
 �� ���
��
���� �� � ��
�� ����� ���# %&� 	����� .�	����� ��	�� �� �
� 
���� �� ������� �����
�� 
����"��� �
� �
��
������ ����
������ �
���
���� �� �
� ����
��
	 
�!� ���� ��!���������
��� ��	������� ������ �� �
� ���� �� ����	����� $��
 
������ �� � 
���
��� �������� �����
�� ��������
���

�	����#���� �� ��	 �	���
 >���#�	�� � ? + ��
 8@

�
� �
������ ���
���
 �� ����� �� �
� �
���� ����
��� �!���
�" ���!�� ��
��� /� �
��
����$� �� ��	���� �
� ��� �� ������� ����������
���
� %&� ���!�
� $��
 �
� ��!������� �� �
��	��������� ��
����� ��)� �
� ����������� �� �
��� �������� �����	 	������ (� ��
������
 
�
� �
������� ����
��
	 �� �
�
����
�"�� �� �
� �����$��� ��$�� ��!������ �����
��>

• �
� ��������"����� �� �����'���� ����	�"����� �
����	� $��
 �� 
�
�
�� (���� ���
����
�" ������"� ����!�
� ��
 �� ����� +������ .M� � 1
����
��
 �
������
 ��
 �
�
�������� �� ��$ �
����	� �!�� �� �
� �
������ �� ����!� ��� �
����� ��
��� I�� 3�

����
�� ��$��� ���� 	��
��� �
� ������� !���� �	������� ����� ����!�
� �� ���������
�
������
 ��
��� H .��� H�I��

• %�!�������� �� �
� �������� ���
������ $��
 �
� �
����� ��!����	��� �� � ������
��

�����
�� ��!��� ����$� �� 
����� ��	����� ��	�� �� � 	���	�	 ��� 	�������� ���
��!������� �� � ����� ��������
 �
���	��� �� �
� ����	�"����� �
����	� ��
��� 4��

• & ����
����� �� �
� ��	��������� �� ���
 
������	� ���
����� ���� � ��������
��
�!��� ��� � 
������- �!��� �� 
����"�� ��
��� L�� �
� �������) �
��� �� ���������
�
��
� �� 	�������� �
�
��
 �
�� �
� �
���
����� �
��� ��� ����$� �� ����!�
 �
�����
�"�� �������) �
�� ��)�� ��� �����
�"�� �����
����� ���� �������� �
�� �������)
�� �'��!����� �� ������ ��� ��
�	�� ����� � �����	 �����
�"����� ����� �
� ��

���
����	�� 
���
���� �
�=����
�� �
� ����� �� ��� ��	����� ��	� �
�� �� �
����� �� ���
�
�!���� ���� ��
�	�� �� �!������

FHI
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+������ �� ��	����� ��	���������� $��
 �
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�� �� ���������� ������ �� ����
�
�������� ����
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����
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• �
� 
������	� ���
����� ��
�	� �� ��������
�" ����
 �
� ��	� ���������� �� �
� �#�
���� 	��
�� ��
��
�	 H�L�� �
�� 	����> �� �
� ���� 
�
�"�� ����	�"����� �
����	
��� � ��!�� ��������"����� ������� �
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 ����� ���!�
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	 ����
�
 M9 �����
�"����� R̂Q2 =: Q′R′ �� ����� �
� ��!�
����� 	��
��
R′ ∈ R

(nx−a)×(nx−a)� �
�� �� �
� ���� ���� �
�� �� ���������� �� � ������
� �23
��
�	� ��� �� ��� �� =����1�� 
��
���������� (� �� ������ �
� ����!� x̃ = x′ ���
R′ = R̂�

4� ��	���� x̂k+1 := Xk(x̃) ��� G := ∂Xk(x̃)
∂x̃

�

H� ��	���� � ��	����� M9 ����	��������(
R′

−Σ
− 1

2
w GQ2

)
=:

(
Q̄ Q̃

)(
R̄
0

)

$��
 R̄ �����������
�

L� ��	����

Pk+1 := Q̃T

(
0

Σ
− 1

2
w

)
.

���� �
�� ��
 ����
��
	 �
������ �
������!� ����	���� x̂k+1 $��
 )��$����� �� �
� k��

	����
�	��� yk ���� �
� ����
�� !���� uk� �����



�,7 �� *	������ /����� 0
���� 1��
���

���
(��
(� 9������
��

�
� �������� Xk(xk) ��� ��� ��
�!���!� ∂Xk

∂xk
��� ��������� �� ��	����� �� � %&� ���!�


����� �
� �
������� �� ����
��� ��	�
���� ��#�
��������� �(�%� ���� .��� L�I�� <� ��� �
�
%&� ���!�
 %&�.78 O,��00P� �
� ��	�������� �� hk(xk) = Hxxk+HzZk(xk) 
�'��
�� �
�
����
	������� �� ���������� �����
��� !�
������ Zk(xk) �
�� ������� g(xk, Zk(xk), uk) = 0�
�
�� �� ��
��!�� �� ��
 �	���	�������� �� � ���	���� ��$���B� 	��
�� $
��
 ������
!�
� ������ ��	���������� �#�
� ��	��
�� �� �
� %&� ��������� ,� �
� �	������ ��������
�
��
�	 �
� ��
�!���!� ∂hk

∂xk
��� �� �!������� �� ��

∂hk

∂xk

= Hx +Hz

(
∂g

∂z

)−1
∂g

∂x
.

�"* ��'���
�	 ��
���
��


�
� ���� ��
��� �
� �23 ����
��
	 �� ����� �� ����	�� �
��
�		��� �
��	����� 8�� ��
��1�� � ��������

F (x, x̄) :=

⎛
⎜⎝

Pk(x− x̂k)

Σ
− 1

2
v (hk(x)− yk)

Σ
− 1

2
w (x̄−Xk(x))

⎞
⎟⎠

�
�� 
��
������ �
� ����� �� ����� k ��!�� � ���� ����� ����	��� x̂k ��� � $���
���� 	��
��
Pk� �
� ���� �� �� ���
���	����� ��		�
�"� �
� ����	�� !����

min
x

‖F (x, x̄)‖22 ���=��� �� xLB ≤ x ≤ xUB, �&�J�

�
�� ������� �� �
� ����� x̄ �� � '���
���� ��������

‖Pk+1(x̄−x̂k+1)‖22 + ����� .

�� ������ �
�� ���
���	����� $� $��� �����
�"� �
� �����	 �� ���� �
�� �� �� �������� ��
��		�
�"� �
� ����	�� ����� ����� �� � '���
���� �������� ������ �
� ����
��� ��	� 2��	��
1���
 ������

�
� �����
�"����� �� �
����	 �&�J� ���� ��� ���� �����
� �
� �������� F  �� �����
�� �23 ����
��
	� ��� ���� �
� �����
����� $
��
 
�!� �� �� ���!�
��� ���� ���
��
����
�'������ �����
����� �� 	�)� �
� �
����	 �
��� �����
� �
� �
�����
� �� �
� �
�!���� �������
��� �� 
���
��� �� � ��!�������� �� �
� �
����	 �����
�"����� ��� �
� �����
 2��	�� 1���

����
��
	�

<� �����
�"� �
� �
����	 ��
��� �
� �������� �
�����
� �� ����
���� �� �
� �
�!����
�������> ��� �� �����
�"� hk(x) �� �
� ����� x̂k �� ����� �
� ���
���	����� h+H(x−x̂k) �����
F� �
�� ��� �� �
���� � ����� x̃ ��
� �����	� �� �
� M� �������� ����� / ��� I� �� $
��




�3$ ?���
��
�  ��
(��
�� �,�

$� �����
�"� Xk(x) �� ����� �
� �����
�"����� x̂k+1+G(x− x̃) = x̂k+1+G(x̂k− x̃)+G(x− x̂k)
����� 4�� <� ��� �
�
���
� ���
���	��� F (x, x̄) �� �
� �����
 ��������

f̃ + (F̃x|F̃x̄)

(
x− x̂k

x̄− x̂k+1

)

=

⎛
⎜⎝

0

Σ
− 1

2
v (h− yk)

−Σ
− 1

2
w G(x̂k − x̃)

⎞
⎟⎠ +

⎛
⎜⎝

Pk 0

Σ
− 1

2
v H 0

−Σ
− 1

2
w G Σ

− 1
2

w

⎞
⎟⎠

(
x− x̂k

x̄− x̂k+1

)
.

3����� ���� �
� ����!� ��� $� �
�����
	 �
� ���'������ �����
����� ���� �'��������

QT
1 (x− x̃) = 0,

�� �
�� �
� �����
�"����� �� �
����	 �&�J� ��� �� $
����� ��

min
x

∥∥∥∥f̃ + (F̃x|F̃x̄)

(
x− x̂k

x̄− x̂k+1

)∥∥∥∥
2

2

���=��� �� QT
1 (x− x̃) = 0,

�
 �'��!������� �� �� �������
����� �
����	 $
�
� $� ��
����� ���������� x = x̃ + Q2y
������ �
� �
�
���
	�� ��	���	��� Q2 �� Q1�>

min
y

∥∥∥∥f̄ + (F̃xQ2|F̃x̄)

(
y

x̄−x̂k+1

)∥∥∥∥
2

2

, �&�K�

$��


f̄ := f̃ + F̃x(x̃− x̂k) =

⎛
⎝ 0

Σ
− 1

2
v (h− yk)

0

⎞
⎠ +

⎛
⎝ Pk

Σ
− 1

2
v H
0

⎞
⎠ (x̃− x̂k). �&�G�

7�
 �23 ���� ����
��
	 ��	����� � QR �����
�"����� �� (F̃xQ2|F̃x̄) ��

(F̃xQ2|F̃x̄) =

⎛
⎜⎝

PkQ2 0

Σ
− 1

2
v HQ2 0

−Σ
− 1

2
w GQ2 Σ

− 1
2

w

⎞
⎟⎠ =

(
Q̂ 0
0 I

) (
R̂Q2 0

−Σ
− 1

2
w GQ2 Σ

− 1
2

w

)

=

(
Q̂ 0
0 I

) (
Q′ 0
0 I

) (
R′ 0

−Σ
− 1

2
w GQ2 Σ

− 1
2

w

)

=

(
Q̂ 0
0 I

) (
Q′ 0
0 I

)
(Q̄|Q̃)

(
R̄ R′′

0 Pk+1

)

$��
 R′′ := Q̄T

(
0

Σ
− 1

2
w

)
� �
� �����
 �
����	 �&�K� �� �
�
���
� �'��!����� ��>

min
y

∥∥∥∥
(
Q̄T

Q̃T

) (
Q′T 0
0 I

) (
Q̂T 0
0 I

)
f̄ +

(
R̄ R′′

0 Pk+1

) (
y

x̄−x̂k+1

)∥∥∥∥
2

2

.
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�
� ����	�� �������� �� �
�� �����
�"�� �
����	 ��� �� ��		�
�"�� ��

‖Pk+1(x̄−x̂k+1)‖22.

��

Q̃T

(
Q′T 0
0 I

) (
Q̂T 0
0 I

)
f̄ = 0.

�� ��� �
�� �
�� �� ������ �
� ���� ���� �
��(
Q̂T 0
0 I

)
f̄ =

(
R̂(x̃− x′)

0

)

��� �� �&�4� �&�H� ��� �&�G� ��� �
��

Q′T R̂(x̃− x′) = R′−T
(R̂Q2)

T R̂(x̃− x′)

	��� �� "�
� ������� y = 0 �� �������� �� �
� �����$��� ����	�"����� �
����	 �
�� ��
�'��!����� �� �&�L� $��
 x = x̃+Q2y>

min
y

‖R̂(x̃− x′) + R̂Q2y‖22.

���� �
�� �� �
� �������� y = 0 �
� �
������ �� �
� ��=����!� $��
 
������ �� y ��
2(R̂Q2)

T R̂(x̃− x′) $
��
 �� "�
� ��� �� �
� �������
� ����	����� �����������
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 ���� 1����� V m(X, T )

�
� 	���
 !���	� V m(x, T ) �� �
� ��'��� �
�� ������� �� ���������� �� � �����
 ��	��������
�� �
� 	���
 !���	�� �� �
� ��������� ��	������� ���� 

V m(X, T ) := XV m
1 (T ) + (1−X)V m

2 (T ).

$��
 V m
k (T ) ���������� ����
���� ��

V m
k (T ) :=

1

ak
expbk

(1 + exp(1−T/ck)
(dk)).

�
� 	���
 !���	� ���������� ak, bk, ck, dk � �
� ��!�� �� ����� ,�F�

&���
�� &�������� P s
k (T )

�
� ��
���� �
����
�� P s
k (T ) �� �
� ��������� ��	������� �
� ����
	���� �� �
� &������

�'������

P s
k (T ) := exp

(
Ak − Bk

T + Ck

)
k = 1, 2.

�
� �	������ &������ ���������� �
� ��!�� �� ����� ,�/�

��	������ ����
 !���	� ����������
k ak O)	�� �−1P bk ck O2P dk

F ����
����� /�/KK 0�/LKH HF/�4 0�/4HI
/ ����
������� F�/IH 0�/JFIL HIL�4 0�/400

����� ,�F> �
� 	���
 !���	� ����������

FLI

I I I 



�,+ ����
�� �
 �!� �
��
����
��  ����

��	������ &������ ����������
k Ak Bk O2P Ck O2P

F ����
����� /I�4K IL/L�L �I4�/G
/ ����
������� //�4IJ IFLL�4 �K0�FH

����� ,�/> �
� &������ ����������

���
���� ����������
k h1,k O2−1P h2,k O2−2P h3,k O2−3P T c

k O2P P c
k O��P Ωk

F FK�IF F�JFI F0−2 L�IGG F0−5 HF/�L K�0GL F06 0�HHJ
/ IF�G/ 4�4G F0−2 G�LLI F0−5 HIL�J H�FLL F06 0�LF/

����� ,�I> �
� ���
���� ����������

�!� *��!���
�� hL(X, T ) ��� hV (Y, T, P )

�
� !����
 ��� ��'��� ��
��	 ���
������ hL(X, T ) ��� hV (Y, T, P ) �
� ��!�� ��

hL(X, T ) := XhL
1 (T ) + (1−X)hL

2 (T )

���

hV (Y, T, P ) := Y hV
1 (T, P ) + (1− Y )hV

2 (T, P ).

�
� ��
� ��'��� ���
������ hL
k (T ) �
� ����
	���� ����
���� ��

hL
k (T ) := C

{
h1,k(T − T0) + h2,k(T − T0)

2 + h3,k(T − T0)
3
}

$��
 T0 = 273.15 K ��� C = 4.186 J mol−1 ��� �
� ��
� !����
 ���
������ hV
k (T, P )

����
���� ��

hV
k (T, P ) := hL

k (T ) + RT c
k

√
1− P

P c
k

(
T
T c
k

)−3

{
a− b T

T c
k
+ c

(
T
T c
k

)7

+ Ωk

(
d− e T

T c
k
+ f

(
T
T c
k

)7
)}

$��
 R = 8.3147 J mol−1 K−1 a = 6.09648 b = 1.28862 c = 1.016 d = 15.6875 e =
13.4721 ��� f = 2.615�

�
� �	������ ���������� �
� ��!�� �� ����� ,�I�

$�����
��
 �� 
�� +��
	�� :��� +���'��

�
� 3
����� $��
 ��
	��� �
�� $�� ���
������ �� �'� �J�FH� ��!�� � 
��������
�� ���$���
�
� !���	��
�� 5�$
��� Lvol ��� �
� !���	� 
����� nv �� �� ������"�� �
�� ��

Lvol = W (nv − nref)
3
2 ,

I I 

I I 

II I I I 
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�

3���
� ,�F> �
��� ������� �� �
� ��'��� 5�$ ��� �� � $��
�

$
�
� �
� 5�$ �������� W ��� �
� 
���
���� !���	� nref �
� ��������� 3�
 � ��
�!����� 
��� �� 
���
� �
� �
�!��� 5�$ �!�
 � 
�
�"����� $��
 �� $���
 w $��
 !�
����� $���� $
�
�
�
� $���
 ��!�� �� �� 
���
� h �!�
 �
� ��$�
 ���� �� �
� $��
 �� �������� �� 3���
� ,�F�
�
� ��'��� ��!�� h ��� �� ����
	���� �
�	 �
� ������ !���	� �� �
� �
�� �� ��� �
���� �
��
A �� )��$�>

h =
nv − nref

A
.

(��
������� � ���
������ y �
�� ���
�� �� �
� ��'��� ��
���� ��� 	����
�� �
� ����
 $�
��� ����
	��� �
� �
�
�"������ $���
 !������� v(y) ��� �� �
�!��� �� ,�
������B� �'������

1

2
ρv2 = ρgy,

$
�
� ρ �� �
� 	��� ������� ��� g �
� �
�!��� ��������� ���� �
�� v(y) =
√
2gy �� �����

������� �� �
� ��'���B� ������� ρ� �
� �!�
��� ���5�$ 
��� Lvol ��� ��$ �� ����
	���� ��
�� �����
����� �!�
 y �
�	 �
� ��� ��!�� �y = 0� ��$� �� �
� $��
B� ����
 ���� �y = h�>

Lvol =
∫ h

0
v(y)wdy = w

√
2g

∫ h

0
y

1
2dy = w

√
2g 2

3
h

3
2

= w
√
2g 2

3
A− 3

2

(
nv − nref

) 3
2 =: W

(
nv − nref

) 3
2 .

�
� 
��� !����� �� �
� 5�$ $���
 w ������ �� �
� �
�� ���	��
� ���� ���� 8��)��� O8��KLP��
+�$�!�
 ����� $� )��$ �
�� �
� ���	��
� �� �
� ������ ��� �
��� �� �
� ����� �����
������������ ����	� �� ��#�
��� �
�	 ����� �
��� $� ��� �
� 3
����� $��
 ��
	��� �� �

��
����� ��
�	� ���� ��� ����	��� �
� �$� ��
�	���
� W ��� nref �� ����� ����	��
����
�	����� �����

1 ···················· 1 

.____ _ _.l 
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, �

#	��� �� ����	�� !1$

(� �
�� �������� $� $��� ��!� � �
��� �� �
��
�	 I�4 �
�	 .��� I�/� & ��	���
 �
��� �� �
�
�
��
�	 ��� �� ����� �� O*6:G0 �
��
�	 I�I�4 ��� ��
����
� I�I�F �/�P�

�� �
�!� �
� �
��
�	 ��� �� �����!��� �
� $��)�� ����!� �����
����� Hw.act ���� �
���
��	������� Hw.act,+ $��
 δμw.act,+

∗ > 0 ��� �
��� Hw.act,0 $��
 δμw.act,0
∗ = 0 �� �
� ��������

�� M� �I�J� ���� $� $
���

Hw.act(t, w) =:

(
Hw.act,+

Hw.act,0

)
(t, w).

8�� �� ���
����� �
� ��������

Ḡ(t, w) :=

⎛
⎝ G

Hs.act

Hw.act,+

⎞
⎠ (t, w).

<� $��� ��� �
�� �
�� �� �
� �������� �� ����!� �����
����� ��
 ��� P (t) �� t ∈ (0, ε) ���
��
�
�
	�
� �
�� ��� �
��� �����
����� �
� �������� ����!� �� (0, ε)� 8�� �� �
�
���
� �������

�
� ��	��� �� �'������ �����
����� �
����	�

min
w ∈ R

nw
F (t, w) ���=��� �� Ḡ(t, w) = 0,

$��
 8��
������ �������� L̄(t, w, λ̄) := F (t, w) − λ̄T Ḡ(t, w)� �
� �����	 �� �������
�
����	����� ���������� I�I ��
 �
��� �
����	� ��� �� ������ ��

∇(w,λ̄)L̄(t, w∗(t), λ̄∗(t)) =
(∇wL̄(t, w∗(t), λ̄∗(t))

−Ḡ(w∗(t))

)
= 0. ���F�

& �������!� ����� ��#�
��������� �� �
��� ���������� $��
 
������ �� t ������

∂

∂t
∇(w,λ̄)L̄(t, w∗(t), λ̄∗(t)) + ∇2

(w,λ̄)L̄(t, w∗(t), λ̄∗(t))
∂

∂t

(
w∗(t)
λ̄∗(t)

)
= 0.

FLJ



�,. &���
 �
 �!����� $3+

�
� 	��
��

∇2
(w,λ̄)L̄(t, w∗(t), λ̄∗(t)) =

( ∇2
w L̄(t, w∗(t), λ̄∗(t)) −∇wḠ(t, w∗(t))
−∇wḠ(t, w∗(t))T 0

)

�� �
� 2�
��
�2�
�����)�
 �22�� 	��
�� �� �
� ��������
 �
����	� 3�
 t = 0 �� ��
��!�
����� �� ��� �� �
�!�� $��
 �
� 
��� �� 8�		� I�/� �� ����� �
� ��		� $� ���
A := ∇2

w L̄(0, w∗(0), λ̄∗(0)) ��� B := −∇wḠ(0, w∗(0))T  ��� ���� �
�� ∇wḠ
T 
�� ���� 
��)

��� �� �
� 
�����
��� �� w∗(0) ��� �
�� A = ∇2
w L̄ = ∇2

wL ������� �
� 	��������
� �� �
�
$��)�� ����!� ��� ������!� �����
����� �
� "�
�� ���
�� A �� ������!� ��1���� �� �
� ����
����� NB �� B = ∇wḠ

T  ������� NB �� � �������� �� �
� ���� ����� N s �� �
� �����
�"��
��
����� ����!� �����
����� ∇wG̃

sT  ��� A �� ������!� ��1���� �� N s ��� �� �
� ��������
���������� I�I�

,� �
� �	������ �������� �
��
�	 �
� ��!�
�������� �� �
� 22� 	��
�� �� t = 0 ����
��

�
�� �
�
� ������ ��
 � ���������� �	��� ε > 0 � ��
!� v̄ : (−ε, ε) → R
nw×R

nḠ  t 
→
(
w∗(t)
λ̄∗(t)

)
�� ������ ���������� ��������� ���F� $��
 ���������� ��
�!���!�

∂

∂t

(
w∗(t)
λ̄∗(t)

)
= −

(
∇2
(w,λ̄)L̄(t, w∗(t), λ̄∗(t))

)−1 ∂

∂t
∇(w,λ̄)L̄(t, w∗(t), λ̄∗(t)). ���/�

8�� �� ����
�� �
�� ��
!� v̄ �� � ��
���
���
$�
� $�� �� ����� � ��
!� ṽ : (−ε, ε) → R
nw ×

R
nG × R

nH  

t 
→

⎛
⎜⎜⎜⎜⎜⎜⎝

w∗

λ∗⎛
⎜⎜⎝μ∗

⎞
⎟⎟⎠

⎞
⎟⎟⎟⎟⎟⎟⎠

=

⎛
⎜⎜⎜⎜⎜⎜⎝

w∗

λ∗

μ∗s.act

μ∗w.act,+

μ∗w.act,0

μ∗inact

⎞
⎟⎟⎟⎟⎟⎟⎠

(t) :=

⎛
⎜⎜⎜⎜⎜⎜⎝

w∗(t)⎛
⎝λ̄∗(t)

⎞
⎠

0
0

⎞
⎟⎟⎟⎟⎟⎟⎠

.

,� ��	��
��� �
� �������
� ����	����� ���������� I�I ��
 �
� '���
���� �
��
�		��� �
���
��	 �I�J� $��
 �'� ���/� ��
 t = 0 �� ��� �� !�
�1�� �
��

∂

∂t

⎛
⎜⎜⎜⎜⎜⎜⎝

w∗

λ∗

μ∗s.act

μ∗w.act,+

μ∗w.act,0

μ∗inact

⎞
⎟⎟⎟⎟⎟⎟⎠

(0) =
∂

∂t

⎛
⎜⎜⎜⎜⎜⎜⎝

w∗⎛
⎝λ̄∗

⎞
⎠

0
0

⎞
⎟⎟⎟⎟⎟⎟⎠

(0) =

⎛
⎜⎜⎜⎜⎜⎜⎝

δw∗
δλ∗

δμs.act
∗

δμw.act,+
∗
0
0

⎞
⎟⎟⎟⎟⎟⎟⎠

.

<� $��� �
�$ �
�� �
� 
���
������ �� �
�� ��
!� �� �
� ����
!�� t ∈ [0, ε) �� �
� ����
�� ��
!�
v �� ��
����� ����	�� 22� ������ �� �
� ��

��������� �
����	� P (t)� 3�
 �
�� ��	 $�
�
�$ �
�� �
� ������ w∗(t) t ∈ [0, ε) �
� �������� ��� �
�� �
� 	��������
� μ∗(t) 
�	���
����������!� ��
 t ∈ [0, ε)�



�,�

3�
�� �� ���������� �� �
� �������� H inact �� �� ����
 �
��

H inact(t, w∗(t)) > 0, ∀t ∈ [0, ε)

�� ε �� �
���� ���������� �	���� �
� ����� ��
�!���!� �� �
� D"�
�E ��
� Hw.act,0 �� �
� $��)��
����!� �����
����� $��
 
������ �� t �� �
� !����


D :=
d

dt
Hw.act,0(0, w∗(0)) =

∂Hw.act,0

∂t
+

(∇wH
w.act,0

)T
δw∗ > 0,

$
��� ��	������� �
� ������!� ��� �� �
� ��
��� ��	���	����
��� ����	����� ��
 �
� �����
���� �� �
� '���
���� �
��
�		��� �
����	 �I�J�� �
�
���
� 

Hw.act,0(t, w∗(t)) = Dt+O(t2) ≥ 0, ∀t ∈ [0, ε),

�� ε �� �
���� ���������� �	���� ��)��� ���� ������� �
�� ��� ��
�
 �����
����� �
� ���������
�� �
� !����
 Ḡ ��� ���������� �
� ���� �
�� Ḡ(w∗(t)) = 0 ����� �
� ��
!� $� ��� ��������
�
�� w∗(t) �
� �������� ������ ��
 ��� t ∈ [0, ε)�

���!�
���� ��� �� �
��) �
�� �
� 	��������
� μ∗(t) 
�	��� ����������!� ��
 t ∈ [0, ε)�
3
�	 ���������� $� ��� �������� �
�� μ∗s.act > 0, t ∈ [0, ε) ��� �
�	 δμw.act,+

∗ > 0 $�
�������� �
��

μ∗w.act,+ = δμw.act,+
∗ t+O(t2) ≥ 0, ∀t ∈ [0, ε).

�
� 	��������
� μ∗w.act,0 ��� μ∗inact �
� ��������� �� "�
� �� �
� ��
!�� �
�
���
� �
� ������
(w∗(t), λ∗(t), μ∗(t)) �
� 22� ������ ��
 t ∈ [0, ε)�

3�
�
�
	�
� $� ��� ����
� �� ���������� �� �
� 1
�� ��� ������ �
��
 ��
����
��
�!���!�� ∇w,λ,μL(t, w∗(t), λ∗(t), μ∗(t)) ��� ∇2

w,λ,μL(t, w∗(t), λ∗(t), μ∗(t)) �
�� �
� �$�

�	������ ���������� �� �
��
�	 I�I �
�����
��� ��� ������!� ��1�������� �� �
� ����
��
�"�� ��
����� ����!� �����
������ �
� �����1�� �� ��� ������ �� �
� ��
!� v ��
�
������ ε �������� �	���� ���� �
�� �
� ��� Ḡ �� ��
����� ����!� �����
����� �� �
�
��
!� (w∗(t), λ∗(t), μ∗(t)) t ∈ (0, ε) ��	�
���� ��$��� �
� ��� G̃s �� ��
����� ����!�
�����
����� �� �
� ����� (w∗(0), λ∗(0), μ∗(0))� &� �
� +������ �� ������!� ��1���� �� �
� ����
����� �� �
� �����
�"�� �����
����� G̃s �� �� ���� ������!� ��1���� �� �
� ���� ����� �� �
�
�����
�"�� ��
����� ����!� �����
����� �� � ����� (w∗(t), λ∗(t), μ∗(t)) $
��
 �� � ���������





������
, �

#	��� �� ����	�� %1!

<� $��� �
�!� �
��
�	 H�I �� �$� �����> 1
�� �� �� �
�$� �
�� �
� ����	������ �� �
��
�
�	 H�F �
� 	�� ��� �
�� �
� ���
���� �
�
���
� ���!�
�� ��$�
�� � 22� ����� y∗ ���
�������� �� �� �
�$� �
�� �
�� ����� ���� �����1�� �
� �������� ���������� �� ����	����� ��
������ �� �
��
�	 I�I�

-���� �
� ��!�
���� ��
	��� �H�FJ�

J(y)−1 = C1(y)Ar(y)
−1C1(y)

T + C2(y)

�
�	 8�		� H�/ ��� �
� ������ �H�/0�� �H�/0�� ��� �H�/0�� � ����� �� �
� ��
	 �� �
�
��!�
�� �� J−1 �� �
� ��	��� D ��� �� ��������
��>∥∥J(y1)−1

∥∥ ≤ βC1βAβC1 + βC2 = β < ∞, ∀ y1 ∈ D.

3
�	 ���������� �� J(y) J(y)−1 �� ���������� �� D� -���� �
� ��1������ �H�J� �� J ���
�
� ���� ��
	 �� ∂R

∂y
�� �
�$� �� �'� �H�L� $� ��� �������� $��
 ����	����� �H�/0�� �
��

∥∥∥∥J(y2)− ∂R

∂y
(y2)

∥∥∥∥ =

∥∥∥∥A(y2)− ∂2L
∂(q, s)2

(y2)

∥∥∥∥ ≤ κ

β
, ∀ y2 ∈ D,

��� �
�
���
� �
�� �
� 1
�� ��������� �H�FI�� �� �
��
�	 H�F �� �����1��>∥∥∥∥J(y1)−1

(
J(y2)− ∂R

∂y
(y2)

)∥∥∥∥ ≤ κ < 1, ∀ y1, y2 ∈ D.

&���	����� �H�/0�� ����
�� �
�� ��������� �H�FI�� �� �
��
�	 H�F �� ���� �����1��>∥∥J(y1)−1 (J(y2)− J(y3))
∥∥ ≤ ω‖y2 − y3‖, ∀ y1, y2, y3 ∈ D.

�
�� ����$� �� ����� �
��
�	 H�F �� �������� �
�� �
� ���
���� ���!�
�� ��$�
�� � �����
y∗ ∈ D0 ⊂ D $
��
 �����1�� R(y∗) = 0�

�� �
�!� �
�� �
�� ����� y∗ �� ��� ���� � 
�����
 22� ����� ��� ���� �����1�� �
�
�������� ���������� �� ����	����� ����
���� �� �
��
�	 I�I �� ������ �� �
�$ �
�� �
�

FJF



�#� &���
 �
 �!����� '3$

+������ 	��
�� ∇2
(q,s)L(q∗, s∗, λ∗) �� ������!� ��1���� �� �
� ���� ����� �� �
� �����
�"��

�����
����� ∇(q,s)G(q∗, s∗)� 3�
 �
�� ����� 1
�� ���� �
�� �
� ���� ����� �� �
� �����
�"��
�����
����� �� ������� �� �
� 	��
��(

I

− (
∂g
∂s

)−1 ∂g
∂q

)
,

��� �
�
���
� �� ���� ����� �� �� �
�$� �
�� �
� 
������ �!��� +������

Are(y
∗) :=

(
I −∂g

∂q

T (
∂g
∂s

)−T
) ⎛

⎜⎝
∂2L
∂q2

∂2L
∂q∂s

T

∂2L
∂q∂s

∂2L
∂s2

⎞
⎟⎠

(
I

− (
∂g
∂s

)−1 ∂g
∂q

)

�� ������!� ��1����� �� �
�$ �
�� ��� �� ���
����� �
� 
�	����� Aα : [0, 1] → R
(nq×nq)

Aα := (1− α)Ar(y
∗) + αAre(y

∗),

��� ���� �
�� ∥∥∥∥∥
(

I

− (
∂g
∂s

)−1 ∂g
∂q

)∥∥∥∥∥ ≤ ‖C1‖ ≤ βC1 ,

�� �
��

‖Aα −Ar‖ =
(

I −∂g
∂q

T (
∂g
∂s

)−T
)
α

(
∂2L

∂(q,s)2
− A

) (
I

− (
∂g
∂s

)−1 ∂g
∂q

)

≤ βC1 α
κ

βC1βAβC1 + βC2

βC1 ≤
ακ

βA
.

Aα �� ��!�
����� ��
 ��� α ∈ [0, 1] �� ��� ��!�
�� ��� �� $
�����

A−1
α =

(
Ar − (Ar − ArA

−1
r Aα)

)−1
=

(
I− (I− A−1

r Aα)
)−1

A−1
r

���

‖I−A−1
r Aα‖ = ‖A−1

r (Ar − Aα)‖
≤ ‖A−1

r ‖‖Ar − Aα‖
≤ βA

ακ

βA
= ακ ≤ κ < 1.

&� A0 = Ar �� ������!� ��1���� ��� Aα 
�	���� ��!�
����� ��
 ��� α ∈ [0, 1] ���� �� �
�
�����!����� �� Aα ��� ����	� ������!� �� �
� $�� �
�	 α = 0 �� α = 1 �� �
�� ��
��
������
 A1 = Are �� ������!� ��1�����

I - -

I - -



������
, -

��� ����	�
&� �������
� �����
2��

3�
 �
� 1
�� ���� �� �
� ���������� ���
���
 �
�� $�� ���
������ �� .��� L�H ��	� 	��
��
�
������ ��� ��	� 
�!� �� �� ��	����� �
�� ��!��!� �
� ����) ���
�� 	��
���� B11 B12 
B21 B22 A11 A12 ��� A22 �� ��1��� �� .��� L�H� <� $��� �
�$ 
�$ �
� ���
���� ��� ��
��������� �� ��
��
	 �
��� ��	��������� ����������

�
� 	��
�� M := −B−1
11 B12 ��� �
� !����
 m := −B−1

11 b1 ��� �� ���������� �� �����$��
��	������

X0|0 := I, Xi+1|0 := XiXi|0, i = 0, . . . , N − 1,

��� ��
 j = 0, . . . , N − 1

Yj+1|j := Yj, Yi+1|j := XiYi|j, i = j + 1, . . . , N − 1,

�� $��� �� m0 := 0, mi+1 := Ximi − ci, i = 0, . . . , N − 1, �
� 	��
�� M ��� �
� !����

m ��� �� $
����� ��

M :=

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

X1|0 Y1|0
X2|0 Y2|0 Y2|1
X3|0 Y3|0 Y3|1 Y3|2

���
���

���
� � � � � �

XN |0 YN |0 YN |1 YN |2 · · · YN |N−1

0 0 0 0 0 I

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

��� m :=

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

m1

m2

m3
���

mN

0

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

.

�
� ��������� +������ 	��
�� Ã := MTA11M +MTA12 + AT
12M + A22 �� �
� ���������

M� ��� �� ��������� ��	����� �� �
� ��
����
� �� A ��� M �� ���������� ��	������

Ãss :=
∑N

i=0X
T
i|0QiXi|0,

Ãs,j := XT
j|0S

T
j +

∑N
k=j+1X

T
k|0QkYk|j, ��
 j = 0, . . . , N,

Ãi,i := Ri +
∑N

k=i+1 Y
T
k|iQkYk|i, ��
 i = 0, . . . , N,

Ãi,j := Y T
j|iS

T
j +

∑N
k=j+1 Y

T
k|iQkYk|j, ��
 0 ≤ i < j ≤ N,

Ã′
i,N−1 := Ãi,N−1 + Ãi,N , ��
 i = 0, . . . , N − 2,

FJI



�#+ �!� ������
(� �������
�" ���!�
4��

��� Ã′
s,N−1 := Ãs,N−1+ Ãs,N �� $��� �� Ã′

N−1,N−1 := ÃN−1,N−1+ ÃN−1,N + ÃT
N−1,N + ÃN,N ,

$� ��� ��1��

Ã :=

⎛
⎜⎜⎜⎜⎜⎝

Ãss Ãs,0 · · · Ãs,N−2 Ã′
s,N−1

ÃT
s,0 Ã0,0 · · · Ã0,N−2 Ã′

0,N−1
���

� � �
���

ÃT
s,N−2 ÃT

0,N−2 · · · ÃN−2,N−2 Ã′
N−2,N−1

Ã′ T
s,N−1 Ã′ T

0,N−1 · · · Ã′ T
N−2,N−1 Ã′

N−1,N−1

⎞
⎟⎟⎟⎟⎟⎠ .

.�	���
�� �
� ��������� ��=����!� �
������ ã = MTA11m + AT
12m + MTa1 + a2 =

(ãs, ã0, . . . , ãN−2, ã
′
N−1) ��� �� ���������� $��


ãTs := gx0
T +

N∑
i=1

(
mT

i Qi + gxi
T
)
Xi|0,

��� ��
 j = 0, . . . , N

ãTj := gqj
T
+mT

j S
T
j +

N∑
k=j+1

(
mT

i Qi + gxi
T
)
QkYk|j,

���

ã′N−1 := ãN−1 + ãN .

�
� �$� 
�	������ ��������� �����
���� ���������

b̃+ B̃Δw2 :=

(
b̃s
b̃r

)
+

(
B̃s

B̃r

)
Δw2,

c̃+ C̃Δw2 :=

⎛
⎜⎜⎜⎝

c̃r
c̃0
���
c̃N

⎞
⎟⎟⎟⎠ +

⎛
⎜⎜⎜⎝

C̃r

C̃0
���

C̃N

⎞
⎟⎟⎟⎠Δw2,

�
� ����� ����
���� ��

b̃s := sx0 − x0, B̃s := −I,

b̃r := re +Re,xmN , B̃r := Re,x
(
XN |0|YN |0| . . . |YN |N−1

)
+ (0| . . . |0|Re,q),

c̃r := ri +Ri,xmN , C̃r := Ri,x
(
XN |0|YN |0| . . . |YN |N−1

)
+ (0| . . . |0|Ri,q),

c̃i = hi +Hx
i mi, C̃i :=

(
Hx

i Xi|0|Hx
i Yi|0| . . . |Hx

i Yi|i−1|Hq
i |0| . . .

)
,

c̃N = hN +Hx
NmN ,

C̃N :=
(
Hx

NXN |0|Hx
NYN |0| . . . |Hx

NYN |N−2|Hx
NYN |N−1 +Hq

N

)
.
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